


Y  Specialized in Manufacturing
mveomvons — AJT Kinds of Toggle Clamps

KD-202-FL

=as® KD-203-FL

KD-201-A

Zao>
™ = KD-304-C

KD-303-E é"‘\’

=N




2 BRRIE TR SHIER/EiNER

SRR /5I1ER /) RIEZRR/ BE
BINE RENZNEH RENES EERE
THE®, 11311 TIREBR REVT]E

B/ RBFERS TIEESF
LiRRRA IRk RENEIEE
BNEs EREFIEE

&R RENETT

3] 16

'._i ! 17~22

i /=iged /ET]es /SIEW
IEREEIERE Tl ZKEDH
SIVEF HHE/RE
ERST\BEREE MINIEE
TR TR s

GG s 23~24
G 25~29
RS0 il Bl s0~34
¢ 35~36
€ 3749

mEEE EEAES
BHIMEE TR 4
SRR W ES
B BIRE

g/ BN

H &% & 5l

RENTH 1~15 AERERE 50~53

LR EE R,/ f55E T A/ R 2
AHRICAS B bdes
AR =B8 / BRER,/FEE IR

i EH RS 55~62

TR/ T 1T e
IIRIZEEEs  SEET R R KHIR
VR =8 S5

SRRz 63~69

BER/TEEEVEE - F1T8
RlEEs: EEOEBR TR
EfR/BEBR
EFAERE =RERXR

Ell=EE 70-91
C=L iz 2! 92~97

BRIRABENAERINERE THERER
ERET IR 1R AR
FTBETVAIER BT 3NEs



=TI

STER /BEARER
EER/AER/RAIAR
ER/7TR/7#WER /BR
MERR PN BEREFE 5
DER/BER/ SRR
BERIRERThIES

IR IRR

BER REERER

S —118

R

Z2Riz HE /SE8 /02

119

IEB TR B0 EEH S

ARl BEEELBRE
ANBhEEmR /HikE T

AP -
yHd i 120

121~123

124~125

=

EREMT/ ZEF  BEMies

98~112

H & % 5l

126~129

M s
(E£TH

B 1B/ 1uile tgHes /DR
BURERLDHIRfiE] EaT]
BOigT)/BiRna,/ HHEE
KO@st MNEET] /1BEIER, 85
tHITHEEE BRI EIE BUE
HRE/FER/ P/ E/BRR
CRR/BBEEE /KT /=TT m it
=8alJ)/Ba/ 6f THEE S
BEih SRR SRR H3ET]
RIIGE/INIKRES /IR Es

130~140

(lHl

STH 141~151
WeEER tE) EiEE, BEEH
BT BRI EHOWRSF
BIENT1E BN, BE ORSE
#FO3R, 503, HKEHRS
R EEMRT RS
%%%/ﬁ%ﬁ/%%ﬁ/@éﬁ
BEEEE AR T S RBIRIE
E%EA%/T@T$@W%

TERES /TERT EFESWT

TEES EBHE/EBICH
REVEF REFESLH

0l

152~161

162~169

IR RN 28/ TR

0—179



BlIR

> |
EEE

A1



LAle

y:l=)

LAlIS E
RWMEESS }' I

» |
STER ¥OBBAR T

JJOBEAR

A2



FITEHWE

i o DERISEES ﬁﬂ'lm ' *mﬁn%

bl MR »
VBB SRIETBHIERE MR

EEWEE  SEmpEne SO

REEEE  TpE  pompx 800

BMETE @

A3




i BB Z EHRIR

E R imo =0
GLASSLA1 240
GLASSLA2 = 385 240

WnBIEGIR S H S

E i
EARG

B &R R
EAR 3M BEENHR (1Fe) 20
EARS 3M EERKTHR 1B2) 18
EARA EAR EZE[{R (FZE) 20

A4



EhsRER

H42C14
H42C16
H42C21
H42C23
H42C4
TS1C15

H42C21

TS1C15

R
1@ 145x145% 1£5 150mm
1242 220%x160x90x 15 300

1242 300x300x300L T 230

YAZ 150x150% T 120

a8 125%125x130 TIHHEE
TJAIEE 200mm (ZEHTIHER)

A5

- H42C14

L 5 ||_- Whirsd i 'I I‘ !m

H42C16

B
30000
7000
9000
5000
16000
30000



EhsRER
H41
H41A
H42
H42A
H42L
H43

H42L

R
A2 150x150x50mm TJHIER
1242 150x150x50mm
YEIF 150%x230x50mm T HER
1242 150%x230x50mm
FEAE 150x230x50x400L (1K) TIHEE
FE48 230x350x50mm T

A6

Bt
3840
4840
4800
5800
6800
8000



NOGARI ]3I

RBjo002

i v B

deburrlng

C;'_\ IC‘

—

NDB1000

MB3oo

mumum

== NB3000#3 Mm_.

NB3000#3A

EhsiRoR: R B
NB1900(S10-S20) JJ4EIN102717] 680
NB3000#3 JJED03277) 400
NRB1000 AR 200
NDB1000 LRI\ 1000
NB3000#3A AETHRIF#E 640

J17]

BS3510

i

ERSHRTE R Bt
NBS10 BS1010 §A$RLERE 56
NBS20 BS2010 $@iEsE 56
NBS35 BS3510 BT E 70
NBN8O BN8010 EHY 240
NBK101 S101 EEHE 70

A7



EEEREHARA

= 2

Pipe Clame / Spreader |

ERSHRR Bt

E58 2400

SRR R Bt

ZH50 fgiE 5000

ZH501 ANBIH 5000
SRR R B
l Docron B Bocror U B , S1681 RtEH 120
L T1101 FRiEZERT 120
1':%33.. T1102 R EE 120
;;_ngg_: T1103 RIS 120
EEE T1104 P EE 120
E::‘.l! T1106 C 120

A8



CH-701A 18 T8

CH-701B &7/11\

TR
BEAL - G s ADRIRREREE - B —ARAYAR G iR A BRI - KRS E AUE H RIS A -
ATLFUESRE ~ AR R (E -

RV |
Shitess /8 B Ofom ZEEE ) ke BFEFES mn ENBRHS comn BAEEmm  FDw T
CH-70121G &7, 1.3 3.5 195 160 190 1 400 1,800
CH-70131G S5 1.5 &5 230 210 220 1 400 1,800
CH-70141G ki 1.8 3.5 260 260 240 15 400 1,800
CH-70121S RET 1.3 815 195 140 170 1 700 2,200
CH-70131S RET 1.5 3.5 230 180 200 1 700 2,200
CH-70141S RET 1.8 3.5 260 220 220 1.5 700 2,200



CH-707B &E/11\

CH-707 ig -7\

CH-115 1g 3§

FEE -

« CH-707B ®/17UAHE  CH-707 riAligay e &, {5 al 3@ H A il SR RIEg s S6PEH < #REeE al X F| CH-701 AR
fPHR o A —ARTEIR R R i R (LA IHEAD < i atlE - ek - IS - Bl ~ M/00E -« 3% RAH - K - BB
o SERHE R K L TR R ¢

e CH-115 48/MllE g CH-115  {RIATIEERMRL JRH W & B BT A < MDA - 5 - R
2~ Tk - PIESF - #E A - AR - — et e T A -

&7 :
Shammt /A% Bl [Eom EFEDkgen EFHEE mn  ERBHE comin GXERnm [ Fc @&
CH-7072S i3 20 35 250 340 270 2 1000 3,800
CH-7073S REIN 25 3.5 325 440 290 2 1000 3,800
CH-7072G s 20 35 250 390 270 2 400 3,200
CH-7073G s, 25 3.5 325 480 290 2 400 3,200
CH-115 R 1.8 3 2 200 150 3/4 250 3,000



CH-810B B =T

CH-1001 EE2T,

YE
e CH-810B  —A%ra i B AR ER ST ATV s i « 7 BRI ff e SR R BRI » S & 28X & « ol HTE
YRR D o] FTE —ARE AT & -
FHES ¢ £3EET2,000c.c. / —HfE FAREEHE - 15B 1/ —ARBERBL 77 3.5kg/m2 / PEWELIFR ¢ 1.2mm / HERKE : 6
R/
o CH-1001A A& i AR nvE skta 8% 00 < 38 & el iR thoa) 2 —ARUE o (8 R ERE AR+ » WSR3k AT
“Teflon” #EEZ Fig % < BLA 7 B E A A 8L /T BRI LA Ky 4 2 )] -
FRES ¢ £3EET9.000c.c. / —HRfE AR HEEE - 1.5 71 / —ARBE BT 3.5kg/m2 /WEAWELD ¢ 1.2m/m / BRI ¢ 10
R/ B8 - 13kg /

BEAEE / SE07 =2

Shai /iEE B [JEom  ZEFE ke EFEHES vmn FRRLE comn AR min

CH-70102 BT 1.0 35 230 300 26/20 1.5 2,600
CH-7070 E#1, 1.2 35 300 480 28/30 1.5 3,400
CH-7073 E#1 25 35 340 900 35/30 2.0 4,000
CH-810B E#1, 1.2 35 300 480 28/30 1.5 8,800
CH-1001A E#1 1.2 35 300 480 28/30 1.5 13,000



IR / BRERIERE

IRIRIEE / 50U - 4

Shak BB o ZEEEHRE cmecps  ERIELE comn  ET

HV302-14V 1.4 380@60psi 150 11000

HV302-17V 1.7 380@60psi 180 11000

fEar HV302-20V 2.0 380@60psi 250 11000
* IRTRIEHE

B - AFid ~ MR - L ERREVER F13Uk e LAIEHE « A5CRRTIIGR SR - ERERAERE ) - RUSRRAYH FHER R
ERRGEMA < 37 RINTE LT RKAT (B3R -

HVLPIR{RIEHV302 %R EIGE T & X BIRMRER S SO - HV302 2 — L FIEATHVLPIRMRIGH « bR
TAEEFH/BLALY » EAREET T @R REL A NS5 - AR Sk AT 38 - LA i a R B Ot st
KM - HEAVERIRE - RSN ol LA O e (ERUE SRR « ZEAS SRR B m ik, S @i A
[T SRR 600c.c LIRIBIEH: / —f%fs RE fjdkg/m? / — A% FH BEHiE b3 HP

=R EKIERE / S - 4

Sl [BE o ZEFEFEES cmecs EREHE comn {EIE

HP302-14 1.4 340@50psi 230 3200
HP302-17 1.7 340@50psi 250 3200
HP302-20 2.0 340@50psi 420 3200
TR

o R

HP302 ERCATEE 1L, 6 S RO RGBSR B T, LG B R A0 FLZ FVAIBR 462 B
IRBLTIREIR » nf LAICHUMHRIONE LU A A - SEFRRUEV 302 [THERR600c o B IiRIN L F2TBFERIBIG - I S HLAS -
600c.c. L FRUBFEFT / Al FIRE /13 Skg/em’® / —RE IR HHP

4



= rahs [553

e ETNIRIRIBE / &7 - 4

%ﬁﬁ% nﬁﬂg mm %ﬁﬁﬁ% cfm@60psi ’iﬂnﬁﬁé cc/min E*ﬁ
HV305-22V 2.2 340 110 13,000
HV305-26V 2.6 340 140 13,000

ToEL
o HV305W IR {RIEHS  BEMFEN 77 » FUIERAYTT A Btk - HV305 2 — 2R ik [Xrd 18 - MRE&
I E TR GE A SRR « GRS LR & SRR ERERE ol AR (HE AYE b (EAE R E - 14
BERIE E R T F - 1S R RRIARC TR MK » RERTH - 8 S : 1000c.c. L3 \5a# / —A%{#E
B Fjakg/em? / —A% i R EE3HP < HV305 ol BLA A & A -

e ETNIEE / &1 - 4

%Eﬁ% nﬁl}g mm %ﬁ;ﬁ*f% cfm@60psi i*ﬂnﬁﬁ% cc/min E*ﬁ

HP305-14V 1.4 285 160 4,400
HP305-17V 1.7 340 200 4,400
HP305-20V 2.0 340 230 4,400
FFE -

* HP305 i sy [sUne il vk - S ERY wi BRI » e B RS - DITHUMRATE I R AR AR « 5
R+ 10000c.c. W 1A IRH / —AREFBEFI3 Ske/em® / — % (s F BESE#&2HP

VBUIERE / S5 - 4

=ik [BIE mm EEBHES cmecpsi ERIBHS comn IR

HV-303-10V 1.0 110@45psi 6,600
HP303-5 0.5 85@40psi 3,000
HP303-8 0.8 85@40psi 3,000
HP303-10 1.0 110@40psi 3,000

F5Eh -
* HV/HP303EHa il ~ 58 /AR HV303IR{RIAHE / HP303 S 41818 3@ &360g ~ i ~ suHE LR /Ml
fERELAT « HV-303 ¥4 2 th R SRR PR g « HP-303 MR R iR B - EWERINE 2 T2 T BT B - B 5l
F& ¢ 125c.c. LIRMBREM / —ARE FIEE 7 3ke/eme / —A%{sE F BESiE b1 /2HP

5



{27552 (2
B IS RIS

LIL,

600c.c. ZBREF 125c.c. ZBRBFR PC-1d/ )\ BURT PC-2 X BUE IR
%48 700c.c.

115 {EEa8EmEER50c.c. GC-4 &T#%400c.c. PC-3XREH
ZRKE1000c.c.

B R
IW250 250 160
IW400 400 200
CH400 GC-4 400 240
CH700 PC-1 700 560
CH-1000 PC-2 1,000 760
CH-1000 PC-3 1000 800
CH125 125 320
CH600 600 500
CH115A 250 240
OAHERTARE CH2000 2,000 3,200
CH9000 9,000 6,200

TR -
fi€125¢.c ¥19.000c c YRR FHMLARAC #F » #EA A SPRIM A » ol DAREIRE (ILHERG BB IR FIE TS I < SEM R LA
M S intf BUdEmak - B LI UEEERGE - B BIRTE R - fRARTH « BRIk GG TR - Ak
% I -

6



aHER

B - 52
R A LIE BREE S
W612G W-61-2G EZVApaN 1.3 400CC 3,800
W613G W-61-3G EZVa5aN 1.5 400CC 3,800
W712G W-71-2G E DAY 1.3 400CC 5,200
W713G W-71-3G EZVa5aN 1.5 400CC 5,200
W71-2S W71-2S 1158 A 1.3 700CC 5,400
W71-3S W71-3S 1158 A 1.5 700CC 5,400
W772S W-77-2S 1158 A 2.0 1000CC 7,200
W773S W-77-3S 1158 A 25 1000CC 7,200
WSGD71 SGD-71 BL#k 30,000

EIELE

o

By =
SRR 1RHE BT LI g
WA100082P WA1000-82P BETN 0.8 14,000
WA100102P WA100-102P BETL 1.0 14,000
WA100132P WA100-132P BETN 1.3 14,000
WA100152P WA100-152P BETL 1.5 14,000
SGA-100 SGA100 SGA-100 BiEL 1.0
NIV |
SRR FRAE HiTh LI  HREE @8
HPC HP.C BT, 0.3 7 5,000
THPC GC-330 BTN 0.3 7 2,000
GA120 GA120 HRTN 0.2 15 3,600
GS100 GS100 FLEATE 0.3 22/60 1,200




DG-11-EK

/

DG-10-EK

Rl DG-10-EKA

Bl =2

DG-12-EK TSR T =

DG10EK 360 K%
DG10EK1 400 £F40cm
DG10EK2 600 £ &=60cm
DG10EK3 760 £££90cm
DG11EK 380 360’ higts
DG12EK 600 ffd#f 700c.c.
DG10EKA 560 ResaRERE

GlES=piR =

Bl =2

/ J \HY ﬁ,;.. I,J..*A

360 K

Bl =2

K3 1,100 [i¥0.5




AIR DUSTER EXXEE

BG-8
\
= BG-7
(=)
L
BG-3
Q
85fi7 : =
EREIRE iz {15
DG-10-DX DG101 kR 120
DG102 2 130
DG103 i 140
DG101B IRED 100
DG103B RED 120
B010BH aFE 160
B108 aFIVERE 320
DG10DX Gz YA ] 360
DG105 HERRERA 160
JC4 PRIE SR 110
JC41 e 110
KWI150 B 80
KWI300 poE] i 100
TS150 B 70
TS300 B 90
BG3 B /9.5cm 140
BG7 &t /15cm 150
BG8 & /25cm 160
g e, TR B101-75 # /75cm 360
anocuster 67 T i = LJ18o DG HIREE 90
W . {3 - LJ180 G YR BN = 260
%’“ﬁ? W BRI R e LJ200 TANEE 260
B . o g " LJ200
DG1012 X
=R =
B{i7: =
EREIRE iz {15
DG10SB1 DG10SB i 300
DG10SB1  AE([E[1MEZ) 700




AEEE E5(7 : 4

Shawmk 08 OISR {EE
56000 YC-056 56000RPM 2,400
70000 YC-070 70000RPM 3,800
% 56000A Wu-056 56000RPM 1,600
56000C H=ERE 200
56000D piyisd 100

iEn

A

By 52

Shwmy LR &0 EQEDEH

CTi CT-11 45m/m 9000RPM  6kgicm® 1,200
CTi2  CT12 45m/m 9000RPM  6kglcm® 1,500
CTo5  CT-05 4.5m/m 9000RPM  6kglcm® 2,400
CTéH CT-6H 6m/m 8500RPM  6kglcm® 2,800
CT6HB CT-6HB 6m/m  8500RPM  6kg/cm® 3,200
RC45 RC-45 45m/m 9000RPM  6kg/lcm? 1,800
RC6H RC-6H 6m/m 8500RPM  6kg/lcm* 3,400
RC6HB RC-6HB 6m/m  8500RPM  6kg/lcm* 3,400
RC5S  RC-5S  5m/m  9000RPM  6kg/cm* 1,200

§$§ I%l E SPRING BIANCER

B R
Sha E5R i {EE
SB1200 SB-1200/0 0.6-1.5kg 500
SB2000 SB-2000/1/2 1.0-2.0kg 560
SB3000 SB-3000/1 1.5-3.0kg 1,200
SB5000 SB-5000/2 3.0-5.0kg 1,600

10



T EN RS

ShaiRIE it Ba{i7 {15
CH614SK CH-614SK z| 1,200
CH603 i - = 800
CH603A #EE 3.0, 6.0 = 100

y——— ¥

RENFIEIHE

=)
=L W
EhIRIE Rige HIE {15

422 422# =4 m/m 1,500
1022 1022# =10 m/m 2,000

T50# 2,000

FIRERK

Bl =2

EREIRE 7

DTCGS3 —AREIIE T 900
DTCG4 —iIREE 900
DTCG5 Ms— 600
DTCGL SFIAR 1,300

RENUETHE

THIhIg] /B0 - 32

R IR &
AIRTA ST-HH6 2,800

11



tE358

'_ e ol |
*\ 7] E8
L ]

By 3%
R e HHIE &g /Y. T
BIT45 45% 6.350 15
BIT65 65x 6.350 15
BIT75 75x 6.350 15
BIT100 100x 6.350 32
BIT110 110x 6.350 32
BIT150 150x 6.350 40
BIT200 200x 6.350 50
BIT70 5588 (—) 70x 6.350 30
p——— P, —
£ = E I:IE
REIEELS0E
By 3%

ERaRE b4 i PifE 1000 150/
BOXBIT5 5.0 m/mx65/ 40

BOXBIT6 6.0 m/mx65/ 40 100
BOXBIT7 7.0 m/mx65/ 40 100
BOXBIT8 8.0 m/mx65/ 40 50 100 150
BOXBIT9 9.0 m/mx65/ 40 100
BOXBIT10 10.0 m/mx65¢ 40 50 100 150
BOXBIT11 11.0 m/mx65¢ 40 100
BOXBIT12 12.0 m/mx65/ 40 100
BOXBIT13 13.0 m/mx65/ 40 100
BOXBIT14 14.0 m/mx65/ 40 100

RERFREFE

B b4 65 100/ 150¢
6BIT25 25 16 30 40

h" 6BIT3 3 16 30 40
6BIT4 4 16 30 40
6BIT5 5 16 30 40
6BIT6 6 16 30 40
6BIT8 8 24 36 50
FIEEHET
872
=R S5 fhE 36/ 80/
YT250080 af 580 600
K250080 A& 1270 1270
FIEHE 52
u.
872
R 1RIE =E ki
YT36 TF 36/ 30
YT80 TF 80/ 40
YT364 —F 36/ 30
YT804 —F 80/ 40

12



S5
ShadRaE Bz 1R
PONPU THeE4E3/8 12,000
PONPUF fBaIZ=3/8 13,000
S5
ShaHRAE FRE 1R
A1 11m/m 800
A22 22 m/m 840
A1122%24 22 m/mdEZTEHF 1,000

Hig :
WK R o RIS - kil BRI etc,

i

KEiBEMmAIE

A
=

3-5kg/em2 130-210 Ymin 2,000

3-5kg/em2 130-210 Ymin 2,000
3,000

SL772  SL-772 4.5,6.5

SL773  SL-773 5.0, 6.5
SL774 SL-774 5.0,6.5,8.0 3-5kg/em2 130-210 I/min

13



+ R E RHEE - BESREERZH10 K DAL

%fﬂ =
Sl BTl HEEN RS Ked
TS102  TS-102 3HP 10kglcm2  1/2” x5/16” 18 270 x700 5,200 4,400
TS202  TS-202 5HP 10kg/cm2 1/2” 22 270 x800 8,000 6,900
TS303  TS-303 10HP 10kg/cm2 1" 42 400 x890 12,000 9,500
TS808 TS-808  30HP 10kg/cm?2 2" 55 400 x1,090 19,000 14,800
a1
DRI\ B HEZE R R IR
S5
EhGiR R JADSN JAD10N JAD20N
BT, JAD-5N  JAD-10N  JAD-20N
HREEST 5 10 20
EREES(Ni/min) 500 1000 2000
AORE 45°C
ALBE 2-10kg/cm?
BERE 32°C
R S TI(HP) 1/3 1/2 3/4
o) R12 R12 R12
BFEE 10 110V 10 110V
BIEEM 5A
HEAOBER 1/2 1/2 11/4
S 43 43 64
= 480 480 81
R 34 38 43
B 18,000 50,000 88,000
Bict
220V & iF e 000

14



BIBRhE

FEERTHIRNE

s

T10B T-10BM
T30B T-30BM
T40B T-40BM
T60B T-60BM
T80B T-80BM
S10B S-10B
S30B S-30B
S40B S-40B
S60B S-60B
S80B S-80B

TONSONR i

Gl g

10¢
30/
40¢
60/
80¢
10¢
30/
40¢
60 ¢
80/

FFEh -

TS-50R

=
I

TS-50T

15

300x300x590
410x410x660
410x410x850
520x520x870
520x520x1000
300x300x590
410X410X660
410X410X850
520X520X870
520X520X1000

*

B R32801

Shamk Bl

TS50R TS-50-R
TS50T TS-50-T
TS5A TS-5-A

THEE®)

SR

16,500 15,000
17,600 16,000
18,800 17,000
19,800 18,000
22,000 20,000
9,900 9,000
11,000 10,000
12,200 11,000
13,200 12,000
14,400 13,000

#%Hﬂ%

=T Rt =2[
|+ 50cm

TS-5A

30
S RS0 HiE
A" AR
EE SRS

_.I

BB
{EE

16,000
16,000
16,000

o TS-50T {iRAEFridibtd ERIRAE A AEPREE » TR &FA - Mhili BB Z - e fr > IR A2
50 A « AFE /B ETR g6l / BERETE ¢1015 / A& $Iin:& / il / BRIB2801

* TS-50R  HIURBHRIFEE i LA Fy al H#E T

e TS-5A  PYRIZHEIFHE0.10PS~0.38PSQ0 4 1T / B A



= ~ SRICHTEN

E0= () S~

EhAIRRE AR

MM1 1.0 m/m 3/64 460 1,150
MM15 1.5 m/m 1/16 180 540
MM2 2.0 m/m 5/64 180 540
MM25 2.5 m/m 3/32 180 540
MM3 3.0 m/m 1/8 180 540
MM4 4.0 m/m 5/32 240 590
MM5 5.0 m/m 3/16 290 730
MM6 6.0 m/m 1/4 410 1,030
MM8 8.0 m/m 5/16 560 1,400
TSR B MM10 10.0 m/m 3/8 600 1,800
7 B ERFEE HRC58°-60° MM12 12.0m/m 172 1,200 3,200

&{i7 : #H
(=] g E*g
== i fm ol 1Rg e =g
TEEESR e |« SER EE1 1.0 m/m 3/64 1,300 2,840
I ESERPMEE HRC58°-60° EE15 1.5 m/m 1/16 540 1,620
EE2 2.0 m/m 5/64 540 1,620
EE25 2.5 m/m 3/32 540 1,620
EES 3.0 m/m 1/8 540 1,620
EE4 4.0 m/m 5/32 720 1,970
EE5 5.0 m/m 3/16 870 2,400
EE6 6.0 m/m 1/4 1,230 3,280
EES8 8.0 m/m 5/16 1,680 4,530
EE10 10.0 m/m 3/8 1,800 4,800
EE12 12.0m/m 1/2 3,600 8,600

16



58lef 2:
§z§ ﬁg ;‘3 = Rt IRIR(mm g
Rajre 2 ROD16 1.6*175 2% 50
= ROD20 2.0*175 2% 60
ROD24 2.4*175 2% 80
ROD32 3.2*175 2% 120
ROD48 4.8*175 2% 150

R Hit&(mm) {15
MEG610 fH10m/m 700
ME1020 fH10m/m 800
ME420 fH10m/m 800
SR10T SR10S+SR10L 1600
SR10S 800
SR10L 800

BiEfRIE  EARE =&
YL401 MT2,3,4,5 370 1,200

SIE®

ABS 180 CIEG5aS

17



PKO1
PK02
PKO1A
PK02A
CLO1
CLO12

TFP30A
TFP30B
TFP30E
TFP40B

0
+m
UE
+m
o=

~
-

~
-

~
-

O
O
O

~
-

~
-

~
-

O
O
O

~
-

~
-

~
-

O
O
O

~
-

~
-

~
-

O
il
il

~
-

O

~
-

S 4 8

1/4"12" 33mm*1/4PT . 3/8PT
1/4"12" 6mm*1/4PT . 3/8PT 1)\l - A
3/8"12" 3 + $6MM*1/4PT . 3/8PT /)Rl - Xl
1/2"12" 6mm*1/2PT . 3/8PT /\imlt - Al



TC1/4
TC3/8
TC1/2
TC3/4
TC1/4H
TC3/8H
TC3/8
TC1/2
TC4
TC5

TC6
TC7
TC2K
TCSM50
TCSM90

14i8
FiE1/4"
Fig3/8"
12"
B s/

EiE1/4"@0R
8 3/8" /I8
8 3/8" fRENHY
g 1/2" R EY

FEfim 4"
FEfinE 5"
FEfinE 6"
FEf i 7"
2K 7|11
SiEZAE

TCSPE2000 SPE-2000

TCBOSCH

CCe0

CC80

CC100
CC120
CC150
CC180
CC220

4” 1347

80#
100#
120#
150#
180#
220#

36
26
24
22
17
17
17

&7 - 4

1R
4.7x6.5x14
4.7x8x13
8.0x11x17
6.5x13x17
6x6.5x13
6.5x7.5x13
6x6.5x13
6.5x7.5x13
6x6.5x13
6.5x7.5x13
7x11x17
7x13x17
4x4.5x8
5x5x10
5x5x10
6x8x12
5x8x16

CC240
CC280
CC320
CC400
CC500
CC600
CC800

i

Bi&
36
36
48
50
36
36
36
48
36
36
50
54
36
36
36
36
45

TC4H TE R 4" 870
TC5H TEbERHE 5" ]
TC7H TE R 7" 8
TC40 g ie PH-40

TC55 g ie PH-55

TC65 g ik PH-65

TC60 iR JH-60
TC16 Z|#5# 16 m/m
TC32 ZI1E# 32 m/m
TCCB5 FH CB-5
TCCB7 FH CB-7
TCCB9 A CB-9
TCCB14 FE CB-14
TCMGS20 =17izliE#
TCMGS38 —=17ZliEH
TCCB408 CB408

TC666 /] $hFR666

WATER-PROOF

PATIND, 555224

MADE IN JAPAN

NIHON KENSHI C0., LTD

240#
280#
320#
400#
500#
600#
800+#

19

KA

B

17
17
17
17
17
17

CC1000
CC1200
CC1500
CC2000
CC3000

&{i7 : #H
1R g
6.5x7.5x13 36
7x11x17 36
7x17x17 68
7x11x17 42
7x11x17 42
7x17x17 50
6.5x7.5x16 36
4x5x10 36
6x6.5x13 36
6.5x13.5x17 56
6x10x15 46
5x8x14 36
5x8x10 36
5x6x10 36
6x7x12 36
6x9x12 40
4x4.5 100

{7 : 5
1000#
1200# 24
1500# 28
2000# 36
3000# 70




1=l S

B : R
R HE 15
ST1/4 1/4  JT1 360
ST3/8 3/8"  JT2 360
ST1/2 12" JT6 380
ST103 3/8"F 400
ST134 12" S 400
ST5/8 5/8" JT3 500
ST3/4 3/4"  JT 1350

ﬁaf*ﬁéﬁ

&7 : 52
B RR BRI 1/4",3/8" 1/2",5/8"
ST3#A 1/2#
ST3#B 1/2" 2,000 X4P 34
ST3#C 1/2" 1,600
ST3#CA 12" 5F 1,600

T
Ly
i
™~

¥

BEE

By =
ShiRE a8 1R =L
E-500 Pressol 500cc 520
E-500B MATO 500cc 800

E-500A  PHBHEHEERE 300 m/m 270
20



3 SANSE P AL TS

- EERET\RRET - BEERE - B NES -
* EAICNCHBIR ~ $#RR R EAFEERL «
- T EEHEHEEIR RIS EE

Sfii: R
Description , Capacity  TaperMountNo. ~ Length(mm) Outer Dia. Weight
Code No. i« mm  inch DNorJacobs Open Closed (mm)  (g)
ST13S-D20 8S 0-8 0-516 D20 126 135 38 520 3,800
ST13S-D20 13S 0-13 0-1/2 D20 145 157 50 1000 3,800
ST13S-D25 13S 0-13 0-1/2 D25 160 172 50 1130 3,800
ST13S-D32 13S 0-13 0-1/2 D32 168 181 50 1380 4,500
ST13S-MT313S 0-13 0-1/2 MT3 180 192 50 1090 4,500
ST13S-MT413S 0-13 0-12 MT4 209 223 50 1750 4,800
ST13S-R8 13S 0-13 0-1/2 R8 183 195 50 1130 4,800

I 4

{E18

R FHRI R A

- QRS LE IR A BB IR E) S0
- OIEI5E AR S INFI R MR IR R LR E B

Description ggggg}g TaperMountNo. Length Outer Dia. Weight

Code No. - mm inch ~ DINorJacobs (mm)  (mm)  (g)

YL3/8 10  M4-M10 1/8-3/8 JT2 75 42 590 1,600
YL1/2 12 M4-M12  1/8-1/2 JT6 75 42 585 1,600
YL5/8 16 M9-M16 3/8-58  MT2 145 50 1030 3,600
YL3/4 16 M9-M18 3/8-3/4  MT3 165 50 1180 3,600

21



T\ i

- — IR © HER © SAER © WMEERIRIDER -
S KOSANEEE - HBINTFE -
SEESALEINT « TS B RS REE -

1RERLIE

MT3 : Jld 8.0 X91mm X132
8.0 X112mm X132

MT2 : Ailtsd 8.0 X91mm < 13%

TIBIR T X152
RS EE <152
&fiy: 4
YL ~=E HE B
MT2 165(mm)  18mm~35mm 4,200
MT3 185(mm)  18mm~50mm 5,600

GP100C

&£ : 3.2Kg

- 1877 : 5.0Kg

- SEFEEBEE « 110V/220V

BRI - BRFEREA - BEEREF 2 IRE
- {818 : 3,600

22



&

7] ’:'.g IIRE E EE LABOR-SAVING QUICK JOINE

*s  d
=
ERRR | o= ERRR | oE EREE | W@ ERRR | o=
Iltem No. | Price Item No. | Price Iltem No. | Price Iltem No. | Price
SPC4-M5 37 SPL4-M5 44 SPB4-M5 68 SPD4-M5 64
SPC4-01 33 SPL4-01 40 SPB4-01 64 SPD4-01 64
SPC4-02 35 SPL4-02 o2 SPB4-02 64 SPD4-02 64
- B 37 B B 44
SPCE-M5(1/4-M5) SPLE-M5(1/4-MS) SPB6-M5(1/4-M5) 68 SPD6-M5(1/4-M5) 64
SPC6-01(1/4-01) 28 SPL6-01(1/4-01) 40
SPB6-01(1/4-01) 64 SPD6-01(1/4-01) 64
SPC6-02(1/4-02) 28 SPL6-02(1/4-02) 40 ”
SPC6.03(1/4-03) 38 SPL6.03(1/4-03) 76 SPB6-02(1/4-02) SPD6-02(1/4-02) 64
SPC6-04(1/4-04) 58 SPL6-04(1/4-04) 100 SPB6-03(1/4-03) 78 SPD6-03(1/4-03) 78
SPC8-01(5/16-01) 32 SPL8-01(5/16-01) 42 SPB8-01(5/16-01) 68 SPD8-01(5/16-01) 68
SPC8-02(5/16-02) 32 SPL8-02(5/16-02) 42 SPB8-02(5/16-02) 68 SPD8-02(5/16-02) 68
SPC8-03(5/16-03) 38 SPL8-03(5/16-03) 46 SPB8-03(5/16-03) 78 SPD8-03(5/16-03) 78
SPC8-04(5/16-04) 58 SPL8-04(5/16-04) 100 SPB10-01(3/8-01) 78 SPD10-01(3/8-01) 78
j ] 36 - B 46
SPC10-01(3/8-01) SPL10-01(3/8-01) SPB10-02(3/8-02) 78 SPD10-02(3/8-02) 78
SPC10-02(3/8-02) 36 SPL10-02(3/8-02) 46
SPB10-03(3/8-03) 78 SPD10-03(3/8-03) 78
SPC10-03(3/8-03) 38 SPL10-03(3/8-03) 46 pys
SPC10-04(3/6-04) = SPL10-04(3/8-04) T00 SPB10-04(3/8-04) SPD10-04(3/8-04) 150
SPC12-02 58 SPL12-02 100 SPB12-02 150 SPD12-02 150
SPC12-03 58 SPL12-03 100 SPB12-03 150 SPD12-03 150
SPC12-04 58 SPL12-04 100 SPB12-04 150 SPD12-04 150
A\
b &
ERIRR hE 1 ERRER = ZE RRER B ERIRR W=
Iltem No. | Price Iltem No. | Price Iltem No. | Price Iltem No. | Price
SPX4-M5 90 JSC4-M5 280 SPH4-M5 60 SPLL4-M5 60
B 90 JSC4-01 220 SPH4-01 65
SPX4-01 SPLL4-01 60
SPX4-02 20 JSC4-02 220 SPH4-02 76
B i _ . SPLL4-02 60
SPX6.M5(1/4-M5) 9 JSCB-M5(1/4-M5) 280 SPH6-M5(1/4-M5) 76
B - 220 - - 76
SPX6.01(1/4-01) 5 JSC6-01(1/4-01) SPH6-01(1/4-01) SPLL6-01(1/4-01) 60
JSC6-02(1/4-02) 220 SPH6-02(1/4-02) 76
- - 90 } N
SPX6-02(1/4-02) 1SC6.03(1/4-03) 280 SPHE.03(1/4-03) 96 SPLL6-02(1/4-02) 60
SPX6-03(1/4-03) 100 JSC8-01(5/16-01) 220 SPH8-01(5/16-01) 82 SPLL6-03(1/4-03) 68
SPX8-01(5/16-01) 90 JSC8-02(5/16-02 220 SPH8-02(5/16-02 82
( ) { ) SPLL8-01(5/16-01) 62
SPX8-02(5/16-02) 90 JSC8-03(5/16-03) 280 SPH8-03(5/16-03) 96
SPX8-03(5/16-03) 100 JSC8-04(5/16-04) 420 SPH8-04(5/16-04) 200 SPLL8-02(5/16-02) 64
SPX10-02(3/8-02) 100 JSC10-01(3/8-01) 280 SPH10-01(3/8-01) 96 SPLL8-03(5/16-03) 68
- - 2 - -
SPX10-03(3/8-03) 100 JSC10-02(3/8-02) 80 SPH10-02(3/8-02) 96 - -
SPLL10-02(3/8-02) 70
JSC10-03(3/8-03) 280 SPH10-03(3/8-03) 96
SPX10-04(3/8-04) 210
JSC10-04(3/8-04) 420 SPH10-04(3/8-04) 200 SPLL10-03(3/8-03) 70
SPX12-02 210
JSC12-02 420 SPH12-02 200 SPLL12-03 160
SPX12-03 210 )
JSC12-03 420 SPH12-03 200
SPX12-04 210 JSC12-04 420 SPH12-04 200 SPLL12-04 160

23



&

T.| ’:'lg"RE EEE LABOR-SAVING QUICK JOINE

SPU(SPG)

SPY

\
\
ERRE | loE ERRR | I9E ERER | 98 ERRE | jeE
Item No. | Price Item No. | Price Item No. | Price Item No. | Price
SPCF4-M5 32 SPLF4-01 46 SPU-4 40 SPY-4 90
SPCF4-01 32 SPLF4-02 46 SPY-6(1/4) 90
SPU-6(1/4-01) 44
SPLF6-01(1/4-01 50
SPCF6-01(1/4-01) 40 ( ) SPY-8(5-16) -
i i SPLF6-02(1/4-02) 50
SPCF6-02(1/4-02) 42 SPU-8(5-16) 46 SPY-10(3/8) 160
PLF6-03(1/4- 90
SPCF6-03(1/4-03) 58 SPLF6-03(1/4-03) v o
SPLF8-01(5/16-01) 50 SPU-10(3/8) 52 )
SPCF8-01(5/16-01) 46
SPLF8-02(5/16-02) 50 SPY-6-4(1/4-4) 90
SPCF8-02(5/16-02) 46 SPU-12 70
SPLF8-03(5/16-03) 90 SPY-8-6(5/16-1/4) 90
SPCF8-03(5/16-03) 58
SPLF10-01(3/8-01) 50 SPU-6-4 70 SPY-10-8(3/8-5/16) 90
SPCF10-02(3/8-02) %0 SPLF10-02(3/8-02 50
SPCF10-03(3/8-03) 58 e SPU-8-6(5/16-1/4) 75 SPY-12-10 210
SPLF10-03(3/8-03) 20
SPCF10-04(3/8-04 80
( ) SPLF12-02 120 SPU-10-8(3/8-5/16) 98
SPCF12-03 &4 SPLF12-03 120
SPCF12-04 80 SPLF12-04 150 SPU-12-10 105

JVA

= =
ZE GoAR SR = 7 GOiR SR = 7E GRiR SR B 7 GOHR SR hE 1
Iltem No. | Price Iltem No. | Price Iltem No. | Price Iltem No. | Price
SPE-4 68 SPV-4 42 PSL-01 20 JVA-4 250
SPV-6(1/4) 44 - -
SPE-6(1/4) 68 SPV-8(5-16) = PSL-02 25 JVA-6 250
PSL-03 30 - 2
SPE-8(5-16) 70 SPV-10(3/8) 56 A /ats 20
SPV-12 70 PSL-04 40 JVA-10 400
SPE-10(3/8) 74
SPE-12 150 SPM SPF
SPE8X6X8 90
e ' p ——— \
SPE10X8X10 110
SPE12X10X12 150 ’
SPE4X6X4 80 —
SPE6X8X6 20 2E GO 3R R 1 2E Goim SR i 2E Goim SR i
ltem No. | Price Iltem No. | Price Iltem No. | Price
SPE8X10X8 110 —
2 60 SPF-4 240
SPE10X12X10 150 SPM-6(1/4) 56 TIP-001(1/8) 20
SPE10X6X10 110 :Em‘?(()?;/:; 68 SPF-6 240
2 76 TIP-002(1/4 2
SPE12X8X12 150 EEmT 200 SPF-8 240 002(1/4) v

24






@ KD 1R5EIREH(E

King Diamond

—pE A

KD-12265 @&

KD-13009 KD-101-EL

KD-12130 EEI\ B 52

KD-101-D

R R fFD kg SEg B
KD-12265 370 635 410
KD-101-H 500 1,220 450
KD-101-J 560 2,550 1,200
KD-101-EL 400 850 390
KD-10444 400 880 620
KD-10448 400 850 590
KD-101-D 185 333 260
KD-101-DlI 185 333 260
KD-101-DL 185 365 300
KD-101-E 185 333 290
KD-101El 185 363 290
KD-12130 230 355 280
KD-101-B 105 140 200
KD-102-B 100 120 200
KD-101-A 48 62 170
KD-101-Al 48 62 170
KD-101-ASS 48 62 520
KD-13009 35 42 225
KD-12050U 92 171 240
KD-11401 100 200 215
KD-11421 150 300 260
KD-11412 210 370 310
KD-12135 230 355 280
KD-101K 550 1,030 850

Pt

KD-11401 KD-11412

TErRARE - WO
26



@ KD REFEEH(KF )

King Diamond

—fEmE

KD-201-B

KD-201-A

KT

EREIRE BEH5 70 kg

Bl =2
£9  {EiF

KD-201-C KD-201-A 30 43 145
KD-201-Al 30 43 145
KD-201-AL 30 43 150
KD-201-ASS 30 43 380
KD-201 30 43 160
KD-201SS 30 43 380
KD-20300 KD-201-B 100 110 200
KD-201-BI 100 110 200
KD-201-BS 100 10 200
KD-201-BSI 100 10 200
KD-201-BSS 100 110 490
KD-200-W 480 570 285
KD-200-WL 480 650 315
KD-200-WH 480 650 315
KD-200-WLH 480 700 340
KD-220-WH 480 750 340
KD-220-WLH 480 800 360
KD-201C 110 140 200
KD-20300 35 10 210
KD-225-D 250 250 230
KD-225-DI 250 250 230
KD-202-FL KD-225-DSS 250 250 680
KD-202-F 250 400 260
KD-202-FL 250 430 280
KD-203-F 250 360 215
KD-203-FL 250 400 225
KD-204-GB 690 1180 450
KD-204-GBL 690 1260 500
KD-204-GB KD-204-GBLH 690 1465 560
KD-20235 370 640 400
KD-201D 100 10 345
KD-21384 500 635 580
KD-20400 20 255 190
@& KD-204-GBL BREL -

Tk srs - WG
27



Q@? KD |RERIREH(HERIT)

HERIT\ B

BEE#RSE  AF kg (TEmm SE2g {15

KD-36070 51 10 105 260
KD-301-A 45 16 50 185
KD-301-B 45 16 50 185
KD-302-D 161 12 455 390
KD-304-C 250 30 400 420
KD-305-C 250 302 400 420
KD-304-E 420 41.4 600 560
KD-305-E 420 41.4 600 560
KD-304-H 750 60.4 1840 840
KD-305-H 750 60.4 1840 840
e KD-36060 330 28 620 570
KD-36330 KD-302-F 150 32 300 320
KD-31501 220 30 335 360
=) KD-303-E 500 50 965 450
KD-36330 1140 51 940 960
KD-304CR KD-36020 220 293 345 330
D 5 KD-36003 273 32 360 450
(=== KD-304CL 250 30 400 520
KD-304CR 250 30 400 520
KD-304EL 420 414 600 660
KD-304ER 420 4.4 600 660
KD-36204 140 38 270 410
KD-36224 320 67 690 700
KD-36205 145
KD-36225 120
KD-304EL FivEE -

Tk srs - WG
28



& KD 1EHREH(PIRI)

King Diamond

4

KD-40380 (-1~FfiLP)

KD-40370-LP KD-40370 (-T~HMiLP)

KD-40323

KD-40341 AgRS st s

EREIRE 557 kg £g9 @&

KD-40323SS 180 71 590
KD-431SS 350 225 700
KD-40341SS 990 600 920
KD-451 170 270 225
KD-452 170 255 225
KD-40370 1820 1265 1,050
KD-40380 3450 1485 1,300
KD-40323 180 71 225
KD-431 350 225 240
KD-40341 990 600 410
KD-40324 250 113 340
KD-40334 500 250 370
KD-431-LP 40
KD-40341-LP 50
KD-40370-LP 300
Pt -

ipgzst I TeUlETN T
29



" NEIMFEE

F5E -

601 ~ 60 ~ 55752 FEOHURIR 32 L {4 - B0 & 08 PAzCRG R B K e d e - bl & 1 TR I KK L5501
JERC SHELE ML TTPRIIE - ENE 21T 2 AL - TRel B A 2 - KO - MR T2 LR ol g2 M s 7
AN BT ELEE - SRR ~ SR ~ BiEZIER - B L LPF & RBEWIRSE THETIE » S AT LT R a2k
a1 ] ZEGHCHE « —ARBER12V/20W il «

Bi:5
R A HERE S V& ELiRAE
L55A G-L55A 400mm 110V/220V 12V/20W 2,000
L60 G-L60 400mm 110V/220V 12V/20W 2,000
L601 G-601 430mm 110V/220V 12V/20W 2,000
20V e 12V/20W 400
L55A1 BEERS 110V 600
L55A2 EERS 220V 600

30



RICERR

i
@71 % B0

R /SE:8

Eha R HERE {HEE

HP20 HP-20 425x280mm 230V/120V 4,000
HP20 HP-20 425x280mm 12/20W 4,000
HP20 HP-20 425X225MM 12/20W 4,000
HPK20 HPK-20 12V/20W 3,800

31



F]
4
Fd

JarRRer IEMRYS

JW-55NT Series
- Low voltage 12V or 24V operation, without danger of electric shock.
- It accepts bulls 50W.55W.70W. or 75W.

- Transformer is available for any voltage.
- Furnisbed with 1.8 meter cornd without plug.
Exllcnded conl length is available when required.

HTTL71 (Long Arm)
HTTN71 (Medium Arm)
HTTS71 (Short Arm)

HTTM71
(Medium Arm)

HTTL71
(Long Arm)

HTTS71
(Short Arm)

Eha R HEREE {HEE
JWS55NTL HTTL71 430*%400 110V/220V,12V50W
JW55NTM HTTM71 250*200 110V/220V,12V50W
JW55NTS HTTS71 105 110V/220V,12V50W

JW551 110V EE28

JW5E52 220V 4##EEEs

32

4,000
4,000
3,800
600
600



[GD9]" Gwols / ks,

RHRIIPIKIVEYNE - EBE BT R ZRENXK -
ERAERINC TEEIFRER - TRER(FFEE
BXfE LTE®RER - XEEKFEEREEEM
E - TRIER<2 @8 - TNERM T E - ERBES
LIER - RBRAEETHRE ¢

55

HEEm

ShiiRaE wE EURFEN B=FE7K
Material Watts Enclosure IP
GS113 Arclic 13x1 IP67
GWDV120A Arclic 20x1 IP67
GWDV115A or Glass 15x1 IP67
GWDV110A or Glass 10x1 IP67
GWDV208A  on request 8x2 IP67

33

Lamp Length
440mm
920mm
730mm
620mm
523mm

Supply Voltage
120V/230V
120V/230V

B - 52
B
M52 7] A
2,400 3,200
4,500 5,200
4,200 4,600
4,000 4,400
3,900 4,200



GOO" mETFERH

GT17 @eEs  GTI8 ZRWEN 75V 75V
=87 2
TR
GT17 G-T17 240V 600
GT18 G-T18 240V 600
75V G-B15 12V/75W / 24V/50W 500
75VI G-B16 12V/55W / 24V/70W / 24V/60W 500
20V L55AZERY 12V/20W 400

H¢E - ERESSEIE

e 2eiX B Bim e SELIBTEL i=AE IEERE
Watts Catalog# Color TempBase Avg. LifeHrs.  Candle Power  Length (Lnches)
6 F6T5 4100K (Cool white) MIN BIPIN 7500 295 9 Nominal 62
8 F8T5 4100K (Cool white) MIN BIPIN 7500 400 12 Nominal 62
13 PL-13 2700k Gx23 10000 900 7.44 Overall 82
13 PL-13 4100k Gx23 10000 900 7.44 Overall 82
15 F15-T8 4100K (Cool white) MED BIPIN 7500 870 9 Nominal 62
18 PL-18 4100k 2G11 12000 1250 8.94 Overall 82
20 F20T12 4100K (Cool white) MED BIPIN 9000 1200 24 Nominal 62
22 FC8T9 4100K (Cool white) ~ 4-PIN 12000 1050 8.25 0.D. 62
24 PL-24 4100k 2G11 12000 1800 12.69 Overall 82
36 PL-36 4100k 2G-11 12000 2900 16.44 Overall 82
40 F40T12 4000K (Cool white) MED BIPIN 20000 3050 48 Nominal 62
SREE)
ELs &Y =P i E N = o Bim Fd=! SEPITE i=AE IEeRE
Watts Lamp Type Catalog# Color Temp Base Avg. Life Hrs.  Candle Power  Length(Lnches)
20 12 AR51 3000K GY 4 2500 5000 1.420verall
20 24 3000K GY 4 2500 4500 1.420verall
55 12 H-3 3000K PK22S 3000 N/A 1.65 Overall
60/70 24 H-3 3000K PK22S 3000 N/A 1.65 Overall
BEE -
cWEEEBRT EEERENTE
RUSEMTY -
© FIERBLE MRS EEAT [ ] @:{ 2 E 3
EATETHIE - ) E ) ‘
. EEZ@E% TSRS 1 H-3 A\TS PL-13 PL-18, PL-24, and PL-36
. Ej?,%fmgﬁﬁsm%mﬁzﬁﬁaﬁ I:‘j > F6TS, F8TS, F20T12, and F40T12.
- B— S R RE0R ORI ' T [F
AT RIEEME -

34



i : . (B - B
JARBI  momxm 52 EES

My 5E220V 1010 %8
A - g R B8
JF-30 TEB =l it 110V 220V 5,600
JF-30 LEB RER 110V 220V 4,200

AR A B #iE1,200

ASHORT ARM (JF-30TEB) AMEDIUM ARM (JF-30MEB) 4 ONG ARM (JF-30LEB) AMOUNTING CLAMP 1 SET
AMOUNTING ANGLE PLATE 1PC

35



PEAK & MEMA A

1966 10X

1962 15X

1961 10X

L3~ Fes

It

Light Lupe(fJ¥4&)
i21& - 1400

1985

1998 7X

Steinheil Lupe

EDEAE-IPa TR Steinheil Lupe
Scale.lugezoo 1935-7 7x 240 B 5B BE Light Scale Lupe
B 1985-10 | 10X | 2400 1985-14| 14X | 2400 BB B (B
2028 10X 1996 30X 1985-20 | 20X | 2400 9 : 3400
2032 10X
—— 2001
\ ) ; » ..‘ T 5
/ \" ( - ()
\\\_/ & i)

Light Scale Lupe

Pocket Microscope

AR S Lupe ENCECT TN
_ BOWw EH O BE
W2{E - 4800 RE: 2100 | HP&!?; ?6600 2001-25 | 25X 210
2008 ———— [ 2001-50 | 50X | 3000
' = 2009 2001-75 75X 3500
U T 2001-100 | 100X 4600
= 1 2016 15X
. .\ ; 2016 - L 15X
Pl 1
| /J

Scale Lupe Set

Stand Microscope Shop Microscope

MERELEE] EEEETEY e ] Light Scale Lupe set

2008- 25 | 25X | 7500 2009- 20 | 20X | 17000 f21& : 4000 B 21 1 S ()

2008- 50 | 50X | 8000 2009- 40 | 40X | 18000 .

2008-75 | 75X | 8600 2009- 60 | 60X | 18000 iRH 4800

2008- 100 | 100X | 9200 || | 2009- 100 | 100X | 19600 2037 - L 30X
2037 30X

2035 - 1 FEHIVAR

S@

Light Scale Lupe

Head Lupe-1

BB

1900

Scale Lupe [iZI& A
& : 4000

Bz &l A (FUYE)
& : 4800

36




£ 5

ERE kg RU/RExExs BHkg EiF
GP100D 500 320x140x150 16 11,000
GP100B 1000 320X230X200 25 11,000
GP200B 2000 450X320X250 55 29,000
GP100C EHht t&hs 140X140X50 1.8 3,000

F R I\ KA i B B2
ELM-100 ELM-300 7 ELM-600

ELM-2000 ELM-1000

ZERE35 B

HRIRAR ~
KG MM KG MM MM KG
ELM-100 100 15 45 150 1000 2.5 7,200
ELM-300 300 25 435 250 1500 8.6 19,000
ELM-600 600 30 270 350 2000 21 31,200
ELM-1000 1000 40 450 450 2500 46 47,800
ELM-2000 2000 55 900 550 3000 118 86,000

37



NIGETY

SM-1200
Range 15mm~50mm

L

L

1N -

Al VEYSERRSZEH 5-50mm

B {ZEERIEG
C) ST {Fr=RE
D] BETH

HERIR
REMERY
PR E

RN -

A] #32-20mm

B] {EHE K

Cl SRIIF=ZEIE

DI AZETA

DRRY (:\D/I)mm

(P)

spEBkgs./ FEEBKgs.

=L

<

s 7

1pc
5pc
1pc
3 pc

1pc
4 pc
1pc
2 pc

SM300
SM-300
3-15mm
2-20mm

0-13/16in
360x220x230
480x290x290
16kgs / 17kgs

10000rpm

50,000

SM-300
Range 2-20mm

i 98 - JJEEER

DRILL ~ TAP & END MILL GRINDER

Es _3

B2 B

SBEERAEE20-40mm

HEEEPHAEES0Omm

Y1 S

reo o

%767 A 3-25mm

i TSRS

==

SM300S SM1200
SM-300S SM-1200
0.5-10 m/m 15-45mm
15-50mm
0-3/8in 3/16-2in
360x220x230 470x280x300
480x290x290 600x360x380
16kgs / 17kgs 26kgs / 28kgs
10000rpm 6000rpm
110V/60hz/220V/50hz
60,000 70,000

38

SM1200GL
SM-1200GL
15-65mm
15-80mm
5/16-3.3/16in
470x280x300
600x360x380
27kgs / 29kgs
4500rpm

77,000



A =R

BR
- REE— WM - IS BRSNS LMU-15
- RREERRTD  WEREESIEEES - IMNER -
Birg

BisiRsE Bl mLEEND RBEER =R ERIBE B8= HZEHH

kg mm Application Hour
LMU8 LMU-8 1000 200x300 12V12AH 8~10 67 5~7 43600 SR —
LMU15 LMU-15 2000 270x320 12V35AH  12~15 120 10~15 57300 # =g (=) —@
LMU30 LMU-30 3000 270x450 12V35AH  12~15 180 10~15 77200

L TVERSL N A 1
ND |

TSYR TZUN

C922A

HSEERE—I » TUSTETM Bir5
WA U7 W) 09E0 BB B) ME  BARE BMAROE GUNTEEER IMGEIFEER TG0 IVBRE EERY IFGOE SR S8E ARV AV

756 56
Copp B TSI 2V SRR dmm omm ge0mim Mmn S S0mm 30600mn S60mm f520mm 132K6S 90000 43000
922A  6-20mm  10-20mim 3phase 127 51
o G920, DR e e smn Mmn S S0mm 30600 560mm 1520mm 136KGS 100000 103000
WA 6%mm 10%mm hase 12751
R SR 686 404
Cop T TAIBT SB%IIRT 2V pp Y fmm omm Semim Mmn Swm 30mm 300600 560mm 1630mim 166KGS 148000 152000

940  6-36mim  16-3mim 3phase 16597
6 3

39



& fix i 5
#3820

Drill capacity
(MAX)

R
NIBAEE
FBHEAITE
5E
EH
38

B

SIREZBE CiES|

A% (Main Application) :
RECZEETEERREL -

. {235 (Characteristics) :
; - BRERERZEIFE
- REWMREEREES
- BETIREENIEX

WOOR L AR W WL

LA

YL-100
MM 4mm
Steel Iron
RillRRM 4mm
Brass aluminum products
Speed of spindle 0~12000rpm
Swing 200mm
Spindle stroke(MAX) 30mm
Motor AC110V/220V 50/60HZ 1PH
Weight 24kg
Height 510mm
16,000

40



Y100S(EiE5 )

Y-200R

Ehkws Il BAED

Y-200S(E &5 )

Y-300R

L JEES

D=

Y-300S(F &5 )

Y-400S(FiE5HH)

RiEcE WaARY

L VR =]

Y100R
Y100S
Y200R
Y200S
Y300R
Y300S
Y400S

3/8" A,
3/8"H
3/4" X,
34" 8
" 3
1" F
11/4" 8

=5

(mm) (V)
10 110220
10 110220
20 110220
20 110220
25 110220
25 110220
32  110-220

(mm)
110
110
175
175
235
235
280

41

330°
330°
330°
330°
330 °

()

20
20
20
20
20
20
20

(mm)
112x100
150x100
190x160
190x110
225x160
225x120
245x125

1.2
10.7
17.1
17.3
26.4
25.8
35.2

10,000
10,000
10,000
10,000
13,000
13,000
16,000



A

TSYR TZUN

FM-3S FM-6R FM-10S FM-12

- it Poreh
Zj&# 5% | Model | Drilling . [ Electro. Miﬂxéglﬁgirg.

Dia. magnetic | Force
FM3S 38"B  2-10m/m Hov 80m/m 330° 20m/m  100x130m/m  400kg  295m/m 1lkg 12kg 11,800
FM6R 34" %, 2-20m/m 110V 200m/m 330° 20 m/m 150 m/m 1200kg  400m/m 19%g 21kg 14,800
FM6S 34"8  2-20m/m 1oV 200mm  330° 20mm  100x185m/m  1200kg 400m/m 19g 21kg 14,800
FM10R "A 225mm  110V220V  220mm  330° 20 m/m 165 m/m 2100kg  530m/m 28kg  31kg 20,000
FM10S "B 2-25mim - 110V 220V 220m/m 330° 20m/m  100x225m/m  2100kg  530m/m 28kg  31kg 20,000
FM12 1/4"F  2-32mm  110V220V  230m/m  180° 20m/m  140x240m/m  2800kg 555m/m 35kg  38kg 22,400

FM420 13/4"8  2-45mim  110V220V  280m/m 457 20m/m  140x240m/m  3000kg 555m/m 37kg  40kg 28,600

ARSIV IS S

TSYR TZUN

8qus
Siues | 2ol | BHASARY) | FIE 25 | BARE | B8 | sigE8wm | SiEnm | SEwn | 985 | BE | g
R=RINME | Model Max. Electro. MagneticForce | Drilling bore | Power source | Max.depth |Rotary | Front & rear movement Electro. magnet | Height N.W. | G.W. =
€328 C-32 2800kg 02~032 110V/220V 240m/m 180 20 140x240 765 42kg 44kg 28,600

42



TSYR TZUN

R

AHEWOTEE N ERES » SiRRRHEs -
ERESEES70M/m > BERETEIFHRRE > iFE
IMERE280mM/m - FIRIEERINE - TS 2EE - BEE
LIRIITEETER 1S -

oA B EIBIER - MAIERIE IR -
MTM-930A K - MTM-922ARIME TS/ EREE (RBaiEiE
75648 - R{EIEE5148) ERR 00 L4 EERIERIER 3LITAY
MTM-940 Xy BEEIRIEE FREIWVREIOEIFIEE -

inleese P PHN

i
3# 4%

sEAY U7 EIAN Q%N BB BN ME RATRE WMAR kD DME SB3  ZHE BE ANKE EIER MKEE BEE ER  ER
Mol Dril  Tapping Power HP RPM  Max  RT  Trnsvers Tumng Electo  EABD Heght 2R @MY Fitings Machne 220V 380V

Capacty Capacty ~ Capacly Deph  Body.  alMove Degree Magnefic  Electro TosnFuwe Dl Seeve  Weight  Weight
Novable Size Magnetic Force Standard Fiting  Standard Fiing

756 456 _
WIS OBT8T 200y aR S 0 B M B BN Mg SO 5 2 5 60 8100 800

922A 6o~250  100~220  3Phase 12751

p W ST SBLRT 2, TR m w men Mg 80 7 5 T T 81500 %4000

9%0A 60320 100300  3Phase 12751

WO SE-42" SB-112" 20 o By o m m e Mg TO 8 3 16 100 138000 14200

o0 160380 16030 Phase (£ %

TM920

M940

43



e IVBITESLFILNFES

TSYR TZUN

A-25 BEETCHEMEIEIR A-22N FETRIHEA A

AONS S S R A-25NS S Eﬂf%%f‘ﬁ”ﬁ%tﬁﬁtl‘ﬁ@aﬁ

shA% U7 SEER  BERE ERER  #R QELEED 2, I IR Iﬂﬂﬁuﬂ E i DG BRRD BERY  BABD

Nocel  Power(AC)  MolorRated MolorReled Drilllng (@ (7@ Tppng  Bady  Tuhing Transversal  Magnetc  Magnefic

Quiput ~ Ampere  RPM. Caacn Travel  HolCa Hole Depth G Novable Size Degres  Move Force

D AR T N G D oM gy W WA s G 2 a0
VY ;;gwgzggﬁggﬂé ]jggw g%’; ggg;gg 12/122”“:” 33%’/‘;2“ 3‘22'/”1%‘ o fmm f0ClGm S0gs Konm M 6250
o LT N G\ W ToT B awmw ome o w20 e 2 60
G et B g R e Wl SR b s i 2 4D
S s N G DB 16T 60 sy oy © M BEIM G 2 B0
B MBS o M G T 10T 10 woe ygp 0 0M AN s S Y g0

TIOV120V 5060HZ 13500 124 300750 222mm  80mm  1850mm  S0mm  8i6mm  100mm
20V-240V5000HZ 1450 65A 300750 1/16'~7/8' 3682 2321-31/82" 1-31/82" 5/16'-HlE"  3-1516"
T10V-120VE0060HZ  1350W 124 300750 22%mm  80mm  1850mm  S0mm  10-20mm  100mm
20V-40V5000HZ 1450 65A 300750 161" 3582 23321-31/82" 131182 3834 3-1516"

A2NS - A22NS 600 f0mm 100x20077mm  1200kgs  460mm 27 87400

A2NS  A-25NS 600 f0mm  f10x200x%5mm  1500kgs  4%0mm 34 95,000

44



FBEHETIVITIESLEF S

TSYR TZUN

FM-50D :
FEBEGTEIT S LR ﬁﬁ '8
A-30D
FEBES TV SR
30DL
BRI T B3 3L

A-30DS
PER TR BRI EL I T 1

A-30DLS
P T\ R EEL ZILIN TR EE

shA% B4 SEED BERE BEAR MR EREn MAOf ZRE QOMN GEOE OB AEBD  BERT GAED

Mokl ~ PowerAC)  MoRded MoorRaed (BE&)  Dil  DilHoe (R®  Tappng  Bady Tuhing Transversdl  Magnefic  Magneti
Ouput ~ Ampere  RPM.  Capacly  Travel Ho\eCapacny Capacity MovableSize Degree  Move Force

Fup  Fupsgp VIOIAVEDBORE 150N 124 3007e0 fnn 1650 1100086 20gs Smn 28 10700
DIVOVSORHZ 10N 654 300750 3 5B

TR it T R T T U o0y tomm t20c200mm 180kgs SH0mm % 111200
DOVOUVSORHZ 150N 654 00750 IABIAE B 3151p

L pqp TOHVEBHZ EN 1A A0 24 am f650m 0 e gm0 Snh B 1500
DOVANVSOBHZ BN GSA 007D GNLINE SN SEWISIRY 3519

vans aaps TOFEOVEUBHZ TN A HOTO 2dm g a0 e e g S0 B 600
DIVOVSORHZ 150N 654 300750 IAIAE B I 156

S110V-120V50/60HZ 13500 124 300750  230mm  8mm  16-50mm  10-20mm  100mm 5 120000 180k S6mm % 14380
20V-240V5060HZ  1350W  65A 300750 1A6'~1-36" 44" HI'1-31/32"  3fB'G4"  3-16/16"

45

A30DLS  A-30DL



fe e T\ I EZF 5L

FM-50G I&FT\IITER S

TSYR TZUN

- FREEMNREE - TEIRFERERREEER -
- RS IR - RFSRINEAY T (FY) - AERENS « XSS - HE « A3miE
ESIRSHHESLI T (F5E

ur

)

k

shRs %E(Eﬁ% FEEE  HESH o T B#RT EAED BB BB
Model Power(AC Motor Rated Motor Rated (&S &) (7vim) Magnetic ~ Magnetic (E.aﬁzl Weight
Qutput Ampere RPM. Hole Capaci Force Heigt

110V-120V 50/60HZ  1350W 12A 300750 16-50mm 1O0086mm  1200kgs  460mm 25 63000
220V-240V 50/60HZ  1350W 6.5A 300750 58" ~1-31/32"

WA R A

FM50G ~ FM-50G

IBRRES SR
o RO g
T 60 a0mo  FUEERIEG.000
MTM 1'1/4’217:1£ PE 5mesme,000
BIESH2 1,400
WILERS ¢ 1,400
BIESH4 1,800
WILER 172 600
ﬁ B e 7,000
B FkEs 6,000

46



e T\ I iR S ZF S

MODEL NO:YL- 1909
CAPACITY: 50 mm

High Speed YL-1000

1. N TVHEE T RR BRI R A EEEE -
2. S5 T BIBTVB BN -

3. BAFE AL - WA -

High Speed YL-900
1. B8 - #1fF - WK - EEF14kg » FFE35cm -
2. FFITENETIBRE » EHENE -

=]

oo YL-1000 YL-900

B3 50mm 35mm

Zi8 AC 110V/220V 50/60HZ 1PH AC 110V/220V 50/60HZ 1PH
@iz 55mm 40mm

WaRY 220x110 170x97

[ TTaudzs 0| 860W 670W

TR E 500rpm 850rpm
=2Weight 24.5kg 14kg

B 110V/44,000 220V/48,000 110V/30,000 220V/32000
193] 100kg 600kg

47



y /4 R eSS

s e 35LE{E8.0mmEE9Tmm
50LBE{ES.OmmEE112mm

15

T-350 AiF14omm~40gmm B AEIEE35m/m

*T-500 H4E18emm~50amm B ATEIEES0m/m

maf{{Npas =S EAEHRERT350 SEHEHRIRTS00
i o | s
T350 350; 6. 3/ 7.0/8.0 91 1430 1.400 18~30 1,500
T500 500%!  6.3/7.0/8.0 112 4oo 31-35 1.600 3135 1,800
BlEEEY(RPM) SE 5 36~40 | 1,800 86~40 | 2,400
NE iR iR =8 41~45 2,700
(MM) STEEL PLATE STAINLESS CAST IRON SR 46~50 3,000

EHeET i
16 1200~800 1000~500 1800~1400 SHERT\iE 51~55 4,400
18 1150~700 850~450 1600~1250 g g 56~60 5,000
20 950~650 800~400 1400~1100 8~19 | 2,400 61~65 6,000
22 850~550 700~350 1300~1000 ar

a kil

25 750~500 650~300 1150~900 (=R E)
30 650~400 500~250 950~750
35 550~350 450~200 800~650
40 450~300 400~125 700~550
45 400~250 350~120 600~500
50 350~200 300~100 550~450

48



/4

ATr/b R

R—=IVhYo—

EIHmsEgrEtE AT ¢
1000 x YJHEE(m/ 73)
THE X 7 (3.1416)

RPM=

HPD14-18
HPD19-25.5
HPD26-30
HPD31-35
HPD36-40
HPD41-45
HPD46-50
HPD51-55
HPD56-59

R
14-18 m/m

19-25.5 m/m

26-30 m/m
31-35 m/m
36-40 m/m
41-45 m/m
46-50 m/m
51-55 m/m
56-59 m/m

Bi&
1,700
1,900
2,200
2,570
2,980
3,460
3,930
4,400
5,000

iR

49

M BIEsiE
% - 5 mimELZ RREE - AR - RS

# - §844 - FRP.... EiEEM¥

18E - 50 MR MZEEE S BT REE - W

EENT
=i R
ThRSE 1018 g
HPD60-65 60-65 m/m 5,900
HPD70 70 m/m 6,360
HPD75 75 m/m 6,860
HPD80 80 m/m 7,400
HPD85 85 m/m 8,300
HPD90 90 m/m 8,900
HPD95 95 m/m 9,930
HPD100 100 m/m 9,960
HPD EVREEE 160



EEEERHE

1a=0R

AIZR5-HE

{7 - 1R

BRaRR L | f&E m/m B&
S300200 300x200x60 0.003 4,400
S300300 300x300x60 0.004 4,400
S300450 300x450x75 0.004 4,800
S450450 450x450x75 0.004 5,300
S600450 600x450x100 0.005 6,200
S600600 600x600x100 0.004 10,600
S600750 600x750x105 0.007 14,000
S600900 600x900x130 0.007 15,200
S900900 900x900x150 0.01 35,500
S9001200 900x1200x150 0.01 35,500
S10001000 1000x1000x150 0.01 40,000
S10001500 1000x1500x150 0.012 82,000
S10002000 1000x2000x200 0.02 126,000
WD40-1 USATEaBFRER 1,100
517-660 feEHORER 1,700

50



Cast Lron Surfacs Plate ) _ﬁ%?

-
—

RIS BT T R -
AR

ERERR b7 & g8 e S
C200300 200x300x60 12kg 0.02 2,000
C300300 300x300x60 18kg 3,100
C450300 450x300x75 27kg 0.03 5,800
C450450 450x450x85 43kg 8,000
C600450 600x450x100 55kg 10,000
C600600 600x600x100 75Kkg 11,500
C750600 750x600x110 113kg 0.035 18,800
C900600 900x600x110 130kg 0.04 20,800
C900900 900x900x125 240kg 38,000
C10001000 1,000x1,000x135 300kg 0.045 42,600
C1200900 1,200x900x150 380kg 42,600
C15001000 1,500x1,000x150 630kg 0.05 74,000
C20001000 2,000x1,000x170 1060kg 115,000

=

A: . Hﬁﬂglg

B 5

EREIRE R A

CF450450 450x450x700 m/m x 2" 3,100 4,000
CF600450 600x450x700 m/m x 2" 3,200 4,800
CF600600 600x600x700 m/m x 2" 4,000 6,000
CF900600 900x600x600 m/m x 2" 5,000 6,800
CF900900 900x900x600 m/m x 2" 6,400 7,800
CF10001000 1,000x1,000x600 m/m x 3" 6,800 9,000
CF1200900 1,200x900x600 m/m x 3" 8,000 10,000
CF10001500 1,000x1,500x600 m/m x 3" 12,000 15,400
CF20001000 2,000x1,000x600 m/m x 3" 21,000 21,000

51



il 375

/\=l= \

s 8

&
/_qu

|J O

R iR aE #H &

H40 140x108x57 oSI#GE
F41 140x108x216

H I] e

2l AE &3

ES{i 3= &

H41A 150x150x50 (IZ2HEFD
H42A 150x230x50 (E E'EE)
H43A 230x350x50 (IZHEFD)
H41 150x150 =IEi e
H42 150x230 aniEE
H43 230x350x50 oOmi:d

K&

7001
7002

iR i

52

F-48
F-47

i) &
Hl&mE 058m/m EaEY
BlaE 058m/m FEEY

B &
160x110x100
215x150x125

B 5
&
3,600
2,880

S5

B
4,840
5,800
8,000
3,840
4,800
7,000

B 5
B&

13,870

13,870

B 5
&
2,300
4,200



FaBUER

Box Block with Groove

B 5
BRaRR B & AR
B150150 150x150x150 7,600
B200200 200x200x200 10,800
B250250 250x250x250 15,600
B300300 300x300x300 21,000

JEE by = g2 L
Ao —F 0

V-blocks and Clamp

&7 : (2R)#
BRI B 5 - | B1E
181-902 181-902 25 m/m & E 8,480

BREM

&S R
BhaiRE RXEXEEXE B
RA150 150x100x100x20 3,300
=E e =
e (&)
NVHF R I
IR
4 :
#E :0.02 S R
BhaiRE 1R Big( EEEd))
L-8 8”X6"X5” 5,000
L-10 10"x8"x6” 6,000
L-12 12"x9"x8” 8,400

53



esssssssscscccccccnnns

ssssssssssscscccccnnns

sssssssssses

sssscsssccce

sscccscsscccccccsscsssssssssssscscncne

sssssssssane

esssssssssssscssccccsccscssssssssssssssssccscnns

MEMO

4ssssssssssssccccccccccssssssssssns

4sssssssssssscccccccccccsssssssssss

ssssssssssccccccccccssssssssssssssssssccccccnsnse

ssscccscccccccccssssssssssssssscccccns

©ssssssssscsscccccccccssssssssssssssssccccccnsns

54

sssssssccace

sssssssssscsscccccccccsssssssssssns

ssssssssssce

ssssssssssccccccccccssnss

sssssssscans

essssssssses

essssssssssssccccccnns

4ssssssssssssccccccccccsscsssssssss

ssssssccscccns

ssccssccccccns



KANETEC & $ER I
N = iR

>
>~

MB#: 92 YRN—2X MAGNETIC BASE

MB-K

wanl’ wunl | W7
o el e
MB -W2V MB-W2S MB -PSL

XH0v o= _& IMETO Vb,

- MOEPFRTOfERIC
L AVWTLET.

FREP TIRYIM—ZEBBONEBRIFREL
THBINB—5, bV Y —HOEMEER
HEICOLAENET.

TNy~ 3RIRTY

MB -PSX 005 yF TITFRDBSEH EEFICHE

MB-CX HHERTT .
RS B 07— LBIEHEEICHETE. JUHE
m ULFEB A
| 160N | OHIEE =TT

55



KANETEC & Ixh! AIA
a % & Eiﬁﬁﬂ ||EJJ=

41l

VAR, TJENTEERTH L
u&ﬁ
250N
MB - S12B
EEfif : mm

EREEN XRILE B =

MB-B-DG8C 165 6.5X8.1 1500
MB-BV-DG6C 70 150 1600
MB - B 12 176 10 165 2000
MB - BV 50 58 - 150 | M8X1.25 45/6.5 2200
MB - F2 80 165 3300
MB - K 14 | 178 12 3000
MB - FX 16 | 315 - - 6.0/8.1 4300
MB - T3 130 50 17 55 20 | 355 14 | 200 | M10X1.5 8400
MB - RV 16 | 225 6.5/8.1 4080
MB - W2 14 | 165 4200
MB - W2V 100 50 73 55 M8X1.25 4700
MB - W2s P e o768 5700
12 | 130
MB - PSL 30 30 34 35 7 54 - - M5X0.8 6.0 1600
= + ;& A 3 E

MB - OX SHET, 100 50 73 55 | 140 | 110 | 81 | 46 ¢SAEEEiE 9200

MB - S12B VB EERE 7125k, 5@ A 15 - ¢ 120mm 120 \E 5 T 14600
MB - CX . 16 28 28 29 16 16 39 46X 5500

MB - PSX 17 30 30 30 6700




H#* =

R85
400N

MBE - 35

= % & w0 Az ik

ente.
P

it
1000N

MB - PR

MBE - 35 40 73 55 52 4800
MB - PB 80 58 M8 X 1.253%7 1400
MB - PR 100 50 73 55 2000
MB - PL 130 17 M10 X 1.255%7 3800
MB - PH 125 70 70 80 M12 X 1.753F11 4400
MB - PM 60 40 40 40 M6 X 1.0356 1400
MB - PS 30 30 34 35 M5 X 0.8754 1380
MB - PG 150 60 120 52 M8 X 1.25:5%7 o 4400
MB-L-45 6.5 45 45 20 4-M4 X 0.7 336 B E25mm 5200
MB-L -65 20 65 65 20 8-84 X 0.7 36 RjfE25mm 6400
MB-L-90 25 90 90 20 8-84 X 0.7 56 B f@E25mm 8000
MB-L-C 50 6 Dai 50mm X 20mm 4-M4 X 0.7 356 B fg25mm 5000
MB-L-C75 20 Dai 75mm X 20mm 4-M4 X 0.7 i5%6 B #835mm 6800

57



FISSO  mmfyit

&t

u

m 1+ 2

XS - 13.50 x B

M-28F+V

N
SOE =0,
N >,

x -
0=

Wy
1

- o=
" ~

Zf,*: ) <

%, B0 Y w0 R

/TP - T\
"’ml!l‘.“\\\ o

Wi
WP
-

M-28F+C

| M- 28.30

5062.20

KANETI;;I: —— a@fi}b (i
XS - 13.50 MB - PM 40 225 M6X1.0 6900
S - 20.50 MB - PB 80 310 7280
M - 28.30 MB - PR 100 390 $6 ~ 8 9600
M-28.20 | PO BTRE 365 Mex1.25 IR 11600
M - 28.40 T REEE 385 14000
5062.20 MB - PL 130 730 M10X1.25 22400

58



FB1-1 (HEE) FB1 CHE)

FB2-1 TH72 FB24 H13AV H13A
(hiEEEY)
s DA RGN FEEER I R
TR oz B7IKG i SRR 2 H1g
YC13A — R 60 600 H131 FxE 90
YC13AV —fREITA 60 700 H132 TE 90
FB1 i L 80 2600 H133 Azt 90
FB1-1 SO bR 80 3400 H134 hsztE 90
FB2 e 80 1600 FB2A FB2 2R 1000
FB2-1 [ ZE 25 1200 FO1 IEEEGOKG 400
FB24 FERRESRE  #45E 40 1400 FO1B IEEESOKG 700
TF06 SRAEA 100 1500 FO1C EEE150KG 2000
TFO4 AREURG R 150 4000 TH72 EEHHEE 800
S 0310 FB1BFB2 31 A OIS RE - SOTT R
E120TES T AERE 06 « o BRISE
i : 11750%55 ERESHZSER  BIRRIRS

59



1>
>

IS

|

HIfRFEHE B 5
EhE R BTN &
YCO05 FaEHdRARE 800
M1 pANaS 560
M2 pANaS 500
FL1GHT 1&8E 70

SRR Bzl =5
SDR-1 55*%58*%55010 900
SDR-2 55*%58*%55@12 900
S ETHEIR
2.8 J ==
ERERIE BuTl Erd
FB2-2 OO E O 1400
FB2-3 12*3&miE ) 1400

TKM-025C TKM-04C TKM-05C TKM-025S8 TKM-06S  TKM-001 TKM-0015 TKM-002
_

e "ﬁf;] ﬁ%b R TN TEE -
TKM-025C @26*25 M6*1 o D8 26 25 25

TKM-025S 1o 26%26%25 - 2626 25 25 23 330
TKM-06S 20 26%60+25 M6+1.0 D10 2652 25 25 23 480
TKM-06W 20 26*60%25 EBIESHRE 26452 25 25 23 1500
TKM-03C 15 030%25 M6+*1.0 D8 30 27 25 21 380
TKM-04C 30 240%30 M8+%1.25 D12 40 47 30 24 520
TKM-05C 50 050%40 M8+#1.25 D12 50 45 40 33 780
TKM-001 0.8 010%18 M5*0.8 D4 - - - - 330
TKM-002 4 020%18 M5%*0.8 D4 - - - - 420
TKM-0015 2 21518 M5+0.8 D4 - - - - 370

60



VEEIE=Aa

R IR
EEAIRE ;
F25T F-25T 70KG 100 76 80 50 6 5400

£ R

JECEE IR Efi7: R
BRI ;
F26T F-26T 30KG 70 60 72 40 4 2,650
F27T F-27T 35KG 125 60 72 39 4 4,000

JEX B B B 5517 : 48
TR ;
F28T F-28T 13KG 70 40 50 36 4 5,700
F29T F-29T 17KG 100 49 80 60 4 9,600
F30T F-30T 23KG 150 48 100 90 5 13,600

61



=47 2
THRE  BE R
F31 F-31 100 100 100 26 11,200
F32 F-32 150 150 150 32 21,200

I8

BiEfRIE BUR
F35T F-35T

VRIS S

3 = ;2R

EheiRE

F-36T F-36T 51 57.2 46 38 22 4 3,000
= R

BRI IR 7
F-37T F-37T 110 60 48 39 20 3 2,900



=

BEaVEe

BRaRR g B
SV100 100x100x75 22,000
SV150 150x150x100 32,000

EEaeFITH

BhaiRE 1R BB ki B3z
S150 150x15x25 0.002 7,500 2PCS/#
S250 250x40x25 0.002 8,600 2PCS/#
S400 400x60x25 0.002 12,500 2PCS/#
S630 630x80x25 0.002 18,500 152
S1000 1000x160x50 0.005 27,000 152
S1500 1500x150x60 0.006 56,000 152
- ]
BhaRE Rig B
e TS500 500x50x6 3,460
TS600 600x50x6 3,460
TS1000 1000x50x6 8,000
- ﬁ
i 5
EhaiRE RS ki
T1600 600x60x15 6,800
TI1000 1000x60x15 12,000
TI1200 1200x60x15 17,800
TI1500 1500x60x15 38,600

BEBR

EH
il
0|

EhE R HE E1E
TR300 100 9,000
TR400 100 13,000

63



RIlMEE =S

B|EIRE  DIVAIE aRaExes  Pis B8

TP2 200 490x90x100 145 24,000
TP3 300 530x90x100 145 24,000
TS1 400 650x90x100 145 28,600
TS2 500 700x100x150 145 38,600
TS3 600  1000x200x230 200 46,200
TS4 800  1200x200x230 200 55,000
TIEA200 5 300/400/500 &
BB
EREIRE 74 {E1E
SL300200 300x200x50 8,000
SL400250 400x250x60 14,000
SL630400 630x400x63 22,000
SL1000630 1000x630x80 54,000

EtEAahR

BRI g B1E
S400400 400x400x60 32,000

S (T R R

Excellently Repeatability
[ wuLniFunETON

BRaRR BB 8 BE Bi&
A-100 78x62x14 ABS 0.2 660
A-300 93x79x15 ABS 0.1 1,100
A-500 93x79x16 FEE 0.083 2,200
A-600 140x130x20 FSE 0.05 5,200

64



SRR E

TadJdima
TSL-F301

FINEEEENER
EFEEEEYE
WEEBHF 3V - 1H
BEEFHE: £3°
B1% : 195,000

EEUES

@ NENO-301s

41;, ,
HEEER -1V - 1H
PEHERE : £1mm/10m
BSEEEHE: £3°

j

B+E : 58,000 =EGSE
EARANWA
FUJIYAMA

@ TN-520
=

M EEERE 3V - 1H
PEHERE : £1mm/5m
B#EFHE : +3°
B8 : 34,000

FUJIYAMA

/® TN-120

KEEEE 1V~ 1H 1T

MIEEE : £1mm/5m ]
BSEFHE: +3°
B1E : 25,000

NENO
AT-6101

i

WEEBERF 1V - 1H
B#EFHE: £3°
B4%: 16,000

PAFE

= 5 M

ERSER

D Eb
AR

65

@ LN-110

2 HIR S

YT TaJima
BL-F301

=

F KB EESE iR : IP54
WMIEEERR 2V - 1H
S#EEHE: +2°
Tzppgeg 95,000

HKEEBK - 4V - 1H

MEEEE : +1mm/10m
BEEFHE: +3°
B1% : 66,000

FUJIYAMA
TN-620

KEEER -4V - 1H
MEEE - +1mm/5m

B#E R +3°
&F% : 38,000

NENO

1

WEEBFE 1V - 1H
MEAERE - +1.5mm/5m
S#EFHE: +3°
&% : 13000

NENO
AT-9401

= L'ﬂ =

KEERR 4V - 1H
BEEFHE: £3°
B+E : 65,000

NEHUNES



hesg EERSY

& Pro sHOT L5

RISEE - BE300m
EFAT, : T #EE
SEHIEHE : 10
PEREE : 20"

EEIAYES - 635Nnm T B3
M BIER - FER - IELNEE
B8 : 87,500

A LT300

RISEE - EE300m
BT, : ST TS EHEE
B FHE: +6 °
PEEE : 20

E HIAYES : 635nmT) DL
i - IR - B8R - NS
B8 : 137,500

NENO TS%%|
hXRiHBEFERE
TW-405
RIEFEE - 5"
AIBNEE : 5"
O {522 : 45mm / 30X

A EEFE B - 1600m
BTER : BEONE - AMEERET

Leica DISTO™
LITE 5

& 5 RN E %

AIREYSE © £3mm

BIREEE B : 0.2m~-200m

= EE - Tmm

EETSLHUEE : 635nm » GRS
&5 + 30,000

66

&Y PrO sHOT L4+

RISHWE - BEFE600m
EFAT, : T EEE
S EEE: 10

MBI + 15"(7.27mm/100mm)
THIBIEE - 635nm T BHLYE

M BIZ2 - B - IEUNEE

& 112,500

AGL L1600

RS E : BE300m

BT, : ST TS EHEE

B EHE: +6 -

R4S - 20"

EHIRIES : 635nm T BT
WERTFHE: £10%

BEAQ: L. V.. =0 8E EE ke
M : B3R - FBR - EUNEE

B+ : 280,000

FUJIYAMA
K-240% K EH

B3 : 24X

O : 36mm

1AEBEREERE: £2mm

i : B3R - FER

&F% : 32,000

NENO NCS 150
3 BIERE

PSR : 5"
O/ 822 : 45mm/30 x
SBTEW : $ELEDBT

Leica DISTO™
Classic 5a

BRI E

AIPEFSE © £1.5mm
BIPEEEE : 0.2m~-200m
=B - Tmm

FEIYEBIEE : 635nm » OIRE
{&158 : 40,000




KILTER 188 MULTIMETER

KILTER 326 44,

10A%EE COM 2 ViimA

KTOO1 1REEELAIGE

o —

KT002 [E=EL A

YF800 3280 2000 # 2547 : {E
ThRE 818 fBi&
K370 KILTER-370 $ggt%y 560
K605 PMM-605 £{=F3% 760
K119 KILTER-119 E3BhiRatgEY [£3EY 800
K168 KILTER-168 ESEIREHEREY 438 1100
K188 KILTER-188 SAE#AE [1435! 1300
K249 KILTER-249 MiiFEE  MifiesE 560
K259 KILTER-259 THEZ!  fiiRE 800
K269 KILTER-269 S4-EY el 800
K326 KILTER-326 BSEhifafg EXE 1500
K357 KILTER-357 BBEEER MiRE 2000
K369 KILTER-369 FEEEHEMEFE 3400
YF800 £ YF-800 3E#tEY 1600
K2000 #135%2000 & Ey5°EY 2000
K3280 $9353280 # E3EHEY 3800
K3602 $9553602 ¥ REFA 7200
KT001 RIS E(ERERY) 60
KT002 pilie I mE-=2id) 60

67



KILTER

AW HFEGANRER

H B E oo

HINHEERE
&t ok S

e

Hom) 80V-—24KV. HIKERA b @B RE NBIG INT100K/30em 54 45 wf & B % & 5.

KILTER 2208 % ¥ 4=zt

& i A

2. =4 i it & Aadh !i.

BNES 2T
12 55 bR S =2

£ :50V --500V
145 -.65Hz
:105 x 62 x 24
3 :9V i it
ﬁiuo Grf : g #6210
145 = 1800

TFA—~MERE
EEEERIRE

850 i e dn st

& : 90V --600V
= : 50~-60Hz
s, ‘{—J 1134 x 85 x 45
i P45 1 2D
R E# 2 415109
flfs = 2400

860

A
=

Q*ﬁaﬂﬁﬁif‘_

1.248 %
2. =240 %

3

3. Kt s#.%ri-)nr 7 r‘).

A 42 4m Bt

L 1100V --600V

145 -.70Hz

- 1153 x 72 x 35mm
z :9V i,

& #200g

45 : 3000

R 38, 7208 IR A o RN - ERR .

L) B E R S

KYORITSU 3165/3166 44t %

3165 BamiE0
SEEEEe W T A
¥i th 500V : HETAG
OM; x1000Mf 90 x 137 x 40mm
/ o 5.0 % | A

% 20V ~600V
R 43.0% A
3166
SIEEEE e

#) th 1000V :

1504 i #H

SiEEEEe
¥tk 250V +£10 %
OM ¢; ~1000M
A B0 +5.0% 3 | A
itk 500V : £10 %
OM i ~200M ¢;

AR s 5.0 i | A
¥t 1000V © £10%:
OM£:~400M i

At g oo 5.0 5 | A
£#% s 0V-600V
A Boo 2.5 0 %] B

—ﬂﬁ?ﬁ*&

spi, K
163 x 100 x 50mm

W T

2550 #5 A
szumme

# 4 250V

oMe; -

# 45 500V :
200M

#id; 1000V : £10"

- 2000My;

+1.5+ +2dgts
: +£2.5+,.+2dgts

oM -

OMy;

—Fﬁiﬁfﬁ

3 1/2 2000 Counts

£ : 0V -.600V
: +1.5.+2dgts

+10°,

+5+.+3dgts

=L iER=]

A
163 x 100 x 50mm

3 210043
— 2 - ax % 4r470g
$1.5x61
(Zogts )
EREIVE M @ 18400 = FEIUREL an ke 6800 —gg—tgajg@ % : 6400
6201 j54t 6210 #5# 6212 #F A (gmmw -
AR ST
SIEEEEe SIEEEES =3%+1dgt
# 4500V : — —_— T ) - EREGD
4% | # 45000V : 0--25G 1 DY s ) S
0--200G 1t # 41000V : IS0 )~ TG
\éi s ' 0--50G 3 S - [l
—5.04;, i 5 o - SO T i~ [E5GD
FEL | =5.0visaln #ri2()50(1J\2/5.G , B L~ 150607
;ﬁ. # 410000V : Efﬂ;sogov o :;r,um\-:E IS rI\T.G{i?E
i{z 0-.400G 13 ¢ e m.m\-. I :‘:f.x..z
2 AL o - (AN RV E -
— . qedent T D i PRKE
= =5.0% sl A —3v,+3dgts SO T i~ FTRGD
=) B T~ S0
rg%ﬁ‘ — 3RS — RS BOY 5 i~ 3060
! LA ?wf."‘ih’ B TR B £ #n 2wl T 5 - 30D
E &b T ¢ &k 435009 kA TR T [ B2 R AR FLOOE 0~ BTN
= | ¥, KF 330 x 260 x 160mm ok ¥ ¢ g e3500g m.:.::-‘: u:x ||]|§i£§ - 4_3600
o o i R = BN e RN E [¢]
1L it 215X 8 f( =3 Eik) a s :330)(2?0’( oo SR ALy r 330 x 260 x 160mm
{45 :38000 1 ] g 0 1.5 x 81 (=8 i) SO i 170 1.5 x 81 = 3 i)
T4 : 40000 PR L y St
f TAOY ¢ i~ OGET 48 4 : 48000
KYORITSU 4102A I5# # 1505 1543 1520 # 5%
o, R
*ELSHE® SEZHE® SELSHL® 163 x 100 x 50mm
1R R 0 AT LA A b - paEr e A ERET IR
T ot B i 09 T Rt B TR 4 b g T e 28 28R 00 4

RS &R

AR R LI R g,
PN EoEiid- i QERRIRT

*— AT e

ik Wept E 2

12 13120 £/1200;
R 3.0 A A
B

0V-~30ACV 50-60Hz

Hx®&E0
P fich X IRES &
9|- e j— 105x 158 x 70mm
i M A 21,5 X 6 (L gty ) 4% : 14800

BEBRIEY L

10 /100“,/1000:.

AR g o 3.0 % i) A
ik A

0V ~30ACV 40-500Hz

163 100 x 50mm
15 %6 (= g )
@ M 8400

i"
sof

R R T2 09 kb

Y ol ERE

*— RIS e
ik fisde - 20 £2(0.01 £3)
200 2:(0.1 22)

2000¢:(1 ¢3)

¥z +2 0% +2dgts

3 14y 4809

iR

68




KILTER 2210 & &k KILTER 2215 & & ik
o ML - i W -
| s0c~1300% A~
53_% -58'F~1999 't -328°[-~-2498 I i
ol IPYER o JE Gt 0
g | o =0surT e Tl REL : iy s
A | b 03u42 ¢ pos i b
7¥\ AL T 1F£0.059,40.7 B seile
B ey 0.1 /17 T 0F£0.05 %414 [
t Foy 0 /1 WAL it
I 0.1
- [ T 0.2 1
A ssmix : 2mOL £ 5
=400l #~ iFif :DC60V / AC24V # :MAX DC/AC 24V
i, LS 143 x 74 x 34mm F 130 x 56 x 38mm FE23
&3 ¥ 1 kw2259 MAX :200¢/392°F 4 #1709 MAX - 200 /392 F
2310 % &t 2330 A
—REiEE o r‘,f.i-'r_.-i/ i dk WA
a5 R 5200~ s048(10) i e
kA 50dB --100dB(Med) ne e = A00 Dle=seem e
5 rice 1lux = 3999 lux  0.1fc=399.9 fc
- 80dB ~130dB( Hi ) B [ 101 ux=3900 ux 1 fc = 3999 fc oo
Z] st =1.5dB(94dB/1KHz) S i :0 --39990 lux / 0 --3999 fc -
3F | 44 :0.1dB(5 A) E 1w 3, +5dgts ' g ic.
G issE  1e(FAST ¢ 1/84% /1:%) —maE
1815 F(SLOW : 1 #+/ 1:%) 18 45| s OmRG ARt R
. :30Hz --8KHz .
G600 R b ] B000
ACTE5E ¥ » T shaf i $h R
’wt A wa.»*,{-r
e g 1OV ik
i, B 235 x 58 x 34mm
A& TF ¢ g #2209
180 K4 w s & AR Sk
Eﬁﬁfﬁﬁ‘!ﬁfﬁﬁﬁﬁﬂﬁfﬂ(‘!ﬁﬂﬁ . (ms fiff )
Y| Ml K AL 2k F LR *= i i, WS
5 - | e ss :200mv/2/20/200v
kS | G ool < 2 — ¥ ¢ 1200 £i/20K/200K £:
—_— O .0 = i § -0 ~15A
?i — ?] #i8:0~1999 x1 rpm
: ERBE ? 01999 x10 rpm
i 1 S 3] B 60 AL - a‘zamrﬂ 1%, HE | Dwell 44 :4CYL -0 ~90°
8 . 6CYL -0 ~60"
HE | 2 remgdny {ém 5 Bl 280 0, f11 BVl o it
3& 3 Tosiy AEET R iay s AR MY "T Dwell %; :0-~100%;
| 4T pm gaA RS ER 3 | meniit :0.1ms~200.0ms

18 18

5. 04 = WLED ¥

6. 4% 4 ;\,Pa‘i i

:1Hz~2000Hz
Wi, 1-207~1000 i
-0~1999 - E #

:

3000 7. £ g s r:]"s |53k % g iis 18 15 T [ = ]
8. § i k- 1 LA !i S 21999 Counts . ¢  MAX : 200 ¢/392F
. . a 9 LM RS ERCEFREF
R @ o e er asx 7538 i
i A 2 910010 & A% § 1 g #5909
4137 e A (A KILTER 370 f5#H# &k
2 (GRS S I
HEAANE B IR R IR IR
B ALJE AR B L 1% D% B N
\ o)
- oo. 3
- DC/AC 20V i‘I- G l,‘ﬁi[":" R
15x8 (2 gy ) -3__2] =0
2‘;6‘s er11950029110mm %‘ﬁ. Jié 4.% e - «
- i{tﬁ B M) LR R R
. o - 11ov1230v - iR LA A - IR i A
g igféﬁﬁi&?“ sy, Ko 2148 x 100 x 35mm
wie w\i:%-ﬁ_f{ o 18 35| Mk 1.5V x1/9Vx1
200.0ms;  100.0u ¢; 100mA 360 s e e
2000m §; ; 100mA fd A S R SRR
20.00%; 10mA
200.0%; 10mA SHREE
2000 33 1mA
% TH-05
) Digital Thermo-Hygrometer B8 =8 « BET
e (11 - ERmAE)
| wm
£ O XML TR S TR R
b= @ LS AR AT B
- ® O8nde LBE |~ Tl F (s~
5 M$L12 1 F 4§ mpm
@ TEFEWEFRCSF
B | @ o - g —
3t ® SEOEE e BT RS- -
frdsl @ KT R R SR R P0G
- @ 2o EHARY Bl

69




Mitutoyo

ARA

£ R

1044F
2046S
2048S-10
2050S
3046S
3050S
305258
3058S-19
2109S-10
2113S-10
2119S8-10
T2046
T2109

0.01 m/m
0.01 m/m
0.01 m/m
0.01 m/m
0.01 m/m
0.01 m/m
0.01 m/m
0.01 m/m
0.001 m/m
0.001 m/m
0.001 m/m
0.01 m/m
0.001 m/m

0-5 m/m
0-10 m/m
0-10 m/m
0-20 m/m
0-10 m/m
0-20 m/m
0-30 m/m
0-50 m/m
0-01 m/m
0-02 m/m
0-05 m/m
0-10 m/m
0-01 m/m

TM110

70

1.0 m/m
1.0 m/m
1.0 m/m
1.0 m/m
1.0 m/m
1.0 m/m
1.0 m/m
1.0 m/m
0.2 m/m
0.2 m/m
0.2 m/m
1.0 m/m
0.2 m/m

TM-110

B/ R
0.01 m/m

AR

10 m/m

2,380
1,380
4,090
2,460
3,930
3,850
4,740
5,070
2,650
4,110
4,260
500
1,100

B : R
Bi&
1,200



Mitutoyo 7 B i HI T8

901312 B9 o3 mim: 300 120057 < 90° ; L:5mm 4,260
900030 W, 170 120068 ") olm/m;LASmm 8,070
120047 E-{=) 1,270 120067 -2 077 g4m/m; L:15mm 8,290
120049 €38 03 m/m: 1,200 131365  : 7in @5m/m ; L:8mm 360
120051 EF5 L:15mm 1,900 101117 oo 210m/m ; L:10mm 410
137391 838 03 m/m: 1,200 120056  URZ g2m/m; L:8mm 1,480
137392 TS L:20mm 1,900 120041 7 04.3m/m ; L:5mm 4,780
120053 830 03 m/m: 1,200 120042 *| | -7 @6.5m/m ;L:10mm 5,300
120055 =5 L:25mm 1,000 120043 -V 09.5m/m ; L:10mm 6,380
101386 @5m/m ; L:5mm 270 900391 . = 1% @3m/m;L:3.7mm 660
101118 @5m/m ; L:10mm 270 101121 . RO.4 ; N:11mm 270
101387 @5m/m ; L:20mm 270 137413 ' RO.2 ; N:13mm 300
101388 @5m/m ; L:25mm 270 120066 D:00.45m/m ; N:2.5mm 3,620
101122 21.8m/m ; L:7.3mm 270 120065 .-+ R D:g1m/m ; N:2.5mm 2,540
101119 R7*D10*L5mm 270 120064 ' "7 D:gl5m/m;N:13mm 2,760
120058 R5*D5.2*L5mm 5,800 137257 D:e2m/m ; N:8mm 1,840
120059 R7*D7.5*"L10mm 6,630 120061 Raiitnd T:0.4m/m ; D:2mm 5,300
120060 R10*D10.5*L10mm 7,880 120062 .13  T:0.6m/m ; D:2mm 5,300
101120 L5mm*D10mm 270 120063 '+ = TAm/m;D:4mm 5,970
101385 L5mm*D5mm 270 901954 --u-};@jﬂ g10m/m ; L:15mm 1,840
EREE
Sfii: /
M BASE = @ 1,200
TESA BASE TESA / ETALON 1,000

71



Mitutoyo

© =R BIR R - HRRIP66 (R ESIR -
©® I BIAEAES -

@ HU—BFERRYEESHEGO -
@ ABSIg T R 724t - EIREEEE - VREIFRESE ERITRHBmR T -

500-196
500-197
500-752
500-753
500-754
500-171-20
500-172-20
500-173
500-505-10
500-506-10
500-507-10
293-805
293-815
293-240

0-6"x150m/m
0~8"x200m/m
0~6"x150m/m
8"/200m/m
12"/300m/m
0~6"x150m/m
0~8"x200m/m
0~12"x300 m/m
0~18"x450 m/m
0~24"x600 m/m
0~40"x1000 m/m
0~25 m/m

0~25 m/m / 0~1"
0~25 m/m

+0.02
+0.02
+0.02
+0.02
+0.03

+0.02
+0.02
+0.03
+0.02

0.0005"/0.01 m/m

0.0005"/0.01 m/m
0.0005" /0.01 m/m
0.0005"/0.01 m/m
0.001 m/m

5,890
5,980
7,600
9,880
15,200
7,880
10,160
17,190
38,470
41,890
75,620
5,180

0.00005"/0.001 m/m 5,180

0.001 m/m

72

7,000

ABSOLUTE

Bk, B, Tl IR IR B IP67
IP63
IP63

AN ERIEESPCIRSE

EZE :m/m
EE: N
FRaK, BHiH, IP65



Mitutoyo BE&Est

7331 7309 7321
B#41/20.01mm {7 : R EF#1E0.01mm &7 : R
B RR AIRZ i & Eha R AlRE i &
7331 0.01~10 m/m — #% A 2,380 7315 0.01~10m/m = g8 5,860
7301 0.01~10 m/m — iy B 2,380 7321 0.01~10 m/m  XZ/I20m/m 3,560
7305 0.01~20 m/m — RIS RD 5,180 7323 0.01~20 m/m  FZEI20 m/m 5,850

7309 0.01~10 m/m m e 5 4,930 7360 0.01~10m/m &l & FF 3,560
7313 0.01~10 m/m RIS 1A 4,800

pEACOCK W

TECLOCHK

SM-114
&7 : R B : R
BRaRR AlE B& BRI AIR2 &
PEACOCKG 0.01~10 m/m 2,000 SM112 0.01~10 m/m 2,000
PEACOCKH 0.01~10 m/m 2,800 SM114 0.01~10 m/m 2,800

73



Mitutoyo

IEER

=t B 52 KR

EhiRE g
530-104 6"x150 m/m  1/128'x0.05 m/m +0.05 1,700  T530-104  6"x150 m/m
530-114 8'x200 m/m  1/128"x0.05 m/m +0.05 2,300  T530-114 8"x200 m/m
530-115  12"x300 m/m  1/128"x0.05 m/m +0.08 5400  T530-115  12"x300 m/m
530-312 6"x150 m/m  0.001"x0.02m/m +0.03 1,830  T160-153  24"x600 m/m
530-118 8'x200 m/m  0.001x0.02m/m +0.03 2,530 T160-155  40"x1,000m/m
530-119  12"x300 m/m  0.001"x0.02 m/m +0.04 5,560 T160-157  60"x1,500 m/m
530-501 600 m/m 0.05m/m +0.1 17,480 T160-159  80"x2,000 m/m
530-502 1,000 m/m 0.05 m/m +0.15 34,960 T530-501A 600m/m

53035l

BEiRE
1/128x0.05 m/m
1/128x0.05 m/m
1/128x0.05 m/m
0.001"x0.02 m/m
0.001"x0.02 m/m
0.001"x0.02 m/m
0.001"x0.02 m/m

0.05m/m

&7 - 52

B&
400

600
1,000
3,000
7,000
18,000
32,000
5,000

R

FYMiERLIRE / BZ#7/2£0.001"x 0.02"'mm

160-151
160-153
160-155
160-157
160-159

N30

74

&

18"x450 m/m {TIF&100 m/m
24"x600 m/m {THER100 m/m
40"x1,000 m/m fTi=140 m/m
60"x1,500 m/m fTHE180 m/m
80"x2,000m/m /T{&180 m/m

EFREE
150 m/m ~200 m/m
300 m/m

&7 - 52
Bi&
19,280
17,760
32,680
74,190
97,850

&7 -

3,200
7,400



frR+<R 50555

B2

ShaiRat 17 & mm  {Btg
505-671 150 m/m 0.02 m/m -+0.03 3,330
505-672 200 m/m 0.02 m/m —+0.03 5,290
505-673 300 m/m 0.02m/m —+0.04 7,550
505-681 150 m/m 0.01 m/m -+0.02 3,950
505-682 200 m/m 0.01 m/m =+0.03 5,920
TESA 150 m/m 0.02 m/m 5,000
TESA 6x0.01 150 m/m 0.01 m/m 6,000

o

NJA L E 527 %gu

IRNISZ E J E

BASE100 m/m HifizE B8{i7 ' 52

ShaiRaE R & &
527-101 150 m/m 0.02 m/m 5,410
527-102 200 m/m 0.02 m/m 6,030
527-103 300 m/m 0.02 m/m 8,350
DRION6 150 m/m 0.05 m/m 1,750
DRIONS8 200 m/m 0.05 m/m 2,000
DRION12 300 m/m 0.05 m/m 4,000
T527-101 150 m/m 0.02 m/m 600
T527-102 200 m/m 0.02 m/m 1,000

T527-103 300 m/m 0.02 m/m 1,400

FREFR

BASE100 m/m FHdfiEE) B 52
ShiRE i & =L
527-301-50 150 m/m 0.05 m/m 7,980
527-302-50 200 m/m 0.05 m/m 8,480
527-303-50 300 m/m 0.05 m/m 9,480

&7 - 52
Eha R HE {E1E
PVC6 6"x150 m/m 90

75



Mitutoyo 51335l

BEToR

M 513R7% ERNEHK (ZEOE) E : Kio8 mmEERE

A : fdo4 m/m ~ 8 m/mEFEFRE,
21 m/m ~ 3 m/m;EISE

T : fIA ~ GEIEE ~ AR

513-404

&)

513-444

513-454

yﬂ

513-304G

513-284

/

A 35

04 m/m
=

TiES

ﬁi?ﬁﬁ‘

f=1ic]

BEIRE AE RS ¥R BhaiRE R ShatRst =T ShitRit &5
0.01 mm 05mm  KFE  513-424E 4,490  513-424A 4,940 513-424T 5,460
0.01 mm 0.8mm  JKPE  513-404E 3,170  513-404A 3,950 513-404T 4,440
0.01 mm 05mm EB%®  513-414E 5290  513-414A 5410 513-414T 5,520
0.01 mm 1mm ES®  513415E 5290  513-415A 5,560 513-415T 6,170
0.01 mm 15mm  JKPE  513-426E 4,780  513-426A 4,980 - -

0.002 mm 02mm  KFE  513-4056E 4,820  513-405A 5,010 513-405T 5,340
0.002 mm 0.6mm  JKFE  513-425E 5580  513-425A 6,150 - -
0.001mm  014mm JKFE  513-401E 5,780 - - - -
0.01 mm 1.6mm  RIEA  513-444E 6,460  513-444A 6,650 513-444T 7,360
0.002 mm 0.4mm  RIEE  513-445E 7,160  513-445A 7,360 513-445T 8,100
0.01 mm 0.8mm  EE®  513-4564E 4590  513-454A 4,700 513-454T 4,910
0.002 mm 02mm  EEE  513-455E 6900  513-455A 7,100 513-455T 7,490
0.01 mm 08mm  fEEE  513-284FE 5120  513-284FA 6,090 513-984F 6,200
0.01 mm 0.8mm  MEE  513-304GE 13,010 - 513-304GT 13,490
B 5133 OREMERAER (DOthail)
LY L S K &5 4
513-514 513517 <N 518-517TW ¢ 513-503 '/‘/513'501
EMd o8mmEFER TH @4mm « @8mmEFEIR « 7518 ~ [EIEL

FEIE

A ERLE] A5 EREIRE 2R EEGIRSE  EEH

0.01 mm 0.5 mm REER 513-514E 5,090 513-514T 5,890
0.01 mm 1 mm EER - - - - 513-515T 4,890
0.01 mm 0.8 mm 1SR 513-517E 4,060 - - 513-517T 4,520
0.01 mm 0.8 mm fA7KkEY  513-517WE 4,860 - - 513-517WT 5,510
0.002 mm 0.2 mm FEHERY 513-503E 5,290 - - 513-503T 5,980
0.001 mm 0.14 mm YEAERY 513-501E 5,380 - - 513-501T 6,280

76



T GIROD

9x9mm

| o8mm  900211(Length:115mm)

!

B EENERECH

953638(Length:50mm)

l 900209(Length:100mm)

ERToR

901959
(e8mm stem)

900321
25"x.5”  953639(Length:2”)
900306(Length:4”)
BhaiRE RS
953638 9x9x50 mm 570
900209 9x9x100 mm 500
953639 0.25"X0.5"x2” JHRE 570
900306 0.25”x0.5"x4” 500
900211 @8 mm,L:115mm Faky 500
901959 SEHE 7,380
900321 P EIVEIER 770
B EFI\SERAITE
g1mm ball @2 mm ball 02 mm ball(Carbide)
—— Ve e s s 1

21CZA044(L=12.8mm) 103016(L=14.7mm)
103017(L=14.7mm)

103013(L=20.9mm)
137558(L=22.3mm)
137746(L=36.8mm)
136235(L=44.5mm)

103012(L=20.9mm)

21CZA036(L=12.8mm)

103010(L=14.7mm)
103006(L=20.9mm)
137557(L=22.3mm)
129949(L=36.8mm)
136013(L=44.5mm)

G1252 0.01 0.8
G1452 001X 0.8
G1253 0.002 0.2
G1453 0.002:4 0.2
G1254 0.01 0.5
G1454 0.01& 05

=R SE iz EEH
190547 14.7 mm 730
190549 20.9 mm 730
190654 o23mm Paleosmm 2.,
190656 44.5 mm 800
190548 14.7 mm 620
190550 209mm o 620
190653 22.3 mm 620
190655 44.5 mm 690
103017 14.7 mm 270
103013 209mm  ballglmm 270
137746 36.8 mm 270

513%%l
{7 - 48

F*E ZFEE @M
28.4 12 2,920
38.2 12 3,250
28.4 12 3,450
38.2 12 4,005
28.4 36 4,600
38.2 36 5,050

902802 902804 102036 102822
o8mm o4mm
(157" DIA.) 28mm (157"DIA) ||  @8mm

.l 901916 (@8mm stem)
‘ 901917 (@8mm stem)

EREIRE g HER

901916 B RET 1,950
901917 AHIFIHT BB H4TE 1,950
902802 24 mm RET 500
902804 08 mm B 410
102036 204 mm e 210
102822 o8 mm  FRIVEESR 210
900319 FEIETE 690

23 mm ball 20.5 mm ball 20.7 mm ball

21CZA045(L=12.8mm)  190547(L=14.7mm)  190548(L=14.7mm)

103018(L=14.7mm) 190549(L=20.9mm)  190550(L=20.9mm)

103014(L=20.9mm) 190654(L=22.3mm)  190653(L=22.3mm)

137559(L=22.3mm) 190656(L=44.5mm)  190655(L=44.5mm)

137747(L=36.8mm)

136236(L=44.5mm)
SRR iz} & E=ER
136235 445mm  balleimm 200
103016 47mm 270
103012 20.9 mm 0 270
103010 14.7 mm 410
103006 200mm Lo 270
129949 36.8mm  wodloemm g,
136013 44.5 mm 300
103018 14.7 mm 270
103014 20.9 mm 270

ball 23 mm

137747 36.8 mm 270
136236 44.5 mm 270

77



Mitutoyo

57

51135

HEEPITR

Fd0.01 m/mB3 3%

&7 : 4

F40.001 m/mFx 3%

6 m/m -10 m/m

10 m/m -18.5 m/m
18 m/m -35 m/m
35 m/m -60 m/m
50 m/m -100 m/m
50 m/m -150 m/m
100 m/m -160 m/m
160 m/m -250 m/m
250 m/m -400 m/m

Mitutoyo
NCK

511-209
511-201
511-126
511-127
511-128
511-132
511-129
511-130
511-131

A% : 80 m/m  BF#TE0.025 m/m

209-101
209-103
209-105

F L
10-35 m/m
30-55 m/m
50-75 m/m

11,270
6,780
5,890
5,610
6,320
8,790
11,300
14,530
17,380

U

B : R
T =
9,780
12,160
14,340

511-211
511-204
511-171
511-172
511-173
511-174
511-175
511-176
511-177

NCK
¥8% : 0.01 m/m

78

C1
c2
C3
C4
C5
C6
C7
C8

12,030
9,480
7,380
7,480
7,840
9,780
12,060
15,010
19,090

HIZE - 75m/m

L
10-34 m/m
20-44 m/m
30-54 m/m
40-64 m/m
50-74 m/m
60-84 m/m
70-94 m/m

511-210
511-203
511-167
511-168
511-169
511-170
511-178
511-179
511-180

13,830
11,490
9,260
9,330
9,690
9,690
13,960
17,190
20,800

20935l

80-104 m/m

Efii: R

12,900
13,100
13,500
14,000
14,100
14,500
18,500
19,300



Mitutoyo
19275 BIFSE

_f

=t

]

|
=

-\g—:g

192-130
%

Z17] : No : 07GZA000

FZH : No : 07GZA002

BZHTE 0.01m/m
BRI g
192-130 0~300m/m
192-131 0~450m/m
192-132 0~600m/m
192-133 0~1000m/m
T192-104 0~600m/m A fE
T192-106 0~300m/m A fE

192%:5 R EamEET(SD)

FZENo : 07GZA032
21 7INo : 900258

BZ#10.0005" 0.01 m/m

BRaRR g
192-630 12"x300 m/m
192-631 18"x450 m/m
192-632 24"x600 m/m
192-633 40"x1000 m/m

=EEt

B - 52
&R
22,320
33,720
39,900
107,350
12,000
5,000

192-613

36,950
52,910
57,850
91,770

192%:51 e S s (HDM)

192-670

Z17] : No : 905201

BEHfiE 0.0005" 0.01 m/m {17 : 3% (SPC)
=R N S BT
192-670 12"x300 m/m 48,920
192-661 18"x450 m/m 58,610
192-672 24"x600 m/m 63,650
192-673 40"x1000 m/m 97,850

506551 RS S B 5H(H400)

Z17JNo : 900173
&7 : 57 BF##1/£0.001" 0.02 m/m
TR

B2

BRaRR g HER
506-202 6"x150 m/m 9,220
506-208 8"x200 m/m 10,900
506-205 10"x250 m/m 12,630

79



Mitutoyo SE:Et
iSEESEET(H600) 570%% BN SEET(HDS-HC)

i
o

514-103

Z|7INo : 07GZA000(600 m/m~F)
£1-7INo : 905200(1000 m/m FB)

g7 $f7Z0.001"/ 0.02 m/m B{i7 - 5% SPC#® 1m 905338 / 2m 905409 B : 5%
B R 18 £ B RR 1 1E EITE 2R
514-103 12"x300 m/m 15,670 570-312  0-12"/0-300 mm , 20,000
514-105 18"x450 m/m 29,450 570-313 0-18"/0-450 mm (())C())?r?'ISm 27,000
514-107 24"x600 m/m 35,620 570-314  0-24"/ 0-600 mm 31,000
514-109 40"x1000 m/m 89,580
T514-161(103) 12"x300 m/m A [ 3,500

19255 BINTNEEEN(HDM-A)  s005) IEAIIREEET

509-301

ZI7JNo : 900173

SPC#R 1m 905338 / 2m 905409 Bfiz 52 BFH1E0.02m/m 87 - 32
BRI g I HER R HE 2R
192-670 0-12"/0-300 mm 48,920 509-301 150 m/m 10,540
192-671 0-18"/0-450 mm 0.0005" 58,610 509-302 250 m/m 12,440
192-672 0-24"/0-600 mm  0.0lmm 63,650
192-673 0-40"/0-1000 mm 97,850

80



FORCE MEASUREMENT _
3]

MADA EETTVHELD

= -

HEsEE BGEE
FS/FB FS-1K 0-1kgf 10gf 9400
FS-2K 0-2kgf 20gf 9400
FS-3K 0-3kgf 25gf 9400
FB-5K 0-5kgf 50gf 9400
FB-10K 0-10kgf 100gf 9400
FB-20K 0-20kgf 200gf 9400
FB-30K 0-30kgf 250¢f 9400
FB-40K 0-40kgf 400gf 9400
FB-50K 0-50kgf 500gf 9400

?‘I:‘:

kg / N SHEZ| ZUEBRIEHE 10 %

BE +0.3%(ZEE)

4

EiEEnN -
¥ 3 ¥ y

A-1/S-1/SR-1 A-2/S-2 A-3/S-3 A-4/S-4 A-5/S-5 A-6/S-6
Small Hook Flat Tip Conical Tip Chisel Tip Notched Tip Extension Shaft

PSH  xmsn

Bl=#E BuliE b
PSH-100K 0-100kgf Tkgf 80000
PSH-200K 0-200kgf 2kgf 80000
PSH-300K 0-300kgf 2.5kgf 100000
PSH-1000K 0-1000N 10N 80000
PSH-2000K 0-2000N 20N 80000
PSH set PSH-3000K 0-3000N 25N 100000

B-1 B-2 B-3 B-4 B-5 B-6 B-7 B-8
Small Hook Flat Tip Conical Tip Chisel Tip  Notched Tip Extension Shaft Handies Installation Bolts

81



Mitutoyo val- S

10375 NAlDEF 193%5I E:BT\NAlIDER

%ﬁo 01 m/m

ShiaiRaE F L 11 T Eﬁmﬁﬁ ]R8 =&

193-111 0-25 m/m 4,600
103-137  0-25m/m 2um 1,740 g oo 5900
103-138  25-50 m/m +2um 2,180 193-113 50-75 m/m 7,310
103-139-10  50-75m/m +2oum 3,050 181 £0E T Eield

103-140-10  75-100 m/m +3 um 3,610
103-141-10  100-125 m/m +3 um 4,370
103-142-10  125-150 m/m +3 um 5,020
103-143-10  150-175 m/m +4 um 6,550
103-144-10 175-200 m/m +4 um 7,160 103 5“ 9"1 Jﬁ,__E (:Fﬁ)
103-145-10  200-225 m/m +4 um 7,680
103-146-10 225-250 m/m +5 um 8,280
103-147-10  250-275 m/m +5um 8,880
103-148-10 275-300 m/m +5 um 9,480
103-149 300-325 m/m +6um 10,540
103-150 325-350 m/m +6um 11,680
103-151 350-375 m/m +Hum 13,010

103-152 375-400 m/m +7um 13,960
103-153 400-425 m/m +7um 15,010
103-154 425-450 m/m +7 um 16,150

103-155  450-475m/m  +8um 17,200  FEHE0.001Tm/m 201 - 52
BRI 1R mm TR
103-166  475-500m/m  +8pm 18,240 103-129 0-25mm  +2pum 2,350
T103-137  0-25 m/mAfE 700 103-130 25-50m/m  +2um 3,310
103-255 50-75 m/m 4,530
T103-188  25-50 m/mAkE 800 103.956 5100 m/m erYE
T103-139  50-75 m/mAkE 900 103-257 100-125 m/m 5,620
T103-140  75-100 m/mARE 1,500 103-258 125150 m/m 22

82



Mitutoyo SER
10475 RN Bl EF 1M11%5 HENBIDER

BFHAE - 0.01 m/m

BFH1/Z0.01m/m 87 : A BE&mM/m x10m/m = VA
BRI & EEH BRI & EEH
104-139A 0-100 m/m 9,170 111-115 0-25 m/m 5,540
104-135A 0-150 m/m 12,440 111-116 25-50 m/m 6,320
104-136A 150-300 m/m 19,950 111117 50-75 m/m 6,890
104-142A 300-400 m/m 21,660 111-118 75-100 m/m 7,220
104-143A 400-500 m/m 25,270 111-119 100-125 m/m 8,850
104-144A 500-600 m/m 29,830 111-120 125-150 m/m 9,690
104-145A 600-700 m/m 35,340 111-121 150-175 m/m 10,540
104-146A 700-800 m/m 41,700 111-122 175-200 m/m U210
104-147A 800-900 m/m 49,110
104-148A 900-1000 m/m 57,090

112551 SR EF

10657351 EENNAIDEFR s

B##750.01 m/m S v

=R I |

112-153 0-25 m/m BIEG15° 5,540

112-154 25-50 m/m BIEG15° 6,570

112-155 50-75 m/m BIEG15° 8,150

F#Ho8m/m 112-156 75-100 m/m  EIEg15° 10,450
7 E0.01m/m EHHRIER-TITiE &5fil 52 112-201 0-25 m/m BIE&30° 4,370
SRR 7 g gl 112-202 25-50 m/m AIE630° 4,990
102-450 0-25 m/m 5,270 112-203 50-75 m/m BI5630° 6,180
102-451 25-50 m/m 5,960 112-204 75-100 m/m  AIFG30° 7,840

83



Mitutoyo [
11555 BIEN Bl EF 117%5| BEET\ZEF

Mitutoyo

. EARRIE RIS

BFAE : 0.01 m/m 557 ;52 (201217) (201216)
ERRYE BB #3(for 25mm) e 6.35
115-115 0-25m/m =R 3,550 U (201379) A

115-116 25-50m/m R 4,010 wolfor Somm) v

115-117 50-75m/m =R 4,450 R

115-118 75-100m/m R 4,760  ERHE0.01m/m =Y vk
115-215 0-25m/m ¥R 3,790 TEGREE 1018 Af 2
115-216 25-50m/m R 4260  117-101 0-25m/m 591218 6,300
115-217 50-75m/m R 4,670 prE——— 25.-50mim 201218 7,260
115-218 75-100m/m R 4,990 Gl

115751 AIEN A EF 118 %51 UBIN Bl ER

EFAE : 0.01 m/m 5 : 52 E#AE  0.01 m/m 8%
SRR R g iEn M ShEiRE ]R8 R
115-302  0-25 m/m Blihe1.8m/mx8m/m 4,010 118-101 0-25 m/m 100 m/m 5,540
115-303  25-50 m/m Blihe1.8m/mx8m/m 5,070 118-102 0-25 m/m F150 m/m 5,770
115-308  0-25 m/m Blihe3.5m/mx6ém/m 4,010 118-103 0-25 m/m %300 m/m 10,160
115-309  25-50 m/m Blihe3.5m/mx6ém/m 5,070 118-110 25-50 m/m %150 m/m 8,340
115-315  0-25m/m @4.7m/mx12.7m/m 4,260 118-114 0-25 m/m FE150 m/m &R 6,790
115-316 0-25 m/m @8m/mx9m/m 4,260 116-118 0-25 m/m FE150 m/m ¥R 6,920

84



Mitutoyo SER

126 %5 IR D EF 120535 FEDEFR

Mitutoyo

BIGS2E EZ41E0.01 m/m E5fi7 : 32
fZ47E0.01m/m &5fi7 : 32 BRI R & 158 =%
TR 1948 ST 128-101  0-25m/m  63.5x16m/m 4,740
126-125 0-25m/m 10,640 128-102  0-25m/m  101.6x16m/m 5,360
126-126 25-50m/m 14,060 129-109  0-50m/m  63.5x16m/m 2 5,520
126-127 50-75m/m 15,770 129-113  0-50m/m 101.6x16m/m 2 6,230
126-128 75-100m/m 17,570 129-110  0-75m/m  63.5x16m/m 3 5,700
126-129 100-125m/m 19,190 129-114  0-75m/m 101.6x16m/m 3 6,320
126-130 125-150m/m 20,610 129-111  0-100m/m 63.5x16m/m 4 5,770
126-131 150-175m/m 19,380 129-115  0-100m/m 101.6x16m/m 4 6,420
126-132 175-200m/m 20,520 129-112  0-150m/m 63.5x16m/m 6 7,040
. . 129-116  0-150m/m 101.6x16m/m 6 7,600
u@ﬁ‘ﬂ;ﬂ“ﬁﬁ ¢ “:\_/E]:H:U ’(><(HEH:U 75 | zﬁ*ﬁ ﬂf“_{’:ﬂ“/}jﬂ%g
600 oPCS/SET 1467ﬁ§.| / = 1II/\ 1
ShiEiRIE A& T
126-801 0.4-0.5m/m 64-48TPI 1,970
126-802 0.6-0.9m/m 44-28TPI 1,970
126-803 1-1.75m/m 24-14TPI 1,970
126-804 2-3m/m 13-9TPI 1,970
126-805 3.5-5m/m  8-5TPI 1,970
126-806 5.5-7m/m  4.5-3.5TPI 1,970
126-800 126-801~126-806 & 12,060
5 ey R e
ShERIE RAR & -
126-811 60-48TPI 1,970
126-812 48-40TPI 1,970
126-813 40-32TPI 1,970
126-814 32-24TPI 1,970 Alike12.7m/m 3T : 146-101 ElfG06.35m/m
126-815 24-18TPI 1,970 BE#1/EZ0.01 m/m Sfi7 ;32
126-816 18-14TPI 1,970 EAEEE S48 E:l]
126-817 14-10TP!I 1,070  146-121 0-25 m/m 1.6-26.5 m/m 7,680
126-818 10-7TPI 1,070  146-122 0-25 m/m 1.6-26.5 m/m 9,220
126-819 7-4.5TPI 1,070  146-123 25-50m/m  26.5-51.5m/m 9,220
126-820 4.5-3.5TPI 1,070 146124 50-75m/m  51.5-76.5m/m 10,260
126-810 126-811~126-820 A& 20,140  146-125 75-100m/m  76.5-101.5m/m 10,260

85



Mitutoyo

122%:5| &

T

NABEFR

BEF

123%5| BEI\NBIDER

r"
.r'.I H

Mitutoyo

ok’ BFH1E : 0.01 m/m 872
EFtRE : 0.01 m/m 52 ER

B 15 Al 123-101 0-25mim EIie20m/m 7,000
122-101  0-25m/m  8Ifit0.75x6m/m 8,090  123-102  25-50m/m  Alifie20m/m 7,990
122-102  25-50m/m  AIfit0.75x6m/m 8,440 123-103  50-75m/m  AIfiG20m/m 9,000
122-103  50-75m/m  jIf0.75x6m/m 9140 123-104  75-100m/m EtiG20m/m 10,070
12251025 OO i R4 00X SRV 9590  123-105  100-125m/m Eff@30m/m 11,110
122-105 100-125m/m RIEH0.75x6m/m 13,390 123-106  125-150m/m Hlffie30m/m 11,870
122106 125-150m/m €IFE0.75x6m/m 14,150 123107  150-175m/m #lfke30m/m 13,200
122-107  150-175m/m 8Ifitf0.75x6m/m 15290 123-108  175-200m/m #litie30m/m 14,060
122-108  175-200m/m fY§H0.75x6m/m 16,810 123-109  200-225m/m HMfie30m/m 13,960
122-111  0-25m/m  3IfK0.4x6m/m 8490  123-110  225-250m/m AIfiG30m/m 14,530
122-112  25-50m/m  8Ifi0.4x6m/m 9140 123-111  250-275m/m Hlit30M/M 15,200
122-161  0-25m/m  SSEMAIEHO.75x6m/m 10,070 123412 275-300m/m Elffe30m/m 15,770
122-162 25-50m/m  $5§fi8I%K0.75x6m/m 10,730

122-141  0-25m/m 1538 :81540.4x6m/m 9,880 T/ B3

122-142  25-50m/m  5#HEITE0.4x6m/m 13,770 137551 IRANAIZER

122%5) WERE R N Al E-R(SPC)

SESPCHR

1m 937387 1,790

2m 965013 2,250

BthE : 0.001 m/m =L IV
ShaiRIE RO’ £
422-230 0-25m/m  :BJ60.75x6m/m 23560 ERITE :0.01 m/m 57 2
422-231 25-50m/m :BI%50.75x6m/m 25,560 =hEREE  IREm/m IERIRRE B2
422-232 50-75m/m :BI%50.75x6m/m 26,690 137-011  50-63 - 4,000
422-233 75-100m/m :AI%50.75x6m/m 27,830 137-201 50-150 13,25,50 6,930
422-260 0-25m/m  :BI%50.4x6m/m 23,940 137-202 50-300 13,25,50x2,100 8,500
422-261 25-50m/m BI%50.4x6m/m 26,120 137-203 50-500 13,25,50x2,100,200 10,740
422-270 0-25m/m  35iffi:B1950.75x6m/m 24,890 137-204 50-1000 13,25,50x2,100,200x2,300 13,870
422-271 0-25m/m  $5if:R1150.4x6m/m 25,270 137-205 50-1500 13,25,50x2,100,200x3,300x2 17,290

86



Mitutoyo S EE

%51 RINAA
14533 RINNBIDEFR 149 %51 DE-ETE

150

B#4120.01m/m B2
ERAIRE g 2R

145-185 5-30m/m 6,130 F##148 F# 5p3.5m/m ~ 149/150 % 51p6.35m/m By 52
145-186 25-50m/m 6,770 kR A £
145-187 50-75m/m 8,950 148-201 BIBhTFEEO0-6.5m/m ER4TE0.01m/m 2,030
145-188 75-100m/m 9,280 148-205 BIPKRE0-6.5m/m  ER47E0.01m/m 1,900
145-189 100-125m/m 10,730 148-104 BIBHERO-13m/m B4 £0.01m/m 2,030
145-190 125-150m/m 13,110 148-801 BIBSRED-13m/m  #R47E0.01m/m 1,990
145-191 150-175m/m 13,580 149-132 ABLFEEO-15m/m BE#7E0.01m/m 2,020
145-192 175-200m/m 14,250 149-801 BIBSRED-15m/m  #R47E0.01m/m 2,200
145-217 200-225m/m 14,820 150-192 BIBhERO0-25m/m  BR4TE0.01m/m 1,720
T145-185 5-30m/m A& 2,000 150-190 BIBhEEO0-25m/m ER4E0.001m/m 2,790
T145-186 25-50m/m A 2,000 T150-192 BIphTFm0-26m/m BRTE0.01m/mARE 600

13375 EEENAIZER 15645 23 [E-EEE
—— -

133-143 133-144

133-146

133-150

BRH7E0.01m/m 7 ¢ 32
ShatRat g
133-143 50-75m/m 3,490
133-144 75-100m/m 3,580
133-145 100-125m/m 3,620 o
133-146 125-150m/m 3,730 S ==
133-147 150-175m/m 3,790 iR Kt 3
133-148 175-200m/m 3950 1207101 15-100m/m 2310
133-149 200-225m/m 4,120 H19A 15-100 mmS % 900

87



Mitutoyo S EE

36875 = BRI A=

368-174
368-001 368-168 368-170

EE:U=EN Sy 2 SRR B 52
ShaiRaE HEsE BHE \E £ W SR HEHE FBRE W& T
368-001 2-2.5mm E— 45,990 368-169 40-50mm 19,300
368-002 2.5-3mm Afsm 45990 368-170 50-63mm apfsm 20,800
368-003 3-4mm 0.001mm  Tmm= 37,260 368-171 62-756mm  0.005mm == 20,300
368-004 4-5mm omm 37,260 368-172 75-88mm 0.3mm 21,300
368-005 5-6mm 37,260 368-173 87-100mm 21,300
368-101-10 6-8mm Al 15,840 368-174  100-125mm 33,120
368-102-10  8-10mm 0.001mm  Tmmz= 15,840 368-175  125-150mm 35,820
368-103-10  10-12mm 2mm 15840 368-176  150-175mm 38,610
368-164 12-16mm 16,560 368-177  175-200mm AIRGEE 41,400
368-165 16-20mm 16,560 368-178  200-225mm  0.005mm jﬁfﬂ 45,810
368-166 20-25mm AIFsE 17,280 368-179  225-250mm 48,690
368-167 25-30mm 0.006mm FE@EE 17,280 368-180  250-275mm 51,390
368-168 30-40mm 0.3mm 48 400 368-181  275-300mm 54,180
T368-107 25-30mm 12,000  T368-139 40-50mm 14,000

368-906 368-907 368-901-10

BGIRE  ERE  FENE SRR AERCE

368-906 2-3mm 91,800 368-912 12-20mm 33,120
368-907 3-6mm 0.001mm 110,700 368-913 20-50mm 0.005mm 63,540
368-901-10 6-12mm 47,340 368-914 50-100mm 90,900
TESA368A 11-20mm  3pcsHiiEifg 28,000 368-915 100-200mm 148,500
TESA368 20-40mm  4pcsHitEiRx2 40,000

88



Mitutoyo SER

368%5 = EHN RIS

368-770

368-774

B2
=hiRiE AERE  BFIRE st EhERIE  AIERE BERE filmst EEE
368-764 12-16mm HRRMTEZ 13,320 368-773  87-100mm  0.005mm msees~mzssmm 16,740
368-765 16-20mm 2.6mm 13,320 368-774 100-125mm 28,710
368-766 ~ 20-25mm  0.005mm prmTEz 13,770  368-775 125-150mm  0.005mm 30,600
368-767 25-30mm 3.4mm 13770 368-776 150-175mm 33,120
368-768  30-40mm 14,600  368-777 175-200mm 34,110
368-769 40-50mm 14,800  368-778 200-225mm EREBTEZE 36,630
368770 50-63mm o gpeves 15080 368779 225-250mm 0005mm 19°™™ 38970
368-771 62-75mm 3.4mm 15,030  368-780 250-275mm 41,130
368-772 75-88mm 15,660  368-781 275-300mm 43,290

368%5I = #HT\AEBlnles1E

368-991 368-993
BRI A ZESEE R 1 W ERGIRE A ZESEE
368-991 12-20mm 0.005mm 26,550  368-993 50-100mm 0.005mm 85,860
368-992 20-50mm 57,330  368-994 100-200mm 189,900

=R\ Al S E @A R

S
m NWU
952623
BHARE 1 Ag EEH W ERERE 1 Ag EEH
952322 6-12mm#A L100mm 3680 952622 20-50mm A L150mm 3,910
952621 12-20mmA L150mm 3450 952623 50-300mmA3 L150mm 6,210

89



SEEAER Miwoyo BEEDER

IV |
SRR g E-TI |
180-907 12"x300 m/m 8,930 o] ERsEE w|IE
RSK 300 m/m 7,000 = 187-901 150/300mm 14,630
YT Yar = S I BN
52 ER
Reticles
- 183-201 ;
183-105
183-202 : -
u 4 “J _ 183-203 oo s
155E 50 - O[sREED =tV 183-112 1aa-;;a 183-114 183-11 =tV
ShaRIE 1RE EE W ENRE g =T | ESNEE B &%
183-101 8x 3,040 183102  No:1 900 183109  No:8 900
183-121 9 4,270 183103  No:2 900 183110  No:9 900
183-131 10y, 4,550 183104  No:3 900  183-111 No :10 900
183-201 25y 2,850 183105  No:4 900 183-112  No:11 900
183-202 25y 6,610 183106  No:5 900 183-113  No:12 900
183-203 50y, 7,790 183107 No:6 9oo 183-114  No:13 900
183108  No:7 183115 No :14 900

DN ﬁiUC

y <
pS

EERREAEET, Eii: R

183-301 7x 1,130 AzE =7 R
183-302 10 1,280 [EACICER

183-303 15y, 1,550  A30B A30-1 1" 6 600
950757 BRERSS (=) 2290 A31B A31fdtEst 1" 6 1,000

90



WEZER  Mityo  FEERIER

950 %5

BRI g

950-211 100 m/m 730

950-212 150 m/m 810

950-213 200 m/m 880  THIYCERIRF &7 - #
R6 5% 150 m/m 250 EhaiRE g

R8 5%200 m/m 280 516-103-10 10/ EFMWMR/0 R 12,780

516-101-10 10/ EFMmMR1 iR 9,810

BENFIR

950 %3

IR

&
0% >
%G §
== sl g
= AR e Nominal size
950-221 100 m/m 730
950-222 150 m/m 810
950-223 200 m/m 880
Y6 S5%150 m/m 250 oEEREDTaJISIER ASHEREEGEE
Y8 559200 m/m 280

i=E ot Bhiwx AR ou | BEER SRR 2@
ﬁ._yr_'. 611506-021 05m/m 2,820 611625021 15m/m 3,210

611611-021 1m/m 1920 611626-021 16 m/m 3,330

950 %% 611612021 2mim 1870 611627021 17mm 3370
611613021 3mm 2010 611628-021 18mm 3410
, 611614021 4mim 2060 611620021 19mim 3,450

611615-021 5m/m 2,060 611672-021 20m/m 3,450
611616-021 6m/m 2530 611631-021 21 m/m 3,640
. 611617-021  7m/m 2530 611632-021 22m/m 3,680
N 611618-021 8m/m 2560 611633-021 23m/m 3,680
611619-021 9m/m 2,600 611634-021 24 m/m 3,680

=TT preyen E Ty 611635021 25mim 3,720
950-231 100 m/m 730 611671021 10mm 2600 611673-021 30mm 4,220
950-232 150 m/m g10 611621021 11mm 3080 611755021 35m/m 4480
950-233 200 m/m 880  611622:021 12mm 3110 611674-021 40m/m 4,660
16 &850 m/m o50  611623-021 13mim 38150 611756-021 45m/m 4,480
18 5200 m/m 280  611624-021 14mm 3210 611675-:021 50mim 5250

91



fHYTIRAR

| GAUGE BLOCK SET TABLE |

&7 - 4
BRaRR AT B
T516-101 10A 1,125,15,2,3,5,10,15,20,25 5,000
T516-967 32K 1.005, 1.01-1.09,1.1-1.9,1-9, 10-30, 50 6,000
T516-959 4A7H 1.005, 1.01-1.09, 1.1-1.9, 1-24 , 25-100 8,600
T516-947 87K/ 1.001-1.009, 1.01-1.49, 5-24.5 , 25-100 14,000
T516-943 103+ 1.005, 1.01-1.49, 5-24.5 , 25-100 17,000

T516-939 112/ 0.5,1.0,1.005, 1.001-1.009, 1.01-1.49, 5-24.5,25-100 19,000
T516-703 8~ 125,150, 175,200, 250, 300, 400, 500 56,000

VA D A CL e

oo _Li

Fr e

Sk 18 it SR 18 pid Sk 118 e
T516005 0.5mm 2,000 T51605 5.0mm 1,200 T516175 17.5mm 2,000
T51601 1.0mm 2,000 T516055 5.5mm 1,200 T51618 18mm 2,000
T516011 1.1mm 2,000 T51606 6.0mm 1,200 T51619 19mm 2,000
1516012 1.2mm 2,000 T516065 6.5mm 1,200 151620 20mm 2,000
T516013 1.3mm 2,000 T51607 7.0mm 1,200 T51621 21mm 2,000
T516014 1.4mm 2,000 T516075 7.5mm 1,200 751622 22mm 2,000
1516015 1.5mm 2,000 T51608 8.0mm 1,200 151623 23mm 2,000
T516016 1.6mm 2,000 T516085 8.5mm 1,200 T51624 24mm 2,000
T516017 1.7mm 2,000 T51609 9.0mm 1,200 T51625 25mm 2,000
1516018 1.8mm 2,000 T516095 9.5mm 1,200 T51630 30mm 2,500
7516019 1.9mm 2,000 751610 10mm 1,200 T51640 40mm 3,000
T51602 2mm 1,200 7516105 10.5mm 1,500 T51650 50mm 3,000
T516021 2.1mm 1,200 T51611 11mm 1,500 T51660 60mm 4,000
T516022 2.2mm 1,200 T516115 11.5mm 1,500 T51670 70mm 4,000
T516023 2.3mm 1,200 T51612 12mm 1,500 T51680 80mm 4,000
1516024 2.4mm 1,200 1516125 12.5mm 1,500 T51690 90mm 4,000
T516025 2.5mm 1,200 T51613 13mm 1,500 T516100 100mm 4,000
T516026 2.6mm 1,200 T516135 13.5mm 1,500 T516125 125mm 6,000
1516027 2.7mm 1,200 T51614 14mm 1,500 T516150 150mm 6,000
T516028 2.8mm 1,200 T516145 14.5mm 1,500 T516175 175mm 6,400
T516029 2.9mm 1,200 T51615 15mm 1,500 T516200 200mm 7,600
T51603 3.0mm 1,200 1516155 16.5mm 2,000 T516250 250mm 8,400
T516035 3.5mm 1,200 T51616 16mm 2,000 T516300 300mm 10,500
T51604 4.0mm 1,200 T516165 16.5mm 2,000 T516400 400mm 13,200
T516045 4.5mm 1,200 T51617 17mm 2,000 T516500 500mm 15,500

92



FSK RIS IR K RS

ShidRaE 1Rig BE g
FSKFL4 100 m/m 0.02 m/m 7,600
FSKFL6 150 m/m 0.02 m/m 7,600
FSKFL8 200 m/m 0.02 m/m 8,800
FSKFL10 250 m/m 0.02 m/m 10,800
FSKFL12 300 m/m 0.02 m/m 11,600
FSKFL18 450 m/m 0.02 m/m 21,800
FSKFL24 600m/m 0.02 m/m 26,800

FSK HRITS K ERS

V=i
ShiaiRaE 1RE =BE g
FSKSQ4 100 m/m 0.02m/m 11,600
FSKSQ6 150 m/m 0.02m/m 12,600

FSKSQ8 200 m/m 0.02m/m 16,000
FSKSQ10 250 m/m 0.02m/m 19,000
FSKSQ12 300 m/m 0.02m/m 24,000

S W
&(m/m) BB{if g
20x30x15 =)
(EHR) = 1,820
30x43x12 -
(51BERR) = 330
B
SR
=R ] g B1g
SK90* H4" SK” 90" 1,280

93



= |
SRR i p: U=y

LINES IMADA YcEZEEMA 99999 r.p.m. 15,000
LINE TM-5010E Y¢EEEBMIFAE 99999 r.p.m. 13,000

rEcl8ck  BFETTI\@EEET

SR

OH H 0-10000 rpm 5, 800
oL L 0-1000 rpm 7,600
OHL HL 0-10000-1000 rpm 9,600

SR

ShimaE BN EAE Big
KR14A AEY — e 7,260
KR11A cw EVAGHS « BRE1%E2 10,560
GS701 GS701 EVAgHE -~ BRES1RE 11,800
GS702  GS702 RS 1B 11,800
GS706  GS706 — AR 9,200

94



IEIRERE i c| ERE IV I Sl

EhE R g EA{if HE WX EREIRE bR EA{i7 E1E
KMS314 MS-3:1:4 K-\ 4200 3,355 KBM314 BM-3:1:4 RS 5,170
KMS315 MS-3:1:5 K i 4,400 3,355 KBM315 BM-3:1:5 DRAN1S 5,170

KMS3104 MS-3:10:4 K +§5 4,200 3,355 KBM3104 BM-3:10:4 LDRAN15 5,170
KMS3105 MS-3:10:5 K5 4,400 3,355 KBM3105 BM-3:10:5 SR 15 5,170

xRS GIEUEENRES

B20S MilkyWay

TM-201M

Eh(—R) =]
SRS BRI W3he g Bz @R
B20S TYKYO B20-S R 6,400
TY 5 97.10 1,900 1,815 B20S1 MILKY way WM-130 2R 3,600
™ X 106.20 1,900 1,815 TN201M TYKYO NIHOS TN-201M &R 6,400

95



A ERLE A E i3 HBEE A& {E4& 10m/mE

0-10 1-15 ARl B 50 m/m RIEHE R 1,980
0-10 1-15 [SErdid] 50 m/m EEYIER 2,320
0-10 1-15 ARl B 50 m/m BIAAR 2,640
0-10 1-15 AR B 50 m/m BIAAR 8,140

0-10 1-15 ARl B 50 m/m ERHEO R 3,520

®

540
550
800

2B

W] MPG.COLTD,
MANE e LAk ang

E7 R Eala
ik ) W EEEE B/ B ®  EKE)
528 KLB4 LB-207-4 540 528
528 KLB5 LB-207-5 550 528
KLB6 LB-207-6 800 770

15T B

g

SR
SRR WEh3 s B
FH102 A4 i 440
FH102P =k B B 645

96



HESET =2 SHEES

d

MiLky way

51 #a% =02 FRATEER =67 R
EhE R BhE IR & BRaRR BhE IR B&
TRS4 MILKY way RS-4 200 TH102PT MILKY way (D) 200
TRS5 MILKY way RS-5 200 TH102P MILKY way (ZBRBEE) 180
TRS6 MILKY way RS-6 440 TH102 MILKY way (§::420)] 170
TLB4 MILKY way LB-4 200
TLB5 MILKY way LB-5 200
TRS5-0 MILKY way RS-5iZ#2EFE 240
TLB5-0 MILKY way LB-51Z##875E 240

97



e /)

Z]AN

JIS 14§ EC T
TR 918 =xExB DDIER AAS(T
DD75RSK 75 m/m 75x50x3 3,000 3,300
DD100RSK 100 m/m 100x70x4 3,600 3,560
DD125RSK 125 m/m 125x80x4 3,900 3,960
DD150RSK 150 m/m 150x100x5 4,500 4,200
DD200RSK 200 m/m 200x130x6 6,000 5,360
DD250RSK 250 m/m 250x165x6 7,700 6,800
DD300RSK 300 m/m 300x200x6 9,500 8,600
DIN 875 1§ E i
TRERE B B\E A
400F01/03 75x50x5mm 1,100 1,600
400F01/04 100x70x5mm 1,440 1,800
400F01/05 125x100x6mm 2,000
400F01/06 150x100x6mm 1,600 2,400
400F01/08 200x130x6mm 1,920 3,000
400F01/10 250x200x8mm 2,600 5,000
400F01/12 300x200x8mm 4,200 7,000
400F01/16 400x265x10mm 11,600
400F01/20 500x330x10mm 14,000
DIN 875 004k
BIIEEER =
ExEEEEmm  (Eig
400FGHO02 50x40x4 2,600
400FGHO03 75x50x4 3,000 1,600
400FGHO04 100x70x5 3,500 1,800
400FGHO05 125x100x6 2,000
400FGHO6 150x100x6 4,400 2,400
400FGHO08 200x130x7 6,600 3,000
250x200x8 5,000
300x200x8 7,000
18R
e /JOsR =i
TRERE 1248 B0k ®ig
TT4 100x70 400

98



ETwip
TSR B 1218 g
NO101 T-101 SRRy 1,000
NO102  T-102  EESGRUNEEERE 1,700
NO103  T-103 —E—49A 1,700
NO103A T-103A HEER 1,700
(o R
FAR%Y .-
‘3
.8 T ks 1R Bi%
‘ SH300200 SHINWA 300x200m 300
£ SH600400 SHINWA  600x400m 900
T300200 =Fo 300x200 m/m 100
, T600400 a& 600x400 m/m 200
. Ax]
iss =z AN
4
A3Y
T
TRIRE BBE Biss Bzl
ISS3 75x50 445
1ISS4 100x70 525 200
ISS5 125x80 535 250
ISS6 150x100 655 300
ISS8 200x115 855 400
ISS10 250x125 965 500
ISS12 300x150 1,200 600
ISS14 350x180 2,400
ISS16 400x200 2,700
ISS18 450x225 3,000
1ISS20 500x255 3,700
1ISS24 600x330 4,800
ISS36 900x380 18,000

99



B B3

EhSRE S
YC30A 30m/R 280
YC50A 50m/R 360
FET =670
=R g BiE
YC30AS 30m/R 400
YC50AS 50m/R 500
YC100AS 100m/R 1,000

A S

SR
ShidRaE 1R =i
KMC 50M 50m 1,200
KMC 100M 100m 2,000
. J [
S
F e T e s ] ShidRaE bl 1R A
10405 [E=/J0/<—500m) MGG SHinwa#8sE  cm/iR 840
R MGH SHinwa EE& Ehficm 840
Y A ¢ MGH1 SHinwa FhEm/R 900
ot ol g s E ! MGL A+ _EE Z=Tom/R 450
' - MGT 58 _mEE cm/R 220
t MGT1 AER_EE m/RER 400
;1 SH1000600 SHinwa 1,000x600 3,600
i SH1000600 SHinwa m/R 3,600
HOL6001000 5% _EEE m/R 2,400

100



852 Sfirs2
EhaiRE Rig ShinwaggEl EK#HH BhaiRE RS ShinwafZH EK#HEHE
SH6 6" x150 120 80 SH150 150 m/m 120 80
SH12 12" x300 200 130 SH300 300 m/m 200 130
SH24 24" x600 500 400 SH600 600 m/m 500 400
SH36 36" x1000 840 600 SH1000 1,000 m/m 840 600
SH60 60" x1500 3,600 3,200 SH1500 1,500 m/m 3,600 3,200
SH78 78" x2000 5,000 4,000 SH2000 2,000 m/m 5,000 4,000
SH118 118" x3000 12,000 SH3000 3,000 m/m 12,000
2D SRE#HR
OxIEE
T,""ii"' il l il U-lll‘l'll’llll |I"'|IIU-NM4¢“P“l«HIIIIII ||||I| ||||i|I|[|||| |||| I ||I|l|||||r'||| [T ITEL |ilil i_l|_.|
! 1 . 33 5 8 9 """“@10 1|1 o 120
IR, ||||i|u||||| ||||lﬁ'§m|n| ||||||'|||||||H|||| '1*|||||11| T
¢ ;fu_v‘ﬁ'&;;{ WESREEE W3S X% K 8 STSesseweuns s
Sy 2 il sl ot s fdmsemes B O
ISR b B @ s mammmesmsEs
FE-T IR TR 420# BB EETR B{insz
BhaiRE 1R EhaiRE =E
HOL 36 6" x150 30 30 HOL 46 6" x150 24
HOL 312 12" x300 76 76 HOL 412 12" x300 50
HOL 324 24" x600 180 180 HOL 424 24" x600 180
HOL 336 40" x1000 300 300 HOL 436 40" x1000 240
HOL 360 60" x1500 2200
HOL 380 80" x2000 2600
VTR
.\‘j.. i
Gk 5
LR, [}
¥
‘_‘ »
85z
BhaiRE RS ki
YCK®6 1m//R 240



E v
SRR 1RE {E4& m/IY
KDS11 1m {JiHi# 160
KDS2131 2mx13 m/m 240
KDS35161 3.5mx16 m/m 300 300
KDS55161 5.5mx16 m/m 380 380
KDS55191 5.5mx19 m/m 420 420
KDS55193 5.5mx19 ¥ 440
KDS75251 7.5mx25 m/m 600 600
KDS75253 7.5mx25 Wi 600 600
KDS10251 10mx25 m/m 1,000

BirR
SRR 1Rg m/m m/[IY
KDS101 10m 600 600
KDS102 20m 800 800
KDS103 30m 900 900
BinR
ShiiRaE 1R i
KDS1M im 200
KDS2M 2m 240
KDS5M 5m 520
REeEEfER
-
T IEIEB i
SR
SRR 1R g
KDS307 30 mx 13 m/m 2,700
KDS507 50 m x 13 m/m 3,200

102



Tauima I ESIAN

S
B R HE m/[Iy
TOP2 2mx13 m/m 180
TOP36 3.6mx13 m/m 300
TOP513 5mx13 m/m 350
iR
BRaRR g m/lg-m/R m/Xa =R
YC11 1M 46
YC5131 5mx13 80
YC5161 5mx16 90
YC5191 5mx19 110 110 110
YC65195 6.5mx19 140
YC75191  7.5mx19 180 180 180
YC75251  7.5mx25 200 200 200

SR
ShathRat m/Id ~m/R m/3Z3 =HMA
KM5161 5mx16 90
KM5191 5mx19 110 110 110
KM75191 7.5mx19 180 180 180
KM75251 7.5mx25 200 200 200
KM10252 10mx25 400 400

103



ol
i 15 E Taper Gauge

Bl
ik B AR =18
SK15 1-15 m/m 700A 520
SK30 15-30 m/m 700B 900
SK45 30-45 m/m 700C 1,160
SK270A mR0.3-4 m/m 1,700
SK270B mtk0.4-6 m/m 700C 1,900

EF”D,\%E Center Gauge

Eu:hk
55” 55° T, 530 140
60" XKI\ 530 140

Eﬁaﬂﬂ:iﬁ Screw Thread Gauge

g

g0 P T
) QIW‘N%”'?%
SMADE IN JAPAN \
| i -
Bl e 8 e 8 TiEE Al 8% 3
o . 29 29" mif 1,480 600
30 30° A1 1,480 600
ﬂ iﬁ, Screw Pitch Gauge
67 : 48
BHi
137 301A 4~62 m/m 340 170
156 301C 0.25~6.0 m/m 340 170
T137156 m/m, [ 300

104



(A NS

B
= f i 5% ot g B 1
SH180 SHINWA FH = 320
YCK180 8% pye = 120

= Efﬁ Angle.Duge.

B - #
=i 5% g HE =F-
466 1°-45° 3,000 1,500

-
-?3—:- HH%E Involude Gear Tooth Gauges

T
sz B 1B mE B
DP145S DP141/2° 6~80 14 2,160
DP20S v DP20° 6~18 8 3,160
MP145S - MP141/2° 0.5~5.0 13 2,160
MP20S = MP20° 0.5~5.0 13 3,160
DP145L DP141/2° 2~5 7 4,320
DP20L X DP20° 2~5 7 6,400
MP145L - MP141/2° 6.0~12 7 4,320
MP20L = MP20° 6.0~12 7 6,400

105



’%;giﬁ, Radius Gauge

A& 50 8

Lo # 1A =18
178 MA 1~7 m/m 34K 770
178 MB 75~15 m/m 32K 980
178 MC 16.0~23 m/m 16K 5,000
178 MD 240~30 m/m 14K 5,700
178 ME 31.0~40 m/m 20K 12,000
178 MF 41~50 m/m 10K 23,400

%}%ﬂq B :

=T i 18 &g
272 MA 0.75~5 m/m 18K 770
272 MB 5.5~13 m/m 16K 980
272 MC 13.0~22 m/m 10K 5,000
272 MD 23.0~30 m/m 8K 5,700
272 ME 31.0~40 mm 10K 12,000
272 MF 41~50 m/m 10K 23,400
%FE E iﬁ.

VI
=5 A 18 &g
TWG1 1,700

| =Fii) E iﬁ’
152,

VI
=5 A 218 &g
L300MX 0.5~13 26K 3,200
L300MXA 0.5~13(8) 265 1,600

106



BE3ZPIN GAUGE

BEE0.0OTmmBEE
BiEmm R~ £Emm BiEEE HEE/ERE B OE

0.05...0.09 0.1 5-10 *0.5 #m 0.5 #mELA HRC48
0.10...0.19 0.1 20 *0.5 i#m 0.5 #mELA HRC48
0.20...0.99 0.1 40 1 #m 1 #mBA HRC60
1.00...3.999 0.001 50 *1 #m 1 #mBIA HRC60
4.00...9.995 0.005 50 1 um 1 #mBIA HRC60
10.00...20.00 0.01 50 *1.5 i#m 1.5 #mBLRI HRC60

0.01/3% 0.025/57 0.001/3¢ O.ng:i/ﬁﬁ
- 0.05 4520 4520 8300
0.06 - 0.10 2000 2000 8300 3000
0.11 - 0.19 1600 1600 4840 2360
0.20 - 0.29 9200 900 2260 1600
0.30 - 0.99 700 700 1660 1000
1.00 - 6.00 600 600 1100 840
6.01 - 10.00 760 760 1600 1000
10.01 - 12.00 960 960 2300 2200
12.01 - 13.00 960 960 2300 2400
13.01 - 15.00 1180 1180 2600 3160
15.01 - 17.00 1340 1340 2600 3200
17.01 - 20.00 1800 1800 2840 3800
20.01 - 21.00 2840 3770 3320
21.01 - 22.00 3200 4700 4150
22.01 - 23.00 3860 5650 4980
23.01 - 24.00 4400 6560 6160
24.01 - 25.00 5200 7540 6640
25.01 - 26.00 5580 8160 7200
26.01 - 27.00 6300 8800 7750
27.01 - 28.00 6960 9740 8570
28.01 - 29.00 7640 10700 9400
29.01 - 30.00 8300 11600 10140

0.01/ 5% 0.01/ 5%

0.50-0.99 3160 3700
1.00-2.99 2700 2920
5 E/=0.025mm 1
3.00-4.99 3160 3150 BERE =
e

5.00.5.99 3380 3700 B 2 $BS5R 90.025mm 13% =/ 2 &
PG-00  0.100,0.110,0.120, ---0.290 20 11500

6.00-6.99 3600 4100
+.00.7.9 PG-0 0.300,0.325,0.350,-:-,1.525 50 12000
-00-7. 4500 5060 PG-1  1550,1.575,1.600,--6.275 190 15000
8.00-8.99 5400 6200 PG-2A  6.300,6.325,6.350,--,9.775 140 19400
9.00-9.99 6750 6800 PG-2B  9.800,9.825,9.850,--12.525 110 19000
10.00-11.00 8580 PG-2C  12.550,12.575,-:-,12.975 18 13800
11.01-12.00 9600 PG-3  13.000,13.100,--19.000 61 31000

107



. PIN GAUGE, =g

H E FREEFEHIRIE
Ex

Efwm BEBRY o BERE AEE BRE 1EE

0.05...0.09 0.1 510 *+0.5 #m 0.5 vmBtP HRC48
0.10...0.19 0.1 20 +0.5 #m 0.5 #mBtP HRC48
0.20...0.99 0.1 40 *+1 um 1 pmBA HRC60
1.00...3.999 0.001 50 +1 pm 1 pmBER HRC60
4.00..9.995  0.005 50 +1 pm 1 #mBRA HRC60
10.00...20.00  0.01 50 +15 um 1.5 pmBA HRC60

FRIE0.01mm 1%

i 8 R =T0.01mm 13% =/ 48 b

AA-00 0.06,0.07,0.08, --0.29 24 18600  _ __ _

AA-0A 0.20,0.21,0.22,-0.50 31 13600  BHEM0.005mm 157

AA-0B 0.50,0.51,0.51,+1.00 51 13600 B % MAARYNIMm 1% /4 R
AA-1A 1.00,1.01,1.02,---1.50 51 10000 AA-OE  050,0505051,40.75 51 16500
AA-1B 1.50,1.51,1.52,-2.00 51 10000 AA-OF  0.750.7550.76,--1.00 51 16500
AA-2A 2.00,2.01,2.02,+2.50 51 10000 AA-1C  1.00.1.005,1.01,-1.25 51 16500
AA-2B 2.50,2.51,2.52, --3.00 51 10000 AA-1D  1.251.225.1.26,-1.50 51 16500
AA-3A 3.00,3.01,3.02, -3.50 51 10000 AA-1E 1501505151175 51 16500
AA-3B 3.50,3.51,3.52, +4.00 51 10000 AA-1F  1751.7551.76,--2.00 51 16500
AA-4A 4.00,4.01,4.02,--4.50 51 10000 AA-2C  2.00.2.0052.01,-2.25 51 16500
AA-4B 4.50,4.51,4.52,-5.00 51 10000 AA-2D  2.252.2252.26,-2.50 51 16500
AA-5A 5.00,5.01,5.02, +5.50 51 10000 AA-2E 2502505251275 51 16500
AA-5B 5.50,5.51,5.52, --6.00 51 10000 AA-2F  2.7527552.76,-3.00 51 16500
AA-6A 6.00,6.01,6.02, -6.50 51 12800 AA-3C  3.00,3.005,3.01,--3.25 51 16500
AA-6B 6.50,6.51,6.52, +7.00 51 12800 AA-3D  3.253.2253.26,-3.50 51 16500
AA-7A 7.00,7.01,7.02,-7.50 51 16000 AA-3E  3.503.505351,~3.75 51 16500
AA-7B 7.50,7.51,7.52,-8.00 51 16000 AA-3F  3.753.7553.76,--4.00 51 16500
AA-8A 8.00,8.01,8.02, --8.50 51 16400 AA-4C  4.004.0054.01,--4.25 51 16500
AA-8B 8.50,8.51,8.52, -9.00 51 16400 AA-4D  4.254.2254.26,-4.50 51 16500
AA-9A 9.00,9.01,9.02,--9.50 51 16400 AA-4E 4504505451, 475 51 16500
AA-9B 9.50,8.51,8.52,--10.00 51 16400 AA-4F  4.754.7554.76,-5.00 51 16500
AA-10A  10.00,10.01,---10.50 51 24300 AA-5C  5.0050055.01,525 51 16500
AA-10B  10.50,10.51,--11.00 51 24300 AA-5D 5255225526, 550 51 16500
AA-11A  11.00,11.01,--11.50 51 24300 AA-5E  5505505551,-5.75 51 16500
AA-11B  11.50,11.51,---12.00 51 24300 AA-5F  57557555.76,-6.00 51 16500
AA-12A  12.00,12.01,--12.50 51 24300 AA-6C  6.00,6.005,6.01,-6.25 51 22500
AA-12B  12.50,12.51,--13.00 51 24300 AA-6D  6.256.2256.26,-6.50 51 22500
AA-13A  13.00,13.01,-13.50 51 29400 AA-6E  6.50,6.505,6.51,--6.75 51 22500
AA-13B  13.50,13.51,-+14.00 51 29400 AA-6F  6.756.7556.76,--7.00 51 22500
AA-14A  14.00,14.01,--14.50 51 29400 AA-7C  7.00.7.0057.01,-7.25 51 27800
AA-14B  14.50,14.51,--15.00 51 29400 AA-7D  7.257.2257.26,-7.50 51 27800
AA-15A  15.00,15.01,-15.50 51 29400 AA-7E  7.50.7.505.7.51,-7.75 51 27800
AA-15B  1550,15.51,---16.00 51 29400 AA-7F  7.757.7557.76,-8.00 51 27800
AA-16A  16.00,16.01,---16.50 51 29400 AA-8C  8.008.0058.01,--8.25 51 27800
AA-16B  16.50,16.51,--17.00 51 29400 AA-8D  8.258.2258.26, -850 51 27800
AA-17A  17.00,17.01,--17.50 51 36200 AA-8E  8.508.505851,-8.75 51 27800
AA-17B  17.50,17.51,--18.00 51 36200 AA-8F  8758.7558.76,--9.00 51 27800
AA-18A  18.00,18.01,--18.50 51 36200 AA-9C  9.00,9.005,9.01,--9.25 51 27800
AA-18B  18.50,18.51,---19.00 51 36200 AA-9D  9.2502259.26,-9.50 51 27800
AA-19A  19.00,19.01,---19.50 51 36200 AA-9E  9.50.9.505.9.51,-9.75 51 27800
AA-19B  19.50,19.51,--20.00 51 36200 AA-9F  9.75097559.76--10.00 51 27800

108



PRFVIZIIERR / BRFVIRHORAR

KK

- —T
- L

PR 5RIR4#442 F4R Limit Plug Gauge PR SRR SR Limit Ring Gauge

B8 KKS B3 KKS g KKS

RARAR  BRRIR
2 - 3k 2 3§k

RARIR  RARIN
2 3§k 2 3%

RARAR  RARIN

AL 2 -3k 2 -3k

AR g

2.0x0.4 3,320 8,280 13x1.25 2,700 5,400 24x1.5 3,250 6,500
2.6x0.35 3,990 7,650 13x1.5 2,500 5,000 24x2.0 3,330 6,660
2.6x0.45 3,060 7,650 14x1.0 2,810 5,620 24x3.0 3,770 7,540
3.0x0.35 4,750 7,480 14x1.25 2,680 5,360 1/8W40 3,630 7,260
3.0x0.5 3,010 4,740 14x1.5 2,550 5,100 5/32W32 3,630 7,260
3.0x0.6 3,010 4,740 14x2.0 2,570 5,140 3/16W24 3,460 6,920
3.5x0.35 4,450 7,000 15x1.5 2,570 5,140 1/4W20 3,590 7,180
3.5x0.6 2,970 4,680 15x2.0 2,590 5,180 5/16W18 3,590 7,180
4.0x0.7 2,310 4,620 16x1.0 2,940 5,880 3/8W16 3,630 7,260
4.0x0.75 2,310 4,620 16x1.5 2,660 5,320 7/16W14 3,810 7,620
4.5x0.75 2,310 4,620 16x2.0 2,750 5,500 1/2W12 3,830 7,660
5.0x0.8 2,270 4,540 17x1.0 3,060 6,120 5/8W11 4,290 8,580
5.0x0.9 2,270 4,540 17x1.5 2,710 5,420 3/4W10 5,010 10,020
5.5x0.5 3,220 6,440 18x0.5 5,500 11,000 7/8W9 5,390 10,780
5.5x0.9 2,260 4,520 18x1.0 3,140 6,280 1" W8 5,940 11,880
6.0x0.75 2,520 5,040 18x1.5 2,810 5,620 1-1/8W7 6,920 15,220
6.0x1.0 2,260 4,520 18x2.0 2,920 5,840 1-1/4W7 7,720 15,440
7.0x1.0 2,260 4,520 18x2.5 2,940 5,880 1/4UNF28 2,610 5,220
8.0x1.0 2,310 4,620 19x1.0 3,390 6,780 5/16UNF24 2,660 5,320
8.0x1.25 2,310 4,620 19x1.5 2,940 5,880 3/8UNF24 2,780 5,560
9.0x1.0 2,380 4,760 19x2.5 3,190 6,380 716UNF20 2,780 5,560
9.0x1.25 2,310 4,620 20x0.5 6,350 12,700 1/2UNF20 2,810 5,620
10.0x0.75 3,030 6,060 20x1.0 3,330 6,660 9/16UNF18 2,920 5,840
10.0x1.0 2,410 4,820 20x1.5 2,940 5,880 5/8UNF18 3,060 6,120
10.0x1.25 2,310 4,620 20x2.0 3,030 6,060 3/4UNF16 3,390 6,780
10.0x1.5 2,340 4,680 20x2.5 3,190 6,380 7/8UNF14 3,520 7,040
11.0x1.5 2,390 4,780 22x1.0 3,550 7,100 1" UNF12 3,940 7,880
12.0x1.0 2,630 5,260 22x1.5 3,080 6,160

12.0x1.25 2,450 4,900 22x2.0 3,190 6,380

12.0x1.5 2,440 4,880 22x2.5 3,390 6,780

12.0x1.75 2,450 4,900 24x1.0 3,800 7,600

109



EE%E Thickness Gauge

(B13m/m)

A IHSHNE
172MA 75mm 154
172MB 100mm 176
17oMC Teomm 9 0.04 0.05 0.06 0.07 0.08 0.10 0.15 280
172MD 230mm 0.20 0.30 mm 420
172ME 300mm 580
100MH 100mm 10 0.10 0.20 0.30 0.40 0.50 0.60 0.70 480
150MH 150mm 0.80 0.90 1.0 mm 630
100MK 100mm 0.01 0.02 0.03 0.04 0.05 0.06 0.07 440
150MK 150mm 10 0.08 0.09 0.10 mm 630
100MY 100 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.10

mm 19 0.15 0.20 0.25 0.30 0.35 0.40 0.50 0.70 660
150MY 150mm 0.80 1.0 mm 980
092 01 998008 07 08 38 91| o
100MZ 100mm 25 0.60 0.70 0.80 0.90 0.11 0.12 0.13 0.14 880
150MZ 150mm 1.0 mm 1,140
100MX 100mm 0.03 0.04 0.05 0.06 0.07 0.08 0.10 0.15 1,200
150MX 150mm 13 0.20 0.301.0 2.0 3.0 mm 1,320
FG26 31/2M 26 0.04~0.63 [d/mm 200
0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45
FG20 100mm 20 0.5 0.55 0.6 0.65 0.7 0.75 0.8 0.85 0.9 240
0.95 1.0 mm
0.02 0.03 0.04 0.05 0.1 0.15 0.2 0.25
FG23 100mm 23 0.3 0.35 0.4 0.45 0.5 0.55 0.6 0.65 0.7 360
0.75 0.8 0.85 0.9 0.95 1.00 mm
iﬁ, Former Gague
57 - #A
ERSIR T i & = 1%
150 150x85 0.90 1,200
300 300x140 1.00 3,800




S8

EEmm 1M Bl RS & EE mm 3M ThES#R5E &
0.01 0011 590 0.01 0013 1,884
0.02 0021 482 0.02 0023 1,470
0.03 0031 430 0.03 0033 1,325
0.04 0041 262 0.04 0043 708
0.05 0051 262 0.05 0053 705
0.06 0061 262 0.06 0063 705
0.07 0071 262 0.07 0073 705
0.08 0081 262 0.08 0083 705
0.09 0091 262 0.09 0093 705
0.10 0101 262 0.10 0103 705
0.11 0111 294 0.11 0113 790
0.12 0121 294 0.12 0123 790
0.13 0131 294 0.13 0133 790
0.14 0141 294 0.14 0143 790
0.15 0151 262 0.15 0153 705
0.16~0.19 0161 294 016~0.19 0163 790
0.20 0201 262 0.20 0203 705
0.21~0.24 0221 294 0.25 0253 705
0.25 0251 262 0.30 0303 705
0.30 0301 262 0.35 0353 1,020
0.35 0351 320 0.40 0403 1,020
0.40 0401 320 0.50 0503 1,020
0.50 0501 320 0.60 0603 1,680
0.60 0601 600 0.70 0703 1,680
0.70 0701 600 0.80 0803 1,680
0.80 0801 600 0.90 0903 1,680
0.90 0901 600 1.00 1003 1,680
1.00 1001 600

1.10 1101 1,620

1.20 1201 1,620

1.30 1301 1,620

1.40 1401 1,620

1.50 1501 1,620

111



PR ERIRE

Jr

B8 CK101 (AISI 1095) B 30-35
R§###0.05-0.075mm X5CrNi 189(AISI 304)
0.1-2.0mm  X12CrNi 177(AISI 301) F@E35-40

EERH(EE) SRR (FE)

_
ﬁ 5M 5M 5M 300mm | 500mm
A AifEE [ AR A
10H 5% SHE&E

0.005 6,440
0.01 4,680 7,200 8,400 6,760
0.02 3,100 3,960 5,200 9,520 3,720 5,140
0.025 10,680 5,760
0.03 1,300 2,840 3,840 2,680
0.04 1,300 2,840 3,840 2,680
0.05 1,300 2,840 3,840 5,800 8,600 2,680 3,120 4,640
0.06 1,940 2,680 1,820
0.07 1,940 2,680 1,820
0.075 8,600 4,640
0.08 1,940 2,680 1,820
0.09 1,940 2,680 1,820
0.1 1,200 1,940 2,680 5,440 8,160 2,200 2,920 4,400
0.12 2,680 2,200
0.15 1,260 2,000 3,200 5,440 8,160 2,200 2,920 4,400
0.18 3,200 2,200
0.2 1,260 2,000 3,200 6,800 10,200 2,200 3,680 5,500
0.22
0.25 1,260 3,200 10,200 2,200 5,500
0.3 1,260 2,000 3,200 6,800 10,200 2,200 3,680 5,500
0.35 3,600 2,440
0.4 1,720 2,160 3,600 7,660 11,520 2,440 4,170 6,220
0.45 3,600 2,440
0.5 1,720 2,160 3,600 8,800 13,440 2,440 4,760 7,260
0.6 3,560 4,640 10,520 3,340 5,700
0.7 3,560 4,640 10,520 3,340 5,700
0.8 3,560 4,640 12,640 3,340 6,840
0.9 3,560 4,640 12,640 3,340 6,840
1 3,560 4,640 14,580 3,340 7,880
15 9,400
2 11,020

112



BENSTOOL - KANON
" VEn o i Bl 1 Ph

K i B
H % ®

QLK =

BERL£3%URN

JIRF

60~
2800QLK

f.l' Ten
! Esianyion bar

7000~
14000QLK

4200~
5600QLK

= % | muua

o
30QLK N30QLK 10 - 30kgf.cm 10 -300cN.m 0.5kgf.cm  5cN.m 9800
60QLK N60QLK 20 - 60kgf.cm 2-6N.m  1kgfem  0.1N.m (E:'/i?) 186 7020
120QLK N120QLK 40 - 120kgf.cm 4-12N.m  2kgf.cm  0.2N.m 7280
230QLK  N230QLK 70 - 230kgf.cm 7-23N.m  2kgfem  02N.m  9.35 231.5 8000
450QLK  N450QLK 100-450kgfcm  10-45N.m  Skgfem  05N.m  8) 2535 8230
900QLK N900QLK 200 - 900kgf.cm 20 -90N.m  10kgf.cm 1N.m 252 8630
1000QLK  N1000QLK 200 -1000kgf.cm  20-100N.m 10kgf.cm IN.m 9320
1400QLK  N1400QLK 400 -1400kgf.cm  40- 140N.m  10kgf.cm 1N.m (112/27) 392 9500
1800QLK  N1800QLK 400 -1800kgf.cm  40-180N.m 20kgfcm  2N.m 478 10400
2000QLK  N2000QLK 400-2000kgf.cm  40-200N.m 20kgfcm  2N.m 11000
2800QLK  N2800QLK 4-28kgfm  40-280N.m 0.2kgfm  2N.m 685 13700
4200QLK  N4200QLK 6-42kgtm  60-420N.m 03kgtm  3N.m 4905 995 21560
5600QLK  N5600QLK 8-56kgf.m  80-560N.m 0.3kgim  3N.m  (3/4") 1195 28760
7000QLK  N7000QLK 10-70kgfm 100-700N.m 0.5kgtm  5N.m 1315 34800
8500QLK  N8500QLK 10-85kgtm 100-850N.m 0Skgfm  SNm 1388 38000
10000QLK N10000QLK  10-100kgfm 100-1000N.m  0.5kgfm  BN.m  (4n 1538 41200
14000QLK N14000QLK 20 - 140kgf.m 200-1400N.m  1kgfm  10N.m 1844 47000
113



BESTOOL. KANON _|_ m.ﬂ-—t-}
_ 1052
v 55 i 1 & 4 PR ﬁ .I:I:ﬂ.I J

= -

TMKs=

BER 3% LHUA

60TMK-2000TMK

7000TMK-14000TMK

" w | mexm | momm | "
5w % W i m ] & e e] ™ :

60TMK N60TMK 6 - 60kgf.cm 0.6 - 6N.m 1kgf.em  0.1N.m 6.35 10200
120TMK N120TMK 10 - 120 1-12 2 0.2 (174") 222 10200
300TMK N300TMK 50 - 300 5-30 5 0.5 935 315 10600
700TMK N700TMK 50 - 700 10-70 10 1 (3/8") 10800

1400TMK  N1400TMK 2 - 14kgf.m 20 - 140 20 2 12300
2000TMK N2000TMK 2-20 20 - 200 20 2 (112/27) 108 13200
2800TMK N2800TMK 3-28 30 - 280 50 5 680 15200
4000TMK N4000TMK 4-40 40 - 400 100 10 900 31300
5500TMK N5500TMK 5-55 50 - 550 100 10 ::/f,g 1100 31800
7000TMK N7000TMK 7-70 70 - 700 100 10 1270 35680
8500TMK N8500TMK 10 - 85 100 - 850 100 10 1400 40000
10000TMK N10000TMK 10 - 100 100 - 1000 200 20 2(:’;1 1560 44300
14000TMK N14000TMK 20 - 140 200 - 1400 200 20 1600 48400

114



BENSTOOL

=

=

LCK =

ZIEEIRDE

e .
== ooz

il

@
EIRMHIER SR - B
BEERER - BSEEIRE

e AP AT\ H

TIRF

HCKH!
TEBEERZIBF -
2| .
T e

x|  msem | some |
aswn | w18 lew|on|ng
mm mm

60LCK
120LCK
230LCK
450LCK
900LCK
1800LCK
2800LCK
4200LCK
5600LCK
7000LCK
8500LCK
10000LCK
14000LCK

N60LCK  20-60kgf cm
N120LCK 40-120
N230LCK 70-230
N450LCK  1-4.5kgfm
N90OLCK 2-9

N1800LCK 4-18
N2800LCK 4-28
N4200LCK 6-42
N5600LCK 8-56
N7000LCK 10-70
N8500LCK 10-85
N10000LCK 10-100
N14000LCK 20-140

2-6Nm
4-12
7-23
10-45
20-90
40-180
40-280
60-420
80-560
100-700
100-850
100-1000
200-1400

115

1kgf cm
2
2
5
10
20
20
30
30
50
50
50
100

0.1N m
0.2
0.2
0.5

a o a w W NN

190
215
320
445
660
865
1065
1200
1400
1400
1430

208
232
325
443
640
890
1086
1206
1417
1417
1700

6360
6420
6500
6900
7500
8700
12200
17500
22800
29000
31800
35300
42600



BESTOOL KANON j’ QE‘E’D‘IBE

il

iy 25 oy 4 WL 4K PR

H#* =

LTD

ZE IR E S

Fyeh - 6-50LTDK 1.5 - 3LTDK
® EEETIEFEFERFEMED: <kgf.cm>type <N.m>type
@ EEAMBNERER - EAAIDTRIE
@ EiRNE - ROBEENFMEATE ZE - Akt Eas #%
® HR(-EFES—ME
® TJx - aRmELaEE
@ EXEEX3I%TIELE

— 3

— —— &8
""Ll—{ 'E"
o [ ------ B;B : e j:[_l_?ﬂpda.

#The above piciure is kgf-cm type.

e

1.5 - 3LTDK
<kgf.cm>

type

6-50LTDK
I 2 <N.m>
L.———-‘ type

100LTDK (With extension bar)

SEE FH ?‘ %M
(E/’E B BEE (Tgﬂﬁ ; 5 2 E

cN.m /N.m r)mm & |OFEXE

1.5LTDK 0.1-15  0.01 N1.5LTDK 1.5cN.m 0.1cN.m 6300
16 106 NO.1  04X35 —————
3LTDK 0.2-3 0.02 N3LTDK 2-30 0.2 6500
6LTDK 0.5-6 0.05 N6LTDK 5-60 0.5 25 110 6600
12LTDK 212 01  N12LTDK 20120 1 30 NO1  Juxpos4 7000
4 ¢ —_—
20LTDK 4.20 0.1 N20LTDK  40-200 1 9y 160 (42) 7200
30LTDK 4-30 0.1 N3OLTDK 40-300 1 7500
50LTDK 10-50 025  N5OLTDK 100-500 25 40 200 NO2 . oop 10300
(7 ) s |

100LTDK 20-100 0.5 N10OLTDK 2-10N.m 0.05N.m 45 235 12400

116



H A A SR ] H A & SR M =

71819110 60 - 230LCK 1500 718[9]10 60-230LCK 3000

1 2 60 - 230SPCK 1500 11 '8 60-230SPCK 3000

230sck [12[18[1a] J3217 | 0| | 250FCK 1600 | 230RCK [15[43[14] [21]8 [45 10| prc_50EX 3000
17[19[21] 22| 39 DTC - 50EX 1700 171 19] 221 24] 31 DTC-100EX 3000

24 45 | 8 DTC - 100EX 4000 8 [ 10 450LCK 1750

8o 10[11]32]8 P 1700 | 450RCK [ 11 12]13] 14| |10 |55 | 12 | soopen’ 1800

12[13[14] |36 450SPCK 1800 17 19] 22 32 DTC-500EX 2000

450SCK 17 Tvo[a1]2alaa [ ] %° | ' | B00FCK 1950 1213 14| |25 S00LCK 2000
o4 | 27 50 4400 | 900RCK [17[19]|21]|22|34[13|65 | 15 | 1000FCK 2080

12[13[14| |40 | 10 900LCK 1900 24| 27] 30 42 DTC-1000EX 2170

900SCK [17]16] 21| 22| 48 |5 |15 28303::’&‘ 2000 17| 19 22 35 13832‘;%.‘ 2450
24|27]|30] |57 DTC - 1000EX | 2100 | 1800RCK |24|27|30| [45]15[80 | 18 | 1500FCK 2800

17[19]21[ 22] 58 1800LCK 2400 32| 36[ 41 58 DTC-2000EX 3300

1800SCK [24]27]30] [64]14 |80 | 18 | R3WS0CK e [ 2700 19 22| 24| |40 2800LCK 8250
32|36[41] [76 1500FCK 3300 | 2800RCK |27]30[32] [47]17 100 | 22 | 2500k0K - 9180

17| 21[22[ 24] 63 2800LCK 3500 36| 41[ 46 63 DTC-3000EX 10230

2800SCK [27[30]32] [71]16.5|100| 22 ggggggﬁ" 3700 27] 30] 32 57 11600
36|41]46 85 DTC - 3000EX 6000 36| 41 65 4200LCK 12700

27]s0[32] [88 12900 | 4200RCK 715, 25 | 4200SPCK 14300

4200LCK 75

4200SCK |36]41]|46 95 | 25 25 o 15300 55| 60 20 |125 19500
50 55]60] [105 125 19500 27 30] 32 57 11600

27(30]32 88 12900 36| 41 65 12000

7000SCK [36]41[46] [95 30 | 5600 - 7200LCK 5300 | TO0ORCK oy 30 gﬁ_{g)_.;g:gé_)((m 14300
50|55] 60| [105 DTC - 5000EX 19500 65] 60 5 19500

36 | 41 100 15300 35 65 17900
10000SCK|[46]50 110 30 130 | 34 | 8500 - 10000LCK 47670 | 19000RCK [ 41] 46 7225|130 | 34 | 8500.10000LCK 19750
55| 60 120 DTC - 10000EX | 27000 2ol 55150 %0 DTC-10000EX [ oo

4146 115 23400 41] 46 80 24600
14000SCK|50 |55 125(34 (160 38 | 4 4000LCK 26000 | 14000RCK | 50| 55 85 (27 {160 | 38 [ 14000LCK 27420
60 65 135 27900 60] 65 85 29280

QCK ratchet head

HCK hexagon head

AR R R i A &SR B =
60LCK,SPCK
120QCK |6.35|24 [19|75( 12 120LCK,SPCK 2800 60LCK,SPCK
i | 10| EOLER SRR 2o zeex
3125|111 [155 250FCK, ’ 1600
230QCK | o5 DTC-50EX,100Ex| 3500 | 230HCK (2513 14156 | 8 1451101,50p 0y
' 450LCK,SPCK DTC-50EX,100EX
450QCK 32|25 11| 16|55 |12 [ 500FCK 3500
;)Jg_éf(og?él( 450LCK,SPCK
900QCK 39 |31 |14 [19.5| 65 | 15 [ 1000FCK, 3800 |450HCK |4 |5 |6 (810 55 [ 12 [500FCK 2500
12.7 DTC - 1000EX DTC-500EX
1800LCK,SPCK
1800QCK 46 33114238018 1D(')|'0é)F(2:0K(’)0EX 4000 900LCK,SPCK
2800LCK SPCK 900HCK |6 |8 [10[12]14| |e5|15|1000FCK, 2800
2800QCK 52 | 41 | 20 | 26 (100| 22 [ 2300FCK, 5500 DTC-1000EX
DTC - 3000EX
4200QCK [19.05 25 [ 4200LCK,SPCK | 7000 1800LCK,SPCK
=500LCK 1800HCK | 8 |10 12|14 |17 80 | 18 | 1500FCK, 3000
7000QCK 68 | 50 | 20 | 34 |125| 30 | 7000LCK, 7000 DTC-2000EX
DTC - 5000EX
8500LCK 2800LCK,SPCK
10000QCK |, | 76|58 | 27 | 38 |230| 34 | 10000LCK, 9500 | 2800HCK |12 |14 |17 |19 100 22 | 2300FCK, 3200
: DTC - 10000EX DTC-3000EX
14000QCK 87 | 61| 27 [43.5160] 38 [ 14000LCK 12200

117




SIER I EHH 2R

Al

SEERBRAIED kif -cm

FEZE R ABH AR Y mm

AR | _ 10T, 1T =38
I EEESH

4938 4 - - (0.9) ¥95%(1.5) M2 15 2.7 3.6 0.8
45 - = (1.27) 2 M2.5 3.2 5.8 7.7 1.6
55 - - 15 25 M3 6 10.8 15

6 = = = - (M3.5) 10 18 24
7 - - 2 3 M4 16 28 30
8 - _ _ - (M4.5) 21 38 38 1
8 - - 25 4 M5 30 54 72 15
10 - = 3 5 M6 50 90 120 25
1 - - - - (M7) 90 150 220 45
13 12 = 4 6 M8 120 220 290 60
17 14 - 5 8 M10 240 430 580 120
19 17 22 6 10 M12 420 760 1,000 210
22 19 - 6 12 (M14) 690 1,240 1,650 350
24 22 27 8 14 M16 1,080 2,000 2,600 540
27 24 - 8 14 (M18) 1,500 2,700 3,600 750
30 27 32 10 17 M20 2,100 3,800 5,100 1,050
32 30 36 - 17 (M22) 2,800 5,100 6,700 1,400
36 32 41 - 19 M24 3,400 6,100 8,200 1,700
41 36 46 - 19 (M27) 5,400 9,700 13,000 2,700
46 41 50 = 22 M30 7,200 13,000 17,300 3,600
50 46 - - 24 (M33) 10,000 18,000 24,000 5,000
55 50 - - 27 M36 13,000 23,400 31,200 6,500
60 55 - - 27 (M39) 16,000 28,800 38,400 8,000
65 = - - 32 M42 20,000 36,000 48,000 10,000
JIB B1180 JIBB1186 JIBB1177 JIBB1176 g # ss scr scr C-B
i : BUISH SR 2 . sc SM  swem  an
EEE

HAOBURE AR

B g 2 il & [E] = il
kgf -cm N.m Ibf -in
BNEN kgf - m N . om Ibf - Ft
gy -cm 0Z -in
asfsmn  1kgf - m=100kgf - cm _ q 1 in=2.54cm
RIZEMIET 1ot - om=1000gf - cm N - m=100N - cm 57 | =129 o O 1 f=30.4
B 5B 1kgf - cm=10kgf - mm e A er4 Sl —ouacm
U 1 Ib=0.454kg
ez 1kgf -m=0.098067N -m 1N -m=10.197kgf -cm $In=. oxglom 1 in.lbs=1.153kgf.cm
ARELL ) o - om=0.8679621bf -in 1N - m=8.8500bf - in ]:E; ' g‘tﬂgg%?f';‘-cm o gt
Z ¥ B qkgf - cm=0.072330Ibf - Ft 1N - m=0.737562lbf - Ft AIbf - F120.0013501 m 1 ftlbs=13.83kgf.cm
— : 1 kgf.cm=0.8673in.lbs
. 1kgf -cm=9.807N 1N=0.101972kgf illo) H et
FIRIEE ¢ om= s 11bf=4.448N
1kgf - cm=2.205Ib 1N=0.224809Ibf (11bf=160Zf)
1in=2.54cm
EEEf  10m=0.393701in 1m=3.281ft 1 Ft=0.305m
(1Ft=12in)

118



MEEER

T -
EEZEREES

E=

ZF

=ha#RsE - GLASS

s BBER

R

MifEee - 8215 - &3 ~ il
2 - MR - REFE - #8158

Z - PBLE39% ENR - T8
ERA -

EREE -
FHRIx-BE R -
EHT - REPF -

8% : 60

=hSHRIE - GLASS8008
1Bs -
FHIESPVCERERE -
EH LRI ZARIILE
R ZHMEPCIRES -
R
ER—MHERE -
B&1& : 80

TR
GLASS8008B

e

B ESPVC EHEREE
£ - B4 EEREFRE
YRR FEIRF -

a

R BB EDH -
818 160

ERERAE
GLASS8008C

1Bs -

BT IRIE BC CEERYEMR
BiRF - ANERNEIRE
BiRH— I\ -

R
RIEBNMEGHREERRE
PHEE(8008) K 1 g 1)
W BETIENEE -
&1% : 160

1855 : #EPE - £ 0157
HE

m: FEEEx L SEY
EREE - 81555 -

e - FBhxiRIRS -
BEHEE :

Wi - JEIXRIES -

S =

A==

SR hEER

E

119

7l

H

PEOE

BRI : 1006A

1Bs -

fid R 1 B SR PO I BRI B 4
% - BRMEIV) . SRR
B - EIDEMME - JER
EiEiE (CR6) -
EFRER:

R ER AN B — N
IR IR SR PR T8 N Iy SR 48
.

{E1& : 520

1B% - EiEiE(—RAHERL)
O EiRi2/#iE(CR-6) -
EREE: BERE - 8BS
WE  BEEHZ  BENT
RIERE -

EEBIE: THERHPBE
FREEE01%LT « ER
SEE18%LI CERTE
Eﬁ -

B1% : 560

BRI : CR6

AT« LB SR RIE A ITE
PLHRFEH

e : BUS  BRR -
BRE: BRE L% - F
FEE-AE-HE-R
& EZREE - 28512
¥ 158 BYW - R ITREE
ZIEtERYZ TIFIRI -
FEEIR : EA s MBER—
ANRARRERRERRE
7

Btg : 100

BRI - 1005

S T BT

i : B - &7 - PR BE -
] {eRkE -

ThgE : BRI EEE - MABL
T =R

1. BEEOIE0%LL EHEME »
gJEH20micron i 2 0B A, -
2. SR E&R 2R «

3. RIRIRE QP RHER
TEFRELE : SRR - iE -
P TIEADY - BRD - I8 ST -
B1% : 8

FRSERIE - 10058
WS TR
T e - BFE - BRI

BE B 2R F0100548 ) «
Big - 12

™



IFRITFERR =

T TR e

@ =1 2
ShiRaE FRBmm =i
62081 170x100x1.5 560
620064 15cm 177x18x1.5 520
BE B
By =2
ShiiRaE FRE A
TWD150 6" 300
H-B 1|E
/oK
.I.l '.II | 0e ;(‘{'L._L Mgkt s |
" USAGES MULTIPLES
BB/ : i

E500C 400g 130

120



it

2 [

DC425
DC426
25909

A+B1B

ik PSRl
A B iR
LR T

&7 - 4
DC-425 580
DC-426 600
25909 2,400
1b(558) 500

o ran HEEH

e T S BER
BhERR HE\BIE ALTECO BRaRR
AL2G 29 26 SPAR12
AL20g 209 170 SPAR70

SPAR56
wo. =
2 Permatex: =

Permatex

USA1
USA2

121

52
12g
709
569
1R
1#
2#

Clear, Best Fooxy

&7 - 4

204/= 56
12:8/= 160
12:8/= 160

&7 : 1]
&
2,100
2,100



¥
29 Permatex:

A5

RIS Em

Permatex
WENSEORES IRECATNRAS SERERE | BYRESH
==

FANSNSY

BLUE RTV'
SILICONE

GASKET MAKER

- ZEHEEE—ATAESRAY
HOEERR
- BEmMRET

- EEMREEE—WASSEN |
L ERPHEORTIE '
% ik =T:-lcd

ENFTWT 2 0

1553 BHENL

 AREESRIRSNEES

1

- AOZAARR - AR RS
cHEREE - FEREAEEE

BTIRCEORTORDR | ETER L ceimmmEamsEE . S ARRs

s | CEORTIEORES | gmmsooops | ERERSRMEEEE, I
- BE - -54CEw260C | WIEAE-60CEMSC | . memig gLl @Fn . REFREERSE

i P DATMSE ~ RkT)EETE - B2 RE | - SEAEREREF LI NS
R R . BiE49C

BEEE AR  EREE - | pEeE.aRR - s5nE . L
ENRESEE K AT EEER i -

e M_E@%\%E\E%\EE\@
 EERE  @ RWREWSHT

: : i ~SHERIKG

& rosEremmsnaz 0 o0 HERKER

DR IBRE kE
FALDRER g

Bt DESE EWREE ShERR

Bif BEEE ERNE SRt B8 SRESE ENNE ShEeE

B BESE ERSE ShEhRiR

200 3oz(859) 12 6BR 200 30z(85q) 12 26BR 240 2jgEl 12 14600 900 INEHARE 4 25218
BN FE BERNFE ElozE% Fift] 8357

1EiE%§EBEELF§:‘%§5’E@J§ EENEEREE

L)

*Pamsirates, disasines, s

T WL 1200 e

- bR - B

- S, NS « B
L OREE K BRI R

IR EEHEE

L R TS

FoFiEaE

Perimaiey

ANTI-SEIZE
LUBRICANT

- BEETS
- JEETE R E 5 EMIil Spec

B - BETAURNE  RREEEE | #907E

) e i EL RS R FRPTLL RS
OEM2e] PEEnrEE | BERER et BRI T e
A EISEE S TS - BFH - BERRSNE | - LEEW - NEBED < FEND AR,

- MiliBERE : -62°CE+232°C

L BsE . mARE

- BRRRERIL RIS

i - : : L BRAEEDLE
: - : - R Tt :-51°"CZE+650C

SOREDEEP  BEARL | B B g oo

SMESELR | RTINS - EPIHE - SRE BALBRERESHBESRE | mirmen | Rpepiess

% EEERERIIE

BiE oOEsE EIEHE ZiERTE BE OESEE EERE ShEETE
200 16ozIEFFiERE 12 137DA 200 3oz 12 16BR
120z }#= B FEE

 RESEEEES Az
LB R

300 160zIEfEiEL 12

120z}35

122

C=g B AEE  ESBNRES
| BTN R ARG

i OEMiB#5

BIF ORSE ZERESRET BF ORSE ZReE TERR
68DA 700 120zIBFFiER 12

133MA



¥
29 Permatex

K%Hﬂ’fﬁﬂ“

Permatex'
HemEHE EFEHE?T?&%@J R iREE
DISC BRAKE _- ';1
QUIET ONDITIC
- BFIEAE - BERIEBED - BB B
- BB SR L LRiER - HEE AR EM
- HASRESERSRMER | - SEEBEN AR E
ekl SR xb N av N L BRI
- T 3R 2 L L R
BEASTHE B i | ARES
i LB REE  BERAE RS | DERIEREE

EPIREE ~ SIZEEM S | EEED

#, - BEPY - §5PIBIE

B OSEEE ZRBE SR BF
400 160z 12 195DA 500

IBFFiRE

160z 12

IBFFiRE

O
)

Permaiex

Permatex® 2% &S E L)

ERERIE

19373 ¥ EFE(50ml)
19375 < EFE(50ml)
24240L ¥ EFE(250ml)
27140 2 EFE(36ml)
24240 HETE(36mI)

BESE ZRNE ShERt

U

118DA

Bif BREEE ZERNE SRR BE aREE
300 160zIEFziE®: 12

120z;38

=]

-:':nsr'gu

AT

~IKEBEREE - BWE

3
= 0A
B ARE

GASKET
REMOVER

Mmevince by pesli

| O BT8RN R R

L mELSOE R

L ERBROSREEY SR
LerEER

L
DERWEONEEBREN  BIK
CEEBED 2EBAEHE - UE
| BT - RISERE

IR ShaiEit

120DA 300 16ozIEFEiEE: 12 4MA

120z}38

EOH ESHD
LI

ﬁmﬁ@ﬁ@mJ

B BRI
800 S271A
800  S242A1
3,500 S242A2
700  S242A3
700  S242B

123

S i

EREE
S EE(50g) K& 500
ae@m(zoomﬂ@ 300
$E)FE(200) 5 300
ae@m(zoomﬁ@ 300
S EE(Tkg) 800



WUAME

_E ) 55117 - 1%
wmay | NE[mm S s o ] ESm e g som
e 1" 2' 8 4" o B\ | 2 8" 4" 5F 6'
Wuixim m 220 300 420 580 1400

Wu1x15m 1.5m 260 390 500 696 1500

Wu1x2m 2m 280 440 580 760 2000 2m 2400 3700 5600 7500 11500
Wu1x25m 25 320 500 670 880 2300

Wu1x3m 3m 340 580 760 950 2600  3m 2700 4400 7000 9600 12500
Wu1x4m 4m 430 740 980 1260 3300 4m 3200 5100 8400 12000 15300
Wu1x5m 5m 500 880 1160 1490 4100  5m 3600 6000 9800 13600 17400
Wu1x6m 6m 550 1020 1340 1780 4900  6m 4200 6700 11200 16000 20500
Wu1x7m m 640 1200 1600 1980 5900 7m 5000 7700 12300 17000 22000
Wu1x8m 8m 680 1300 1760 2150 6900  8m 6100 8400 14000 19600 25200
Wu1x9m 9m 770 1460 2000 2400 8350  9m 6900 9500 15800 22000 28200
Wu1x10m 10m 830 1580 2160 2600 9800 10m 7700 10500 16800 23500 30200
BlUZEDN 1000kg 2000kg  3000kg  4000kg 5000kg 4000kg 6000kg 8000kg 9000kg 10000kg

124



SLAB66

&7 48
ERHRE g
AB105D ey (HBF) 400
SLAB66R Bt (PREgE) BAD 1,900
H28 Bt (pREgE) —AD 1,400
SH301 EAO+—EE0(BED) 3,200
AB66D XE) (e 700

SLAB66 Eift (f#&f) —A%—m% 1,700

SEER#ElER

ERRE Ay @&
WU1Tx15A 1Tx15 RHTE 240
WU1Tx15 1Tx15R 200
WU1T
VAR |
EESRE "BE 33 5%
BE 50m/m 50m/m
WU3Tx 20 20R 480 760
WU3Tx 27 27 R 560 860
WU3Tx 30 30R 600 900
I 5 5




B : R
01/2 172" 8.00 04 4" 150
05/8 5/8" 8.00 041/2 412" 17.0
0 3/4 3/4" 8.00 05 5" 19.0
07/8 7/8" 8.00 051/2 51/2" 20.0
01 1" 8.00 06 6" 22.0
01 1/4 11/4" 8.60 07 7" 240
011/2 11/2" 9.00 08 8" 40.0
02 2" 1060 09 9" 45.0
021/4 21/4" 11.00 010 10"  50.0
02 1/2 212" 11.06 011 11" 55.0
02 3/4 23/4" 12.00 012 12" 60.0
03 3" 13.00 013 13" 65.0
03 1/2 31/2" 14.00 014 14" 70.0

R E ~ ) Vi ERE

B 5 =7 5
THEE W2 w0 IFERY MR 98 Eefll EhiReR
6662  0-10000PPM 3.0 110x110 17 kg 3200 6661 LT-845 110V 3,200

126



S X 9 433\/1;3%12MM

— " 120PCSEETiH - {RIERFHA

10R
10R
10R
2093
10R
10R
10R
10R
10R
10R
10R

152

X X X X X X X X X X X X

SX- 9B 4308

£ R

10MM---16MM
12MM---22MM
16MM---27MM
23MM---35MM
25MM---40MM
32MM---50MM
40MM---60MM
50MM---70MM
60MM---80MM
70MM---90MM
ERIEF7MM
BmE  120FSX9 EFR(W2+14:) M5 am
BiFihie s
8By R
SRR {EF&B=|(m/m)
G08-12 8---12 22
G010-16 10---16 22
G012-22 12---22 24
G016-27 16---27 30
G023-35 23---35 32
G025-40 25---40 33
G030-45 30---45 34
G032-50 32---50 36
G040-60 40---60 40
G050-70 50---70 45
G060-80 60---80 54
G070-90 70---90 62
G080-100 80---100 66
G090-110 90---110 70
G0100-120 100---120 74
G0110-130 110---130 76
G0120-140 120---140 80
G0130-150 130---150 88

G0140-160
G0150-170
G0160-180
G0170-190
G0180-200
G0190-210
G0200-220
G0210-230
G0220-240
G0230-250
G0240-260
G0250-270
G0260-280
G0270-290
G0280-300
G0290-310
G0300-320

127

{E A #EE|(m/m)

140---160
150---170
160---180
170---190
180---200
190---210
200---220
210---230
220---240
230---250
240---260
250---270
260---280
270---290
280---300
290---310
300---320

94
110
116
120
125
130
138
146
150
170
180
190
210
220
230
250
280



BiFEER 8 EAISX9MSX12

SX-12EBH 30418
BERENEERRRERERRI—

= R 41 R

ERIHRS: B EaR(m/m) EHIRE A E(m/m)

G03048-12 8---12 65 G0304140-160 140---160 190
G030410-16 10---16 65 G0304150-170 150---170 200
G030412-22 12---22 65 G0304160-180 160---180 210
G030416-27 16---27 80 G0304170-190 170---190 220
G030423-35 23---35 80 G0304180-200 180---200 230
G030425-40 25---40 80 G0304190-210 190---210 240
G030432-50 32---50 90 G0304200-220 200---220 250
G030440-60 40---60 90 G0304210-230 210---230 260
G030450-70 50---70 100 G0304220-240 220---240 270
G030460-80 60---80 110 G0304230-250 230---250 280
G030470-90 70---90 120 G0304240-260 240---260 290
G030480-100 80---100 130 G0304250-270 250---270 300
G030490-110 90---110 140 G0304260-280 260---280 310
G0304100-120 100---120 150 G0304270-290 270---290 320
G0304110-130 110---130 160 G0304280-300 280---300 330
G0304120-140 120---140 170 G0304290-310 290---310 340
G0304130-150 130---150 180 G0304300-320 300---320 360

SX-12&H 3161488

B : R &7 : R

BRI R #EE(m/m) BRI {2 A3 B[E(m/m)

G03168-12 8-12 90 G031670-90 70-90 190
G031610-16 10-16 90 G031680-100 80-100 200
G031612-22 12-22 100 G031690-110 90-110 210
G031616-27 16-27 120 G0316100-120 100-120 220
G031623-35 23-35 130 G0316110-130 110-130 230
G031625-40 25-40 140 G0316120-140 120-140 240
G031632-50 32-50 150 G0316130-150 130-150 250
G031640-60 40-60 160 G0316140-160 140-160 260
G031650-70 50-70 170 G0316150-170 150-170 280
G031660-80 60-80 180 G0316160-180 160-180 300
G0120pcs 8-90 6,000

128



YDSHISTI\HEER(IET)

#410 #430 == #430  #410 et ==
8-12 5/16-1/2 - - - 19.2 8.8 12.9 10.8
10-16 3/8-5/8 - - - 19.2 8.8 12.9 10.8
1-20 1/2-3/4 - - - 20.0 9.6 14.2 1.7
12-22 1/2-7/8 - - - 20.2 9.8 14.6 11.9
16-25 5/8/1 - - - 20.8 10.0 15.0 12.1
16-27 5/8-11/8 - - - 21.3 10.4 15.4 12,5
20-32 3/4-1 1/4 - - - 21.7 11.3 16.7 13.3
23-35 7/8-13/8 - - - 221 115 17.5 13,5
25-40 1-15/8 15.0 26.3 17.1 225 1.7 18.3 13.8
30-45 13/16-13/4 158 27.1 17.9 22.9 11.9 19.2 14.0
32-50 11/4-2 16.3 28.5 18.3 233 12.1 19.8 14.2
40-60 15/8-23/8  17.3 30.6 19.4 238 12.5 - 14.6
50-70 2-23/8 18.1 31.9 20.2 24.2 13.1 - 15.2
60-80 23/8-31/8  19.4 34.4 21.5 24.6 14.0 - 16.0
70-90 23/4-31/2 202 35.6 223 25.0 15.0 - 17.1
80-100 31/8-4 21.9 38.5 24.0 25.6 16.3 E 18.3
90110 31/2-43/8 225 39.4 24.6 27.1 17.9 - 20.0
100-120 4-43/4 24.0 417 26.0 30.2 20.8 - 22.9
110-130 41/2-53/8 256 42.7 27.7 : - - -
120-140 43/4-51/2 2741 46.7 29.2 - : - -
130-150 51/8-57/8 285 51.3 30.6 - - - -
140-160 51/2-61/4  30.0 52.1 32.1 - - - -

129



B R H

HS1A HS-1A 1,000 TGO06 Z=EA BEri] & 200
TG15W 15W 200 TGO7 = VN i ] 200
TG6OW 40W 200

TG8OW 80W 280

TGO05 TG-05 300

kAL = ;M8

TEhsRE [ 3248 el B $R24E &g
HR002 e Ha 1,500 CH5 5N& 70
TAF FAITH 500 CH50 5070 400
TA ] AR 240
s 2 BRITIE
1% T BILAF IR
)
@ 09
— {7 : kg
TEhsIRE R4 BT el B SEEED BE BE
10MR £FHT10Mx0.08 B 80 GM98 GM-98 TIINT({EiR) 3.2 1000
15M 15Mx0.1 =

b5

S VI ]

R i 5& E2{H
MAYCO 1kg MAYCO 1kg ‘HE 600
MAYCO 400 MAY-TAP 400c.c. [EZ\ 320
TAP ahash i 1kg SAS 560

130



B8 B RSB HIET

ﬂs’a’ﬁiﬁ {‘Ciﬁ }’“ﬂl_ HHIRE JUERE(mm) BRA(1000PCS) | ki A% HIEE HIRE ﬂﬂ?&iﬁf;(m/m E?ﬁ1000PCS)

B42 4-2 3.2 6.0 m/m 1.6-3.2 870  B56 5-6 40  13.0m/m 6.4-9.6 2,200
B43 4-3 3.2 8.0 m/m 3.2-4.8 940  Bs8 5-8 40  160mm  9.6-12.7 3,900
B44 4-4 3.2 9.5m/m 4.8-64 1,100  B62 6-2 48 7.6 mm 0.5-32 2,200
B45 4-5 3.2 1.0m/m 6.4-8.0 2000 B64 6-4 48  10.0m/m 3.2-6.4 2,400
B46 4-6 3.2 125 m/m 8.0-9.6 2200  B66 6-6 48  135m/m 6.4-9.5 3,600
B48 4-8 3.2 150mm  9.6-13.0 3,800 B68 6-8 48  165mm  95-125 4,000
B52 5-2 4.0 7.0m/m 1532 1,500  B610 6-10 48  200mm  125-165 7,200
B54 5-4 4.0 10.0 m/m 3.2-6.4 1,600

SgRiE] Efi7 : 10002 A
Shiy (% HIEE HIRE f ShES A% HYET HYRE JHERE(mmM) EH(1000PCS)
A31 3-1 24 5.1 mm 1.0-3.2 430 A55 5-5 40  127mm 8.5-0.5 430
A32 32 24 7.9 mm 3.2-6.4 450 A56 5-6 40  141mm 9.5-10.5 440
A4 4-1 3.2 58 m/m 1.8-2.6 270 A57 57 40  160mm  10.5-13.0 460
A42 42 32 74 m/m 2.6-4.2 280 A58 5-8 40 19.0m/m 130L4E 520
A43 43 32 8.9 m/m 4.7-57 290 A1 6-1 48  64mm 0.5-3.0 480
Ad4 44 32 10.2 m/m 5.7-6.5 300 A62 6-2 48  89mm 4.2-58 500
A45 45 32 1.4 m/m 6.5-8.5 310 A63 6-3 48 10.2m/m 5.8-6.5 540
Ad6 46 32 12.7 m/m 8.5-0.5 330 A64 6-4 48  127mm 6.5-9.5 590
A48 4-8 32 16.0 m/m 10.5-13.0 390 A65 6-5 48  160mm  115-135 640
A51 5-1 4.0 58 m/m 0.5-2.5 340 A66 6-6 48  191mm  13.0-165 690
A52 52 40 7.9 mm 4.3-55 370 A67 6-7 48  221mm  16.5-18.0 800
A53 53 40 9.4 m/m 5.5-6.5 400 A68 6-8 48  254mm  18.0-222 990
A54 54 40 1.4 m/m 6.5-8.5 420

131



B2

—— R R

L 1048 B =
T101 = 180 60
T102 5k 180 60
T105 A, 180 60
T103 =8 180 60
T104 PO 180 60

e nccams
SR wTE B
T71 T 250 160
T72 E Sl 250 160
T75 ak 250 160
T73 = 250 160
T74 [l ) =2 250 160
=67 %
TR
NIKO51 T 300
NIK052 E Sl 300
NIKO55 A, 300
NIK053 = 300
NIK054 [l ) =2 300
=t ml YD)

FAEEY FY-2 £ 100 m/m BiE : 12 m/m

&7 : 52
BRaRR TN g 15
XERNIKO02 NO2# 0.25 320
XERNIKO03 NO3# 0.30 340
XERNIKO04 NO4# 0.35 380
XERNIKO05 NO5# 0.40 420
XERNIKO06 NO6# 0.50 470
XERNIKO7 NO7# 0.55 600
XERNIKO08 NOB8# 0.63 690
XERNIK10 NO10# 0.80 1,660
XERNIK12 NO12# 2.00 6,000

132



s E EER G BB ?
SRUFEIR SEEEAEE - AT TR
EEERERIEIE T SRS T IR - 1558

e s B B\ _pummans
% EISEREE BRI

(WEEHAR) « q e

st

=]

SERGISTE R BIEST - IBENEELE - tEE #400) g o3mm: EfHETYRER
RitshRaEEns - 88 Al WA - mA%E A SRR TR TFYRFE © @1 E=HRC 50°CIL
FEEIRO FHRIE - Rl iy EERmE R -

#800) E &

£#220

18 B #1000 #1200

18 l]Ey==) =)= N
1x4x100 510 510 400 455 455 455 455
1x6x100 800 800 600 740 740 740 740
1x10x100 1020 1020 810 968 968 968 968
R-3x100 1030 1030 1030 1030 1030 1030 1030

RmEE—(E 2225

ISHI= S5 KOs@Et

L4

=87 : 32 5 L
TR Bt W1z 2547 : 4

PENB NO.003 #t= 60 BhaiRE B
PENA 15 = 40 20DB 1252 / # 70

133



AVvocZ EEREIZEET]

4/OGA DEBURRING SYSTEM

B2

EhERR BhERR T\

NB3000 J)7) 3PCS 440 NBS S10, S20, S30 64
NB5000 717} 5PCS 520 NBS35 S35 80
NB3000SE EEJHE  461F48 28,890 NBK101 BK101 67
NB1900 J)J) 10PCS S10 600 NBN8O N80 240
NB1902 7)) 10PCS S20 60

75 B e 2

PT802 PT803

B : R
BRaRAR
PT802 800
PT803 1,000

134



SIREEENINETIY
agFNK AV b E{7: % FE JI-NFFEL S v
ERSIRE OB Big ERSIRE "% Big
PH41280 PH-41 2801 200 PH41280A H-41 2801 200
PH40280 PH-40 2801 150 PH40280A PH-40 2801 150
PH40450 PH-40 4501 290 PH40450A PH-40 4501 290
PH55320 PH-55 3201 290 PH55320A PH-55 3201 290
PH55450 PH-55 4501 380 PH55450A PH-55 4501 380
PH65410 PH-65 4101 580 PH65410A PH-65 4101 580

PH65550 PH-65 5501 900

fA T EETE

=i ¢ il

g i EFE TOOL SAM  SAMIESR
116~1/4  13PCS 1/64" 700 700 1,800
1565  13PCS  0.5m/m 680 700 1,800
116~12  29PCS 1/64" 1,000 3,000
3 1.0~130 100PCS 0.1 m/m 12,000 30,000
_ 1.0~130 121PCS 0.1 m/m 21,000 48,600

135



2K#Y15,000rpm

8Bl 2
EiR g

BhaRIE  WEhE B
110V 5060HZ& 4 m/m 10,000

2K LEVTOR

=8 e =
E -
KE13B D13 13mm 7,600
KE23B D23 23mm 2# 13,000
KE23BV D23 23mm 2# 220V 15,000

N faran

e

g

FMPO M %5 80 80
FMP1 M == 80 80
FMP2 M H 80 80
FMP3 M #l 80 80
FMP4 M (5 80 80
FMP5 M ) 80 80
FMP —#A 11,520

DREMEL

B 5

ShidRaE WEhE pidlE i
USA275 USAE=R 275# %8 3,200
USA2750 USAE=hE  2750#({9=E{F48) 3,800
l§E§§7 ==
oREMEL B Y| S
By =2
ShiiRaE WEhE b L=k
USA290 USAEZ=ER® 290# 1,600
T290 TEREE 110V 900
T290V 220V 1,000

s
ZHEM

Adhesive,Meter ¥5E et B R MEFERIREHNEGE

SEN-

=67 : 48
FRHRIE B HiE
IW5 *5EE 1,400

136



PEAZER

B2
ERERIE thenas {FFEEE B ShaiRaE b IR 15
OX1 1,100 OX3 HHY 0.5-2.0 840
OX4 1,800 OX2 (= afit) 2.0-5.0 900
CIRT
Sii: = Sfii: R
AR e RE aal=s] ShaiRat e g ==lzs]
OX Easzi® MASTER 25-250kg 1,100 AC YRR MASTER 0-25kg 1,100
OX5 fisFHz® 0-25kg 270 AC2 E1EEE S 0.2kg 270
OX5 iEA® 0-250kg 270 AC2 ==k 0-25KG 270
AC1 =g s (B) 140
£
uf -y
FOR OXYGEN "o Tot o™ | covome e s |
57 : #A
ERERIE EiCEa g
AC3/16 1 —MtF—4E3/16,5/16 1,600
AC5/16 e T\3/16,5/16 1,600
AC17 —HNF—MF 1,600

137



&7 - 52
BRaRR AT HEER ax
3# 36 m/m 3# 780 120
2# 39 m/m 2# 780 120

=T

B2
1]

B2
700

R RS
BUTI

HE
EAD)

EhsRIE 1018 SE BE
OIL81 8"X2"x1" 600 480
e
=5
= =

BRaRAR &
STONEPEN 20

KDS401
KDSL17
KDSL19
KDSH11
LB1014
LB107
LB107H

heE
KDS
KDS
KDS
KDS
KDS 7]
KDS717]
KDS 7]

3SQUARE4
3SQUARE5
3SQUARES6
3SQUARES
3SQUARE10

Rt

STH

138

SR
401# 150
T 600
IRAHTN 150
H11 400
147] 8
77] 8
771 60
i roooco )
e i)
&fi : 32
$RE Big
4" 320
5" 350
6" 370
8" 440
10" 480
U
&Sfi7: R

R
150 m/m

500



Jj[=al]LNyise E 2R

B - 52 i

ERERIE B ERERIE g B
AP-150 6" 600 0.05:0.1+0.2 03 0.4 0.5 mm &5 3000
L6 RG=E2) 220 060708 09 mm&3H

L5 5"(GH) 180

SEH

-

Bosch Efi7 : 37 King 57 2
T101B T-101B 7T R~ HEAR 40 King124 1# 24T HIHE 34
T144D T-144D 7T P NN N 40 King314 3#9T.14T AIFE 24
T244D T-244D 7T =N N 40 King624 6# 24T H#EA 70
T118A T-118A 24T i BeE 40
T118G T-118G HEEA 70

+*

FEE  WIFES IR4E 7]

- 2

B - 52
BRaRR AT s B @ W SRS AR LDEIREY)  BA(U  {B1R
HO006 12"f94% 18T = 50 TCA FEHEN (A) 2-10m/m - 52 710
SM0X1218  12"(%g) 18T24T G 640 STCH 1# (A) S5m/mEiE T 4,200

STC2 o# (A) 3-5m/m ¥J 4,000
STC3 3# (H) 2-3m/m 11 3,800

139



VAL

i BN E

vl

i

IR HRIN A

USA/
£

E-030(E-0)

E-035(E-1)
E-045(
E-050/
E-055(
E-060(
E-065(E-5)
E-080 % 38

m m m m

-1

2)
-3)
-4)

SC5
SC3/16
SC1/4
SC5/16
SC3/8
SC1/2

30
35

12) 45

50
55
60
65
80

AT
3/16~1/2(532#8) (5
55523/16",1/85&F
1/4"

5/16"

3/ n

1/2"

80
90
90
105
110
120
130
200

232
245
255
270
300
315
315
900

USA5
YC5
USA6

140

Wk
USA
Y.C.(
USA

)

5Bl 52

58 @F

262 260y 320

280 400g 360

300 580g 380

320 810g 450

355 1,050g 490

375 1270 640

380 1,540 900

980 4,500g 3,000
j-_A|¥ g

| 840

= 140

= 160

= 190

= 210

= 250

|

{7 - 40

g B
5324 500
5324 160
6324 1,000



364 1/4 1/4" 540
364 5/16 5/16" 580
364 3/8 3/8" 760
NM= h'q _b
Hl = )J: uH
&{i7 : #A
1226 1226-FA 3/16~5/8" 640
275 275-FS 1/8~3/4" 900
IEEI E= =
=g =53
= =N =l
By =2
ShiRE b 1R A
RYC250 RYC-250 250mm? 2,200
RYC400 RYC-400 400mm?2 2,600
RYC500 RYC-500 500mm? 3,800

Sl 2

BRI HE E1E
364 1/2 1/2 1,000
364 5/8 5/8 1,680
364 3/4 3/4 1,920

B{i7: %
EhERIE R B FH &R
274 274-FC 1/8~11/8 280
127 127-FB 1/8~5/8 160
2741 yapa; 274#H 50
1271 1] 127#H 50

E* = "-H-
BREE

B{i7 5%
EhERIE RusE R =5
RYOS8 RYO-8(5) 1.25~8 mm? 710
RYO14  RYO-14(&) 1.25~14mm? 1,060
RYO25  RYO-25(5) 5.5~22 mm?> 1,400
RYO38  RYO-38(8) 8~38 mm* 1,900
DT8 DT-8(H) 1.25~8 mm? 1,300
DT14 DT-14(A) 1.25~14mm? 2,000
RYO80  RYO-80(&) 8~100 mm? 3,600

141



B2

BESIRIE e @8 | SERR AR B

UNO06 6m/m 120 UNO025

&8{7:f] UNO7 7m/m 120 UNO026
ShiRaE FRE =i UNO8 8m/m 120 UNO027
*89 8x9 420 UNO09 9m/m 120 UNO028
*810 8x10 430 UN10 10m/m 130 UNO029
*1012 10x12 440 UNO11 11 m/m 140 UNO30
*1113 11x13 480 UNO12 12m/m 160 UNO032
*1214 12x14 480 UNO13 13 m/m 180 UNO33
*1417 14x17 620 UNO14 14 m/m 180 UNO034
*1719 17x19 720 UNO15 15m/m 210 UNO035
*1921 19x21 1,000 UNO16 16 m/m 210 UNO036
*2123 21x23 1,060 UNO17 17 m/m 240 UNO38
*2224 22x24 1,100 UNO18 18 m/m 280 UNO041
*2326 23x26 1,200 UNO19 19 m/m 280 UNO042
*2427 24x27 1,800 UNO20 20 m/m 350 UNO044
*2932 29x32 6,700 UNO21 21 m/m 350 UNO046
*3032 30x32 6,700 UN022 22m/m 400 UNO048
*3235 32x35 7,300 UN023 23 m/m 500 UNO050
*3236 32x36 7,300 UN024 24 m/m 500

F IR R
AT ~

BRRE 81E Y T
OPEN67 6x7 m/m ¥ 230 OPEN2123  21x23 m/m
OPENG68 6x8 m/m £ 230 OPEN2224  22x24 m/m
OPEN810 8x10 m/m ¥ 240 OPEN2326 23x26 m/m
OPEN1012 10x12 m/m 1 260 OPEN2427 24x27 m/m
OPEN1113 11x13 m/m ¥ 290 OPEN2629  26x29 m/m
OPEN1214 12x14 m/m ) 300 OPEN2932 29x32 m/m
OPEN1417 14x17 m/m B 380 OPEN3235  32x35 m/m
OPEN1719 17x19 m/m | 480 OPEN3541 35x41 m/m
OPEN1921 19x21 m/m ¥ 560

142

25 m/m
26 m/m
27 m/m
28 m/m
29 m/m
30 m/m
32 m/m
33 m/m
34 m/m
35 m/m
36 m/m
38 m/m
41 m/m
42 m/m
44 m/m
46 m/m
48 m/m
50 m/m

B3
1]
1]
1]
1]
1]
1]
1]
1]

560
560
720
900
920
940
1,090
1600
1,800
2,070
2,380
2,890
2,970
3,280
3,670
4,260
4,750
5,150

o

630
960
960



tBFRiE

S 4
ERERIE g g
UNO11PCS 8.10.11.12.13.14.15.17.19.22.24 2,540
UNO14PCS 8.9.10.11.12.13.14.17.19.22.24.27.30.32 5,200
f—
B S1H
s b - I
S 4
AR g g
KT6 I, m/m, 6pcs 400
B MR =F#4H
F* o ]
S 4
ERERIE g g
CTC6 I, m/m, 6pcs 160

143



Fo1EH >[1EH

<&y
5 F] =7 f7
BRI 1] RIg Big B EERE 1] Rg =EE
CK150 [SEL 6" 1,400 GK150 [SEL 6" 1,400

BIREER R R

} RRGELEEDE, Lt I cLLeL 1 ) b QUL
AN A A AN RN AN AN 2 f|
P AN} AN/ I AN -PJ-'.MM\-': daad ‘

TR B mig [ Shsies BU5 iR1E i
GLASSJY 1256 fEIERR 560 BOX BOX 5XkE 2,000

EEIRT MRERR

&7 - 52

BRI AT B S BiE 0 SRR g 15
H150 6"x150 11 1,080 Z810 8x10 100
H200 8"x200 11 1,440 21012 10x12 120
H250 10"x250 11 1,800 Z1113 11x13 140
H300 12"x300 11 2,160 Z1214 12x14 140
H375 15"x375 = 500 Z1417 14x17 160
H450 18"x450 = 1,000 Z1719 17x19 180

Z1921 19x21 240

144



¥§~/
gﬁﬁ‘“ "‘W“ax

EREIRE

FSS125
FSB125
FHS125
FHB125
FSS175
FSB175
FHS175
FHB175
FSS230
FSB230
FHS230
FHB230

S =5 EH

g
SS-125
SB-125
HS-125
HB-125
SS-175
SB-175
HS-175
HB-175
SS-230
SB-230
HS-230
HB-230

FiE
REM
FHAIERIM
HEEM
TXRIHEITY
REM
FHAIERIM
HEEM
TXRIHEITY
REM
FHAIERIM
HEEM
TXRIHEITY

FAITH

400
400
400
400
400
400
400
400
500
500
500
500

(2)

200
200
200
200

Sl 2

B R FATAES E1E
T10WR 5"7",10" 100
T8R 8R9R 200
T11R 1R 200

it EH

o

&7 - 1]
B R hE AT TE1E
T2001 =F 8" 1,400

%\E i L‘AiH

&7 - 1]
BRaRR BhE g &
FK200 (=L 8" 900

145



& VISE-GRIP

AMERICAN TOOL

ERIEFEEEEH - trresI1E

i G R 18 E =
10WR 600
7 WR 600
5 WR 560
4 WR 530
10 CR 620
7CR 620
10R 600
7R 600
9LN 950
6 LN 720
41N 680
9 BN 1,100
6 BN 1,000
4 BN 860
wamag | 1O 1,000
oy — e,
FEEE— v | =
¢ s” . : &' /
=0 — -~ 41LW 700
EidiollE! 12 LC 1,400
6LC 1,100
RR 900
80DB 143z#8 (MiETEL)
5WR , 7WR , 10WR , 7CR 12,000
10CR, 6LN, 6R, 7R, 8R (48)
9R, 10R, 11R , 18R20R
004-AT 103z 48 (HYRTER) 1500
4SP ,6SP, 11SP, 18SP, 6R , 11R, ’
18R, 8R, 9R , 20R ()
003-AT 113240 (HYRTER)
10R , 7R, 10WR , 7WR , 5WR , 4WR , 7(':0;)
|‘H

10CR, 7CR,4LN, 6LN , 9LN

Bfij: 2
i b 18 £ &
cal 24 R 2,200
18 R 1,550
1R 985
6 R 680
SMEC &Y
: 9DR 1,000
18 DR 2,000
] 24 SP 2,400
= 2l ] ks )
CRITEEE 18 SP 1,700
11 SP 1,050
9 SP 1,000
6 SP 800
43P 680
20R 1,550
8 R 950
9R 1,200
9AC 1,400
Ll 11 HD 1,700
=1} 0]
M4t )
310 S 1,500
(30
[ — 318 R 1,800

146



BONDHUS" J\E

&z 4
B ha#wsR TN B
351H101 7VAB105248, 149, m/m 50
Q8 TREY7 5248 240
*8 SHI8 74 240
Faith BREIINER105Z4R 360

I>L:_
hia

(%) EF2RE  EETIE

i 5
EhiRSE B FxXExE ki y =
1A 1A 108x51x2.8 20 o Sfi7: R
12A 12A 108x51x2.8 20 PEEiES Bi¥ EmHE
9A 9A 108x51x2.8 35 MT230 LREADNG: 500
10A 10A 108x51x2.8 20 MT3300 NERLHER 640

TENFERF

B2
R g B
PDA100 180mm 80
PDA100A 180mm(§15) 150

147



FORCE,

—]
LIoH

L

il
it

O}

Efse

NO.

44106A
77407A
77408A
77409A
77410A
77411A
77412A
77413A
77414A
77415A
77416A
7T7T417A
77418A
77419A
77420A
77421A
77422A

NO.

12.2
13
14.6
16
17.2
18
19.7
22
23
24
25.5
26.6
28
29
30

300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300
300

330
330
300
300
300
320
320
320
340
360
360
360
420
420
550
550
600

7741.4A
7745.16A
7743.8A
7747.16A
7741.2A
7749.16A
7745.8A
7743.4A

1/4
5/16
3/8
7116
1/2
9/16
5/8
3/4

10
12
14.6
16
18
19.7
23.5
26.6

148

300
300
300
300
300
300
300
300

360
360
360
400
400
450
480
500



FORCE.

TR BIRFEm

iR

E0HE
B RS {Big
2097 9-TEINEIRF 2,000

2,2.5,4,5,6,7,8,10mm
2097B(ZF &) O-TRAAIRTF 2,300
2,2.5,4,5,6,7,8,10mm

BT
B RS FEM/m {BAg
72402 2 130 120
724025 25 130 120
72403 3 130 130
72404 4 184 150
72405 5 184 160
72406 6 238 200
72407 7 238 250
72408 8 238 260
72410 10 238 300
7243.32 3/32" 130 140
7247.64 7/64" 130 150
7241.8 1/8" 130 150
7245.32 5/32" 184 170
7243.16 3/16" 184 180
7247.32 7/32" 238 220
7241.4 1/4" 238 270
7245.16 5/16" 238 330

149



FORCE, THRIR S

TRIZRRF TRZRIRZER S

E{U5 i
THRE s BEmm S THEE e EEmm (i
72606 T6 130 210 72707 T-7H 130 260
72607 T7 130 210 72708 T-8H 130 260
72608 T8 130 210 72709 T-9H 130 260
72609 T9 130 210 72710 T-10H 130 260
72610 T10 130 210 72715 T-15H 130 270
72615 T15 130 220 72720 T-20H 134 280
72620 T20 134 230 72725 T-25H 134 280
72625 T25 134 230 72727 T-27H 238 290
72627 T27 238 240 72730 T-30H 238 290
72630 T30 238 240 72740 T-40H 238 350
72640 T40 238 300 72745 T-45H 238 400
72645 T45 238 330 72750 T-50H 238 420
72650 T50 238 350 72755 T-55H 238 430
72655 T55 238 360 72723420 T-20H 234 310
72623420 T20 234 260 72723425 T-25H 234 310
72623425 T25 234 260

T T - B2

TRk 7 B S (BBHR) ERRE s BEmm B

72502 2 130 160

725025 25 130 160

72503 3 130 170

72504 4 184 180

72505 5 184 200

72506 6 238 240

72507 7 238 290

72508 8 238 300

72510 10 238 330

7253.32 3/32" 130 180

A 7257.64 7/64" 130 180

7251.8 1/8" 130 180

j@ 7255.32 5/32" 184 210

o bem——— ¢ 1. 7253.16 3/16" 184 220

7257.32 7/32" 238 260

b 7251.4 1/4" 238 260

30 7255.16 5/16" 238 310

%}w £ a 7253.8 3/8" 238 380

150



FORCE, REGEESTEGRZF

REETEBRT TREBNRT (TEBR)

B B3
BRI g F£Em/m i EREIRE HE F£EM/m 15
74425004 4 250 320 77430004 4 300 330
744250045 4.5 250 320 774300045 4.5 300 330
74425005 5 250 320 77430005 5 300 330
744250055 515 250 320 774300055 5.5 300 330
74425006 6 250 320 77430006 6 300 330
74425007 7 250 320 77430007 7 300 330
74425008 8 250 320 77430008 8 300 330
74425009 9 250 320 77430009 9 300 330
74425010 10 250 320 77430010 10 300 330
74425011 11 250 330 77430011 11 300 330
74425012 12 250 330 77430012 12 300 340
74425013 13 250 340 77430013 13 300 340
74425014 14 250 360 77430014 14 300 350
74440008 8 400 360 77440008 8 400 380
74440010 10 400 360 77440010 10 400 380
74440011 11 400 360 77440011 11 400 380
74440012 12 400 360 77440012 12 400 400
74440013 13 400 380 77440013 13 400 400
74440014 14 400 400 77440014 14 400 420
7442503.16  3/16" 250 340 7743003.16  3/16" 300 380
7442501.4 1/4" 250 340 7743001.4 1/4" 300 380
7442505.16  5/16" 250 340 7743005.16  5/16" 300 380
7442503.8 3/8" 250 340 7743003.8 3/8" 300 420
7442507.16  7/16" 250 350 7743007.16  7/16" 300 420
7442501.2 172" 250 360 7743001.2 172" 300 450
7442509.16  9/16" 250 380 7743009.16  9/16" 300 460
2134 135248 5,500 2095 937# 5,6,7, 8,9, 10, 4000

4,45,5,55,6,7,8,9, 10, 11,12, 13, (300 m/m)

11,12, 13, 14 (250 m/m)

151



[T 1]
amn
| Y
|

Il
n
@
O
A
m
_l
=
By
M
zZ
O
I

=
FORCE@ g~

g 1/4" 1/4"R=HE  3/8" 3B8"EE 12" 12"=8  3/4" 1"
4 80 120

4.5 80 120
5 80 120

5.5 80 120
6 80 120 90 150
7 80 120 90 150
8 80 130 90 150 100 200
) 80 130 90 150 100 200
10 80 130 90 150 100 200
11 100 140 90 150 100 200
12 100 150 90 150 100 200
13 120 160 100 150 100 200
14 130 180 100 160 100 210
15 100 160 120 220
16 120 160 120 220
17 120 160 120 220 280
18 140 180 130 220
19 140 180 130 220 280
20 150 200 150 230 280
21 180 200 150 230 280
22 180 250 150 230 280
23 220 280 150 250 300
24 240 300 160 250 300
25 180 300 320
26 180 300 320
27 180 300 320
28 220 360 320
29 220 360 350
30 220 400 350
31 250 430 380
32 250 430 350
33 350
34 420
35 420 700
36 420 700
38 450 750
40 550
41 550 750
42 550
44 700
46 700 1,000
50 800 1,200
54 1,200 1,200
55 1,200 1,400
58 1,400 1,400
60 1,400 1,600
63 2,000
65 2,000
67 2,500
70 2,700
71 2,800
75 3,500
77 4,200
80 4,500

152



FORCE,

- SOCKET ACCESSORIES

L3

T

SH7IIRATF

TV
ShathRat }RA8ESIZE REL g
H1/4#2 1/4" 2" 70
H1/444 1/4" 4" 80
H1/446 1/4" 6" 110
H3/82%1-1/2 3/8" 1-1/2" 80
H3/82k3 3/8" 3" 80
H3/8 46 3/8" 6" 130
H3/8:410 3/8" 10" 270
H1/22%3 1/2" 3" 150
H1/245 1/2" 5" 180
H1/22%10 1/2" 10" 300
H3/4 %4 3/4" 4" 580
H3/4 48 3/4" 8" 650
H3/4416 3/4" 16" 1,100
H12K8 1" 8" 1,500
H12#16 1" 16" 2,000

L 23R IIRAT

B
=EHRE #R8SIZE REL Big
22540 1/4" 5"(125M/M) 300
23540 3/8" 10"(250M/M) 450
24540 1/2" 15"(380M/M) 700
24541 1/2" 18" (450M/M) 750
26540 3/4" 19"(475M/M) 1,500
21540 1" 24"(600M/M) 7,000

58/ )BT

E5{1:52 Ef2

ERSRE $R8SIZE FEL g ERSRE $RAESIZE =EL
L1/2 1/2" 10" 550 H205 1/4" 5"(125MM) 150
L3/4 3/4" 13" 1,000 H308 3/8" 8"(200MM) 190
H410 1/2" 10"(250MM) 210
H412 1/2" 12"(300MM) 500
H620 3/4" 20"(500MM) 1,200
H130 1" 30"(750MM) 3,000

153



2 proropey -
FfORCE, ;EHE{“ SOCKET ACCESSORIES
EOiETE

SR
SRR #RIESIZE B
H1/4 1/4" 180
H3/8 3/8" 180
H1/2 1/2" 230
H3/4 3/4" 1,300
H1 1" 2,000
SHENTF
Bz
=EHRE IBI8SIZE  REMM =EE
CRV1/4 1/4" DR 155 800
CRV3/8 3/8" DR 215 800
CRV1/2 1/2" DR 265 800
CRV3/4 3/4" 505 2,800
CRVA1 1" 800 8,400
FEIR/NE TR
SR
=R P& OSIZE Big
HD2030 1/4 "Fx3/8" M 170
HD3020 3/8"Fx1/4" M 170
HD3040 3/8"Fx1/2" M 180
HD4030 1/2"Fx3/8" M 200
HD4060 1/2"Fx3/4" M 320
HD6040 3/4"Fx1/2" M 400
HD6010 3/4"Fx1" M 550
HD1060 1"Fx3/4" M 700

154



FORCE, 1/4"EB#H socker sets

VR | {48

ERNRE 32203 -t 2300 ERRE #2281 @& 2600
13xE=4, 4.5,5,5.5,6,7,8,9,10, 11, 12, 13, 14 11xEf=4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14
IXEENE 4x7 ANSEER 3, 4, 5, 6,
2xIER 3xO FEFIEF0.5x4, 1.0x5.5, 1/2 x7
IXT Bl 1B1R 3xd FERFIILBFNO1, NO2, NO3
1XBmIETE 1XEENE
1XF4% 2xEF 2", 6"

1XT BY5E 7 B15
1x BIEEE
X312

l SO0
0(’\00 ol o

E=TIVR | IV |
SRR #2253 B 3100 = RSREE &R SIZE Eig
11xE7= 4, 5,5.5,6, 7, 8,9, 10, 11, 12, 13MM *%3051M 1XHENE 2,200
xEER b5, 6,7,8,9, 10, 11, 12, 13MM 2xiEiE1-1/2", 3"
2xIE1E 2", 6" XNEEER
GHENE 16(5/8")20.6(13/16)
1XFJi8
#3051 1x:HEIERH3D 1,600
2xIE1E1-1/2" 3"
ANEEEF
16(5/8")20.6(13/16)
MBS EDS

155



o fb i 5% A3073 &%
7x3/8"DREHEF
E5, E6, E7, E8, E9, E10, E12, E14

PR Ea s 8:01

i
=HETE ¥2112 &8 2,700

6x1/4 "DR T10H,T15H,T20H,T25H,T27H,T30H
5x3/8 "DR T40H,T45H,T50H,T55H, T60H

SRIESHH

156

uu‘ﬁl

Vool n

KT6
KT7
KT8
AKT9
AKT10
AKT15
AKT20
AKT25
KT27
AKT30
KT40
KT45
K2086

:% SOCKET SETS

#3061
6x3/8" DREXEF
T9,T10,T15,T20,T30,T40

41417 8B NCEEFRM

#4141

9x7 \BEEER=( 4, 5, 6, 8, 10, 12, 14,17, 19)
IXEEFES", 1xEEIFCR-V
IXT BT 18F12", IxE A8

8 SIZE EE(MM)

T6
T7
T8
T9
T10
T15
T20
T25
T27
T30
T40
T45

T8.T10.T15.720.2,100

B

B

50
50
65
65
70
70
85
85
100
100
100
100

T25.727.730.T40

g

210
210
210
210
225
240
240
255
255
270
280
312



S48 &7 4

SRGREE  Ke251 A& 3,400 |ESHREE K335
17xE6,7,8,9, 10, 11,12, 13,14, 15, 16, 17, 26xEfF 7/8", 13/16", 3/4", 11/16", 5/8", 9/16", 1/2",
18, 19, 20, 21, 22 716", 3/8", 5/16", 1/4", 6,7, 8,9, 10, 11, 12,
1xEENE 13, 14,15, 16, 17, 18, 19, 21

IxEEIEER 1N BEERS5/8" 3xiE173",6" 9"
1IXT B/ J5B1E 1CEENS X BEIEE

2x 123", 6" OX ARG —4, 23

2XNEEEF16, 21 1x;BFEEE3/8", 1/2" EF#8SOCKET SET

ﬁﬁ'l‘!‘
= E)#H sockeT seTs

2228320000

O

B ha#waE 4243 #4243S Bha#wsE K4173 #4173S

18-E@ 18-EfF 13- 13-
10, 11,12, 13, 14, 3/8", 7/16", 15/32", 1/2", 9/16", 8,10, 11, 12, 13, 5/16", 3/8", 7/16", 1/2", 9/16",
15,16, 17, 18,19, 19/32", 5/8", 11/16", 3/4", 14,15,16,17,19, 5/8" 11/16", 3/4", 13/16",
20, 21, 22, 23, 24, 25/32", 13/16", 7/8", 15/16", 1, 21, 28, 26 7/8", 15/16", 1, 1-1/16"
27, 30, 32 1-1/16", 1-1/8", 1-3/16", 1-1/4"
IXGEHENE

1T B 7 1,85210" 1IXEEIFCR-V 1T B8 /37842 10"

X B[R 2x FEFE5", 10" IXER 5"

1xF 858 RS IXNEEERF21MM
&#% 5,000 5,500 {&i% 3,000 3,300

157



FORCE, () 1/2"ERIERHH sooker sets

5 'n *H& N

t'i:i\?l

'll'illa EiE

B
ERGHRIE #4093 g BREIREE 4102 &
E10,E11,E12,E14,E16,E18,E20,E22,E24 T20, T25, T27, T30, T40, T45, T50, T55, T60

S
ERERRIE #4067 =5 2,800 EhERIE %4041 =5
6-1/2"DREEIZEHER 4-12'DREZIEF
E10, E12, E14, E16, E18, E20 2R ABIRTE T40x120MM, T45x120MM,
T50x140MM, T55x140MM
|
SR BT
EfriH
EhERIE #5091 =45
#5002 (chzg)
T10~T50 92 A
T10,T15,T20,725,T27,

T30,T40,T45,T50

158



FORCE,

3/4" 21PCS

O 3/4"EBE#H socker seTs

Sl

#6201
*6201S

i

{®1%13,000
{®1%15,000

3/4 " 15PCS

&R

*6141
#6141S

£
{&1%11,000
{®1%13,000

16X EF

19, 21, 22, 23, 24, 26,
27, 29,30, 32, 35, 36,
38, 41, 46, 50

IXCHENR
2xIER 4", 8"
1xBI8

16xEf5

7/8", 15/16", 1", 1-1/16", 1-1/8",

10-E

22, 24, 27, 30, 32, 36, 38,

1-3/16", 1-1/4", 1-5/16", 1-3/8", 41,46, 50
1-7/16", 1-1/2", 1-5/8", 1-3/4",
1-13/16", 1-7/8", 2" .
1XEENT
2XE‘F§ 4||, 8||
X B
= |3

10-EiF

7/8", 15/16", 1", 1-1/8",
1-1/4",1-7/16", 1-1/2",
1-5/8", 1-3/4", 2"

I__I,% SOCKET SETS

17xEF

36, 38, 41, 46, 50, 54,
55, 58, 60, 63, 65, 67,
70, 71, 75, 77, 80

1IXEENZF 32"
1xi81% 22"
2xfEfF 8", 16"

£
#8211 {#$840,000
*8211S {E4840,000
17XEFH
1-7116", 1-1/2", 1-5/8", 1-11/16", 1-3/4",

1-13/16",1-7/8", 2", 2-1/8", 2-3/16",
2-1/4", 2-3/8", 2-112", 2-5/8", 2-3/4",
2-15/16", 3-1/8"

10xEfF

36, 41, 46, 50, 55, 60,

65, 70, 75, 80

X EE)F 32"
1xB1F 22"
2xEF 8", 16"

159

#8141

Ehi
{&$527,000

#8141S {E1%28,000

1-EiF

1-7H6", 1-1/2", 1-1146", 1-7/8"
2" 2-1/4", 2-3/8", 2-5/8, 2-15/16,
3-1/8



S 2
=3

Faith F.8):

Fiu = g =

eI 3/8" 3B"ER 12" 12'RE 12'hRE 3/4" IA'RH R 1" 1"RH# 112"
6 110 150 19 620 900

7 110 150 21 620 900

8 110 150 140 220 22 620 900

3 110 150 140 220 23 620 900

10 110 150 140 220 24 620 900

11 110 150 140 220 25 620 900

12 110 150 140 220 200 26 620 900

13 110 150 140 220 200 27 650 900

14 110 150 140 220 200 28 650 900

15 120 180 160 240 29 650 900

16 120 180 160 240 220 32 650 900

17 120 180 160 240 220 350 620 33 700 1,000

18 140 200 160 250 350 620 34 700 1,000

19 140 200 160 250 220 350 620 35 700 1,000

20 180 230 180 280 350 620 36 720 1,050

21 180 230 180 280 230 350 620 38 900 1,050

22 180 230 180 280 250 370 620 41 900 1,200 7,200
23 200 330 270 370 620 46 1,200 1,800 7,500
24 200 330 300 370 620 50 1,500 2,000 8,000
25 240 370 370 650 52 2,000 2,200 8,500
26 240 370 370 650 54 2,000 2,300 8,800
27 240 370 370 650 55 2,000 2,300 9,000
28 290 450 430 650 56 2,200 2,400

29 290 450 430 650 58 2,200 2,500 9,200
30 300 450 430 700 60 2,400 2,700 9,500
31 320 460 430 700 63 2,700 3,000

32 320 460 430 700 65 2,900 3,300 10,000
33 400 700 450 700 67 3,200 4,200

34 420 700 450 760 68 10,500
35 420 780 470 760 70 3,500 4,300 11,000
36 450 780 500 800 72 11,500
37 500 850 75 4,500 6,000 12,000
38 480 780 550 800 76 5,200 8,000

39 520 850 650 1,300 77 5,500 8,000

41 580 850 650 1,300 78 12,500
42 820 80 5,600 9,000 13,000
46 820 1,700 85 7,000 13,500
48 900 88 17,000
50 1,100 1,800 90 7,800 18,000
52 1,400 95 26,000
54 1,400 100 29,000
55 1,500 105 31,000
56 1,700 110 33,000
58 1,700 115 34,000
60 2,300 120 35,000
63 125 40,000
65 130 50,000
67

70

160



. T e H

Faith RENEBREF
(IMPACT SOCKET ACCESSIORIES)

RENEEE R ENEE

v BiH
TR IR 1948SIZE T B EEL e
AD3020 3/8"M(F)x1/4"x(M) 160 A3/8 3 3/8" 3"(75MM) 250
AD3040 3/8"(F)x1/2" ¢35 (M) 170 A3/8 6 3/8" 6"(150MM) 300
AD4030 1/2" [1(F)x3/8"e5(M) 220 A1/23¥5 1/2" 5"(125MM) 300
AD4060 1/2"M(F)x3/4" (M) 300 A1/22K10 1/2" 10"(250MM) 450
AD6040 3/4"M1(F)x1/2" ¢35 (M) 400 A3/4 ¥4 3/4" 4"(100MM) 850
AD6080 3/4" L (F)x1" {3 (M) 520 A3/4 K7 3/4" 7"(175MM) 950
AD8060 1" [H(F)x3/4" (3(M) 850 A3/4K10 3/4" 10"(250MM) 1,050
AD80120 1" I(F)x1-1/2" E5(M) 1,200 A3/4313 3/4" 13"(330MM) 1,300
AD12080 1-1/2"[H(F)x1"X(M) 10,000 A1:¥4 1" 4"(100MM) 1,800
A1 K7 1" 7"(175MM) 2,000
A1¥10 1" 10"(250MM) 2,100
A1:#13 1" 13"(330MM) 2,500

REEOEE
Bin R
TR 1RARSIZE e
A3/8 3/8"D.R 350
Al/2 1/2"D.R 400
A3/4 3/4"D.R 1,700
Al 1"D.R 2,400

161



o 1L A9 5 B

STRAIGHT SHANK DRILLS

“Toor

£ B (Material) : HSS Bi%:mm - ¢/ HNT/PCS)

EE WE ER R mR TR (R
Flute ~ Overall ) Flute ~ Overall

mE R TR mgp

: Flute  Overall X
Dia.  pength Lengn Price

Dia. Length ~ Length Dia.  Length Lengh Price

0.2 3 19 | 180 36 | 48 76 38 104 | 98 | 133 | 230
03 | 35 | 20 110 37 | 48 76 38 7.1 75 | 108 | 108 10.5 | 100 | 137 | 230
04 | 55 | 24 90 38 | 48 76 38 7.2 75 108 | 108 10.6 | 100 | 137 | 240
05 | 75 | 27 75 39 | 51 79 38 73 75 | 108 | 108 10.7 | 100 | 137 | 240
06 | 85 | 30 60 40 | 54 83 38 74 78 1 | 108 10.8 | 103 | 140 | 240
0.7 10 32 50 4.1 | 54 83 45 7.5 78 | 111 | 108 109 | 103 | 140 | 240
0.8 11 34 38 42 | 54 83 45 76 | 78 | 111 | 120 11.0 | 103 | 140 | 240
09 13 36 38 43 | 54 83 45 7.7 81 114 | 120 11.1 | 103 | 140 | 280
1.0 18 40 35 44 | 56 86 45 7.8 81 114 | 120 112 | 106 | 143 | 280
1.1 20 42 32 45 | 56 86 45 79 81 114 | 120 113 | 106 | 143 | 280
12 20 42 32 46 | 56 86 52 8.0 81 114 | 120 114 | 106 | 143 | 280
1.3 22 45 32 47 | 39 89 52 8.1 84 | 117 | 140 1.5 | 106 | 143 | 280
14 23 48 32 48 | 59 89 52 82 84 | 117 | 140 11.6 | 109 | 146 | 300
1.5 23 48 32 49 | 62 92 52 83 84 | 117 | 140 1177 | 109 | 146 | 300
16 | 25 | 50 32 50 | 62 92 52 84 | 87 | 121 | 140 11.8 | 109 | 146 | 300
17 | 25 | 50 32 51 | 62 92 60 85 | 87 | 121 | 140 119 | 109 | 146 | 300
1.8 28 52 32 52 | o4 95 60 8.6 87 | 121 | 150 12.0 | 111 | 149 | 300
19 | 28 52 32 53 | o4 95 60 8.7 87 | 121 | 150 121 | 111 | 149 | 330
20 30 55 32 54 | o4 95 60 8.8 89 | 124 | 150 122 | 111 | 149 | 330
2.1 30 55 32 55 | o4 95 60 8.9 89 | 124 | 150 123 | 111 | 149 | 330
22 33 58 32 56 | 67 98 72 920 89 | 124 | 150 124 | 114 | 152 | 330
23 33 58 32 57 | 67 98 72 9.1 89 | 124 | 180 125 | 114 | 152 | 330
24 35 61 32 58 | 67 98 72 92 | 92 | 127 | 180 12.6 | 114 | 152 | 340
2.5 35 61 32 59 | 67 98 72 93 92 | 127 | 180 127 | 114 | 152 | 340
2.6 37 64 32 60 | 70 | 102 | 72 94 92 | 127 | 180 128 | 114 | 152 | 340
2.7 37 64 32 6.1 | 70 | 102 | 80 95 92 | 127 | 180 129 | 114 | 152 | 340
2.8 39 67 32 62 | 70 | 102 | 80 9.6 95 | 130 | 190 13.0 | 114 | 152 | 340
29 42 71 32 63 | 70 | 102 | 80 9.7 95 | 130 | 190 135 | 122 | 168 | 520
30 | 42 | 71 32 64 | 73 | 105 | 80 98 | 95 | 130 | 190 140 | 122 | 168 | 535
3.1 42 | 71 34 65 | 73 | 105 | 80 99 | 95 | 130 | 190 145 | 122 | 168 | 630
3.2 42 | 7 34 6.6 | 73 | 105 | 93 10.0 | 95 | 130 | 190 15.0 | 132 | 181 | 640
33 45 73 34 67 | 73 | 105 | 93 10.1 | 98 | 133 | 230 155 | 132 | 181 | 680
34 45 73 34 68 | 73 | 105 | 93 102 | 98 133 | 230 16.0 | 132 | 181 | 700
35 45 73 34 69 | 73 | 105 | 93 103 | 98 | 133 | 230 16.5 | 132 | 181 | 760

FRAR T L B

R UiasiEE

162



A

of S W U o0 Sk A6 %

INCH STRAIGHT SHANK DRILLS TiN STRAIGHT SHANK DRILLS

# '&(Material) : HSS TiN Coating B jnch -mm - J HNT/PCS)

wppg Wk OER fEiks AREE etk | EWEE  KeiEk

Flute Overall

Dia.(inch) Price Dia.(inch) Price Dia.(inch) Price
Length ~ Length
1/32 11 34 58 1.0 55 1/16 54
3/64 20 42 45 1.1~2.0 55 5/64
1/16 25 50 35 2.1~3.0 56 3/32 54
5/64 30 55 42 3.1~35 62 7/64
3/32 33 58 32 3.6~4.0 70 1/8 62
7/64 39 67 35 4.1~4.5 80 9/64
18 42 71 34 4.6~5.0 88 5/32 70
9/64 48 76 46 5.1~5.5 100 11/64
5/32 51 79 38 5.6~6.0 115 3/16 88
11/64 54 83 50 6.1~6.5 130 13/64
3/16 59 89 52 6.6~7.0 150 7/32 115
13/64 62 92 66 71~7.5 170 15/64
7/32 64 95 68 7.6~8.0 190 1/4 130
15/64 67 98 84 8.1~8.5 215 17/64
1/4 70 102 80 8.6~9.0 235 9/32 180
17/64 73 105 105 9.1~94 300 19/64
9/32 75 108 119 9.5 280 5/16 200
19/64 78 111 141 9.6~9.9 320 21/64
5/16 81 114 120 10.0 300 11/32 270
21/64 84 117 173 10.1~10.4 375 23/64
11/32 87 121 150 10.5 340 3/8 295
23/64 89 124 209 10.6~10.9 400 25/64
3/8 92 127 180 11.0 370 3/32 350
25/64 95 130 253 11.1~114 460 27/64
3/32 98 133 240 115 420 7/16 420
27/64 | 100 137 341 11.6~11.9 500 29/64
7/16 103 140 280 12.0 460 15/32 460
29/64 | 106 143 363 12.1~12.4 540 31/64
15/32 109 146 300 125 490 1/2 550
31/64 | 111 149 396 12.6~12.9 600
12 114 152 340 13.0 550
FFRAR T L EHEK
PO TER A H TG E

163



“Togi
LT B
STRAIGHT SHANK DRILLS
“Toor
#1 & (Material) : HSS it :mm - i/ HFNT/PCS)
@® SD (5,7100) @ SD (1,7100)
A (R A (R 3 FIE O et 2y S A (R
(m/m) Price (m/m) Price (m/m) Price (m/m) (m/m) Price
0.35 130 4.65 96 8.95 250 0.31~0.34 150 2.46~2.49 58
0.45 115 4.75 96 9.05 290 0.36~0.39 130 2.51~2.54 56
0.55 90 4.85 96 9.15 290 0.41~0.44 120 2.56~2.59 56
0.65 80 4.95 96 9.25 290 0.46~0.49 110 2.61~2.64 56
0.75 62 5.05 110 9.35 290 0.51~0.54 100 2.66~2.69 56
0.85 58 5.15 110 9.45 290 0.56~0.59 90 2.71~2.74 56
0.95 58 5.25 110 9.55 330 0.61~0.64 80 2.76~2.79 56
1.05 60 5.35 110 9.65 330 0.66~0.69 80 2.81~2.84 56
1.15 54 5.45 110 9.75 330 0.71~0.74 70 2.86~2.89 56
1.25 54 5.55 130 9.85 330 0.76~0.79 70 2.91~2.94 56
1.35 54 5.65 130 9.95 330 0.81~0.84 62 2.96~2.99 56
145 54 5.75 130 10.05 380 0.86~0.89 62
1.55 54 5.85 130 10.15 380 0.91~0.94 62
1.65 54 5.95 130 10.25 380 0.96~0.98 62
1.75 54 6.05 140 10.35 380 1.01~1.04 60
1.85 54 6.15 140 10.45 380 1.06~1.09 60
1.95 54 6.25 140 10.55 420 1.11~1.14 60
2.05 52 6.35 140 10.65 420 1.16~1.19 60
2.15 52 645 140 10.75 420 1.21~1.24 60
2.25 52 6.55 160 10.85 420 1.26~1.29 60
2.35 52 6.65 160 10.95 420 1.31~1.34 60
245 52 6.75 160 11.05 470 1.36~1.39 60
2.55 52 6.85 160 11.15 470 1.41~1.44 60
2.65 52 6.95 160 11.25 470 1.46~1.49 60
2.75 52 7.05 190 11.35 470 1.51~1.54 58
2.85 52 7.15 190 1145 470 1.56~1.59 58
2.95 52 7.25 190 11.55 480 1.61~1.64 58
3.05 62 7.35 190 11.65 480 1.66~1.69 58
3.15 62 7.45 190 11.75 480 1.71~1.74 58
3.25 62 7.55 200 11.85 480 1.76~1.79 58
3.35 62 7.65 200 11.95 480 1.81~1.84 58
345 62 7.75 200 12.05 550 1.86~1.89 58
3.55 64 7.85 200 12.15 550 1.91~1.94 58
3.65 70 7.95 200 12.25 550 1.96~1.99 58
3.75 70 8.05 230 12.35 550 2.01~2.04 58
3.85 70 8.15 230 12.45 550 2.06~2.09 58
3.95 70 8.25 230 12.55 580 2.11~2.14 58
4.05 84 8.35 230 12.65 580 2.16~2.19 58
4.15 84 8.45 230 12.75 580 2.21~2.24 58
4.25 84 8.55 250 12.85 580 2.26~2.29 58
4.35 84 8.65 250 12.95 580 2.31~2.34 58
445 84 8.75 250 2.36~2.39 58
4.55 96 8.85 250 2.41~2.44 58
(O BIREE - RERlEE FTE/TE oo SAIWA (T
(2)SD(1/100) IR & % » KA FH20T AL » FTHE /1 - FOT a8

164



TV b 9

STRAIGHT SHANK LONG DRILLS

Tool
% Fe(L) : Overall Length
£ B (Material) : HSS # F(1) : Flute Length s mm - Y/ ENT/PCS)
= 100L 150L 200L 250L 300L 400L
Length wwr  mik WE B WE 6K BR AR BE HkOEBE ER
Lk;lltlgtteh IED Lk;ll:lgtteh L3 Lk;llilgtteh O lellllgt:h [Hite Lh;llilgtteh T L?:llgtteh T
1.0 40 160 | 60 220
11~1.5 40 160 | 60 220
1.6~1.9 40 160 | 60 210
2.0 40 140 | 60 170 | 100 240
21~24 50 150 | 60 170 | 100 250
2.5 50 150 | 60 170 | 100 240
2.6~2.9 50 160 | 75 180 | 100 250 | 125
3.0 50 160 | 75 180 | 100 230 | 125 260 150 300
3.1~34 50 170 | 75 190 | 100 230 | 125 2801 150 330
3.5 50 170 75 190 | 100 230 | 125 2801 150 330
3.6~3.9 50 180 | 75 210 100 250 | 125 300( 150 350
4.0 50 180 | 75 210 100 250 | 125 300( 150 350
4.1—44 75 230 100 280 | 125 330 150 380
4.5 75 230 | 100 280 | 125 3301 150 380
4.6—4.9 75 250 | 100 300 | 125 360 150 420
5.0 75 250 100 300 | 125 360 150 420
51~54 90 290 | 100 360 | 125 4401 150 510
5.5 90 270 | 100 330 125 4001 150 500
5.6—5.9 90 330 100 390 | 125 4601 150 550
6.0 90 290 100 360 | 125 4401 150 510
6.1—-6.4 90 360 100 430 | 125 500 150 570 200
6.5 90 330 100 390 | 125 460 150 550 200
6.6—6.9 90 420 100 470 | 125 5501 150 620 | 200
7.0 90 360 | 100 430 | 125 500 150 570 | 200
7.5 90 4201 100 470 | 150 550|150 620 | 200
8.0 90 470 125 510 150 600|175 680 | 200 1200
8.5 100 535|125 580 | 150 650|175 750 | 200
9.0 100 570 125 620 | 150 710 175 800 | 200 1400
9.5 100 615|125 670 | 150 750 175 870 200
10.0 670 125 720 | 150 850|175 950 | 200 1700
10.5 750 125 850 | 150 900|175 1,000 | 200
11.0 150 950|175 1,100 | 200 1900
11.5 150 1,100 175 1,200 | 200
12.0 150 1,150 175 1,300 | 200 2100
12.5 150 1,250 175 1,420 | 200
13.0 1,300| 175 1,500 | 200 2350
% 01~ FJA00LERTE /1 /E » SOl iREATE -
2 ~7.0~13.0/ R BHO.1~0.4 F20.6~0.9 %A 1L+ EER T2 EER
R & ZR PR EIN10%~15% - RA38 g T iE 8

165



CA Gl o FH ) o ] T A 9 S
COBALT HSS STRAIGHT SHANK DRILLS
(FOR STAINLESS STEEL)

N o o e

# B (Material) : HSS-CO

B{% : jnch -mm - 7/ ZNT/PCS)

Tyl KA i Bt
(m/m) (inch)
0.5 90 1/6 54
0.6 80 3/32 54
0.7 75 1/8 62
0.8 58 5/32 70
0.9 58 3/16 100
1.0 55 7/32 130
1.1~1.5 55 1/4 150
1.6 ~2.0 55 9/32 200
2.1~2.5 56 5/16 230
2.6~3.0 56 11/32 330
3.1~3.5 62 3/8 380
3.6~4.0 70 13/32 450
4.1~4.5 88 7/16 570
4.6~5.0 100 15/32 600
51~5.5 110 1/2 600
5.6~6.0 140
6.1~6.5 150 RER0.05m/m#H %  (Step 0.05mm }
6.6~7.0 180 A B (m/m) ¥ {8 (Unit Price)
7.1~7.5 200 0.55 135
7.6 ~8.0 230 0.65 125
8.1~8.5 260 0.75 115
8.6~9.0 280 0.85~0.95 95
9.1~9.5 330 1.05~1.45 80
9.6 ~10.0 380 1.55~1.95 80
10.1~10.5 450 2.05~245 80
10.6~11.0 500 2.55~2.95 80
11.1~11.5 570 3.05~3.45 90
11.6~12.0 600 3.55~3.95 100
12.1~12.5 640 4.05~4.45 130
12.6 ~13.0 660 4.55~4.95 150
FrrEadal - ARFEH T2 EHFER

1. 7R A130% TRIZHE 347 S @ Bl

28R W AR B R A E R BE R (5CO 8% )

3. TRk & AR FH B SN RS MO W H #5 ) (HRC 67 % )

166

RO UL iE




“Trch
ZII <
DRILL BLANKS
#1 B (Material) : HSS Bl :mm 5T/ F(NT/PCS)
R w
g e PR oL 1soL 2000 Length 4501, 2001
Dia. Dia.
0.2 125 135 30 | 470
03 70 120 140 350 | 520
0.4 55 115 145 370 | 550
0.5 20 | 6 | 75 150 400 | 580
0.6 ~07 30 | 45 | 70 155 420 | 610
08 ~09 28 34 60 16.0 440 640
1.0 26 | 34 | 50 | 100 [ 150 165 460 | 680
11 ~20 26 | 25 | 45 | 80 | 120 170 480 | 710
21 ~30 26 | 25 | 45 | 70 [ 100 175 510 | 760
31 ~35 28 | 28 | 45 | 60 | 110 180 530 | 790
36~ 40 32 | 28 | 45 | 60 | 110 185 550 | 920
41~ 45 36 | 30 | 45 | 64 | 115 19.0 580 | 970
46~ 50 2 | 35 [ s0 | 75 | 125 195 600 | 1070
51~ 55 52 ss | 80 | 135 200 650 | 1210
5.6~ 60 58 60 | 88 | 155 205 210 | 700 | 1440
61~ 65 65 70 | 98 | 165 25,220 | 750 | 1560
66~ 7.0 75 30 | 108 [ 180 25,230 | 820 | 1620
74~ 75 85 o0 | 124 | 195 235 ,240 | 940 | 1800
76~ 80 95 o5 | 135 | 210 245 250 | 1020 | 1980
81~85 | 110 145 | 225 255 260 | 1180 | 2100
86~90 | 120 150 | 240 265 ,270 | 1300 | 2280
91~95 | 140 160 | 260 275,280 | 1400 | 2520
96~ 100 | 155 170 | 270 285,290 | 1500 | 2700
10.1 ~ 105 180 180 290 295 , 300 1650 2880
106~ 110 | 200 195 | 310
1.1~ 11.5 235 230 330
11.6 ~ 12.0 250 235 370
12.1 ~ 125 275 420
126~ 130 | 290 450
FIR T L AR
T AT

167



Tool =
st 2\ $E R
NOSS DRILLS
R O™ g
£4 & (Material) : HSS g HSS-CO F{%: inch -mm - 5/ FNT/PCS)
AEME MR M RN M E M H KRB M B M B
(mm) HSS HSS-CO (mm) HSS HSS-CO (inch) HSS HSS-CO
13.0 440 840 13.1~13.4 600| 1,100 12 440 840
13.5 470 900 13.6~13.9 640 1,160 17/32 470 900
14.0 480 960 14.1~14.4 680 1,240 9/16 540 1,040
14.5 540 1,040 14.6~14.9 740 1,340 | | 19/32 720
15.0 560 1,100 15.1~154 780 1,420 5/8 620 1,200
155 600 1,160 15.6~15.9 820 1,500 . 21/32 780
16.0 620 1,200 16.1~16.4 850 1,560 11/16 760 1,440
16.5 670 1,280 16.6~16.9 900 1,660 | | s 23/32 950
17.0 710 1,360 171~174 960 1,760 3/4 890 1,640
17.5 760 1,440 17.6~17.9 1,020 1,860 | | 25/32 1,100
18.0 780 1,500 18.1~18.4 1,060 1,940 13/16 1,000 2,000
18.5 820| 1,560 18.6~18.9 1,100{ 2,020 | 27/32 1,250
19.0 850 1,640 19.1~19.4 1,160 2,120 7/8 1,300 2,300
19.5 890 1,700 19.6~19.9 1,200 2,200 = 29/32 1,500
20.0 970 1,840 | |=| 20.1~204 1,280 2,400 15/16 1,400 2,600
205 -21.0 1,100 2,000 | || 20.6~20.9 1,360 2,600 2 31/32 1,650
215 ,220 1,200 2,200 | |%| 21.1~21.4 1,500 2,740 1" 1,760 3,200
225 ,23.0 1,300 2,400 | |%| 21.6~21.9 1,560 2,860 | 1-1/32 2,090
235 ,24.0 1,400 2,600 |=| 22.1~22.4 1,680 3,120 || 1-1/16 1,870
245 ,25.0 1,500 3,000 | |[=]| 22.6~22.9 1,680 3,120 H 1-3/32 2.420
255 .26.0 1,600 | 23.1~23.4 1,820 3,380 1-1/8 2,310
26.5 270 1,700 %[ 23.6~23.9 1,820 3,380 5 1-5/32 2910
275 ,28.0 1,900 % 24.1~24.4 2,100| 3,900 |[=|1-3/16 2,700
28.5 -29.0 2,100 % 24.6~24.9 2,100 3,900 5 1-7/32 3,850
29.5 -30.0 2,200 1-1/4 3,630
30.5 -31.0 2,640 5 1-9/32 4,400
315 -320 3,300 3| 1-5/16 4.400
325 -33.0 3,700 H 1-3/8 4,620
335 340 4,000 3| 1-7/16 4,950
345 ,35.0 4,200 1-1/2 5,060
w o MREE - IRRICRRE - iTRTZE - ARFR L [
RO EEaiiihE

168



%Ej ¥
v S e
TAPER SHANK DRILLS
e
#f B (Material) : HSS B inch -mm - i/ HNT/PCS)
SRR (R 261 FE R T BE I HLES EHRSE R
(m/m) Price (m/m) Price (inch) (inch) Price
8.0 450 35.5,36.0 [ 5,130 1/2 810 1-7/16 6,600
85-:9.0 510 36.5 -37.0 | 5,560 17/32 810
9.5,10.0 570 37.5,38.0 | 6250 9/16 900 1-1/2 6,890
10.5 » 11.0 630 38.8,39.0 | 6,350 19/32 1,000
11.5 680 39.5,40.0 | 6,550 5/8 1,000 1-9/16 8,380
12.0 720 41.0 7,700 21/32 1,140
12.5 720 42.0 8,000 11/16 1,190 1-5/8 8,400
13.0 720 43.0 9,000 23/32 1,330
13.5 . 14.0 760 44.0 9,600 3/4 1,570 1-11/16 10,160
14.5 ., 15.0 890 45.0 9,900 25/32 1,520
15.5 . 16.0 950 46.0 10,500 13/16 1,570 1-3/4 10,450
16.5 ., 17.0 | 1,090 47.0 11,000 27/32 1,660
17.5 ,18.0 | 1,230 48.0 11,600 7/8 1,760 1-13/16 12,350
18.5,19.0 | 1,280 49.0 12,000 29/32 | 2,090 1-7/8 12,730
19.5 -20.0 | 1420 50.0 13,550 15/16 2,180 1-15/16 14,250
20.5 -21.0 | 1,500 31/32 | 2,330 2" 14,800
21.5-22.0 | 1,610 1" 2,330
22.5-23.0 | 1,710
23.5 ,24.0 | 1,950 1-1/16 2,750
24.5 ,25.0 | 2,160
25.5 ,26.0 | 2,330 1-1/8 3,090
26.5 :27.0 | 2470
27.5 ,28.0 | 2,660 1-3/16 3,700
28.5 .29.0 | 2,950
29.5 ,30.0 | 3,370 1-1/4 3,990
30.5 - 31.0 | 3,660
31.5 .32.0 | 3,990 1-5/16 5,600
32.5,33.0 | 4420
33.5,34.0 | 4,700 1-3/8 5,220
34.5 .35.0 | 4,990
FFAR T EHER
R Eia s 8

169



FRRARIN BRREARIN FrimAnIA BRISRRIN

AFIGM H.T SFT PO.T. N.T SKS
e SKS(3z) SKS(f8) SKH(3Z) | SKS(3z) SKH(3Z) | SKS(3%Z) SKH(3%) R 1RB()

M1x0.25 102.00

M1.2x0.25 95.00

M1.4x0.3 78.00

M1.6x0.35 83.00

M1.7x0.35 64.00

M2x0.4 59.00 177.00 325.00 315.00

M2.3x0.4 69.00 207.00 333.00 290.00

M2.5x0.45 65.00 195.00 291.00 265.00

M2.6x0.45 56.00 168.00 237.00 229.00 110.00
M3x0.35 85.00 255.00

M3x0.5 43.00 129.00 136.00 196.00 191.00 150.00 100.00
M3x0.6 43.00 129.00 83.00 196.00 191.00 150.00 100.00
M3.5x0.35 243.00

M3.5X0.6 52.00 156.00 88.00 206.00 200.00 160.00 120.00
M4x0.5 82.00 246.00

M4x0.7 43.00 129.00 136.00 186.00 184.00 150.00 100.00
M4x0.75 43.00 129.00 186.00 184.00 150.00 100.00
M4.5x0.5 65.00 195.00

M4.5x0.75 51.00 153.00 234.00 230.00 190.00 140.00
M5x0.5 61.00 183.00

M5x0.75 228.00

M5x0.8 46.00 138.00 140.00 83.00 190.00 184.00 160.00 115.00
M5x0.9 46.00 138.00 190.00 83.00 184.00 160.00 115.00
M5.5x0.5 225.00

M5.5x0.75 264.00

M5.5x0.9 64.00 192.00 86.00 239.00 86.00 239.00 200.00 160.00
M6x0.5 93.00 279.00

M6x0.75 64.00 192.00

M6x1.0 50.00 150.00 160.00 201.00 196.00 180.00 130.00
M7x0.5 402.00

170



&ro @?’ﬁﬁ*lﬂﬁﬁﬁ

SN R BEK EIEER

H.T SH PO T N T SKS
M7x0.75 103.00 309.00
M7x1.0 86.00 258.00 267.00 260.00 260.00 180.00
M7x1.25 423.00
M8x0.5 618.00
M8x0.75 148.00 444.00 210.00
M8x1.0 103.00 309.00 170.00 416.00 170.00 406.00 210.00
M8x1.25 76.00 228.00 205.00 275.00 265.00 260.00 180.00
M8x1.5 426.00
M9x0.5 1,116.00
M9x0.75 801.00
M9x1.0 552.00
M9x1.25 115.00 345.00 200.00 436.00 200.00 436.00 300.00 230.00
M9x1.5 606.00
M10x0.5 801.00
M10x0.75 579.00
M10x1.0 122.00 366.00 510.00 495.00 260.00
M10x1.25 98.00 294.00 260.00 365.00 152.00 355.00 310.00 240.00
M10x1.5 98.00 294.00 260.00 365.00 152.00 355.00 310.00 240.00
M11x0.5 1,209.00
M11x0.75 873.00
M11x1.0 576.00
M11x1.25 438.00
M11x1.5 438.00 228.00
M12x0.5 1,020.00
M12x0.75 783.00
M12x1.0 167.00 501.00 592.00 592.00 380.00
M12x1.25 142.00 426.00 375.00 490.00 260.00 490.00 320.00
M12x1.5 142.00 426.00 375.00 260.00 490.00 260.00 490.00 480.00 320.00
M12x1.75 142.00 426.00 375.00 490.00 260.00 490.00 480.00 320.00
M13x1.0 741.00
M13x1.25 741.00
M13x1.5 741.00
M13x1.75 810.00
M14x1.0 204.00 612.00 370.00 837.00 837.00

171



FRRARIN

N :
43 7lIHFM SKS(%) SKS(#f) SKH()

BRREARIN

SFT
SKS(3%) SKH(3%)

FrimAhIA
P.O.T.

SKS(32)

SKH(3z)

BRIEHRIN
N.T SK_S

M14x1.25
M14x1.5
M14x1.75
M14x2.0
M15x1.0
M15x1.5
M15x2.0
M16x1.0
M16x1.5
M16x2.0
M17x1.0
M17x1.5
M17x2.0
M18x1.0
M18x1.5
M18x2.0
M18x2.5
M19x1.0
M19x1.5
M19x2.5
M20x0.5
M20x1.0
M20x1.5
M20x2.0
M20x2.5
M22x1.0
M22x1.5
M22x2.0
M22x2.5
M24x1.0
M24x1.5
M24x2.0
M24x3.0
M25x1.0
M25x1.5
M25x2.0

204.00
184.00

184.00
320.00
320.00

311.00
260.00
260.00
366.00

413.00
359.00

359.00
453.00

504.00
430.00
441.00
430.00

616.000
526.00
539.00
526.00
785.00
683.00
701.00
683.00

1,079.00
768.00
768.00

612.00
552.00
612.00
552.00
960.00
960.00
960.00
933.00
780.00
780.00

1,098.00

1,098.00

1,170.00

1,239.00

1,077.00

1,104.00

1,077.00

1,359.00

1,263.00

1,263.00

3,171.00

1,512.00

1,290.00

1,323.00

1,290.00

1,848.00

1,578.00

1,617.00

1,578.00

2,355.00

2,049.00

2,103.00

2,049.00

3,237.00

2,304.00

2,304.00

503.00

503.00

725.00
725.00

898.00

898.00

1,075.00

1,075.00

1,315.00

1,315.00

1,708.00

1,708.00

2,170.00

819.00
350.00 654.00

350.00 654.00

1,140.00
500.00 867.00
867.00

1,846.00

1,188.00
620.00 1,375.00
570.00 1,188.00

2,106.00
1,601.00

858.00 1,924.00
1,601.00

2,696.00

2,062.00

1,350.00 2,490.00
2,062.00

1,470.00 2,720.00

3,185.00
2,720.00

172

320.00

320.00

470.00

780.00
640.00

640.00

1,060.00
850.00
850.00

1,796.00
1,158.00
1,307.00
1,158.00

2,066.00
1,560.00
1,864.00
1,560.00
2,646.00
2,062.00
2,420.00
2,062.00

2,720.00
3,085.00
2,720.00

680.00

680.00

880.00
920.00

450.00
450.00

528.00

570.00
570.00

730.00
770.00
730.00



T o h b e b B <
HERH RN R
’g’g'l'.ilﬂ'.]{l

ARVL B8 |

= ; -

TR LT,

P e M - _ )
Fﬁmmdﬁﬁgg e

FARIAHIN BRIEHIN Bl

SKS() SKS(#8) SKH(32) SKH(2) SKH(2)
M26x1 1,763.00 3,525.00
M26x1.5 1,253.00 2,505.00 2,200.00 2,320.00 3,320.00
M26x2 1,253.00 2,505.00
M26x3 1,253.00 2,505.00
M27x1 1,707.00 3,414.00
M27x1.5 1,707.00 3,414.00 2,850.00 4,100.00 4,100.00
M27x2 1,707.00 3,414.00
M27x3 1,707.00 3,414.00 2,850.00 4,100.00 4,100.00
M28x1 1,485.00 2,970.00
M28x1.5 1,385.00 2,769.00
M28x2 1,385.00 2,769.00
M30x1 2,061.00 4,122.00
M30x1.5 1,473.00 2,946.00 3,120.00 4,742.00 4,742.00
M30x2 1,473.00 2,946.00 3,420.00 5,692.00 5,485.00
M30x3 1,473.00 2,946.00 3,420.00
M30x3.5 1,473.00 2,946.00 3,120.00 4,742.00 4,742.00
M32x1 3,825.00 7,650.00
M32x1.5 3,330.00 6,660.00 5,190.00 6,040.00 6,040.00
M32x2 3,330.00 6,660.00 5,190.00
M32x3 3,825.00 7,650.00 5,190.00 6,040.00 6,040.00
M33x1.5 3,555.00 7,110.00 5,230.00 6,430.00 6,430.00
M33x2 3,825.00 7,650.00
M33x3 3,555.00 7,110.00 5,750.00
M33x3.5 3,555.00 7,110.00 5,230.00 5,850.00 5,850.00
M34x1 4,275.00 8,550.00
M34x1.5 3,720.00 7,440.00 5,340.00
M34x2 4,095.00 8,190.00 5,870.00
M34x3 4,095.00 8,190.00 5,870.00
M35x1.5 3,780.00 7,560.00 5,530.00
M35x2 4,155.00 8,310.00 6,080.00
M35x3 4,155.00 8,310.00 6,080.00

173



FRRARIN BRREATIN FrimAhIA BRISRRIN

s H.T S.FT P.O.T. N.T SKS
REIFW sksizn sk skH | sks sk | sks sk | B

W1/16-60 203.00 609.00
Wa3/32-48 158.00 474.00

W1/8-40 47.00 141.00 148.00 90.00 203.00 90.00 196.00 170.00 130.00
W5/32-32 47.00 141.00 148.00 203.00 90.00 196.00 170.00 130.00
W3/16-24 51.00 153.00 156.00 196.00 90.00 192.00 155.00 140.00
W7/32-24 116.00 348.00

W1/4-20 57.00 171.00 178.00 249.00 210.00 180.00 160.00
W5/16-18 67.00 201.00 193.00 328.00 318.00 260.00 190.00
Wa3/8-16 84.00 252.00 234.00 395.00 170.00 385.00 300.00 230.00
W7/16-14 125.00 375.00 218.00 479.00 218.00 469.00 382.00 310.00
W1/2-12 145.00 435.00 411.00 658.00 284.00 648.00 493.00 410.00
W9/16-12 681.00 437.00 1,020.00 437.00 1,000.00

W5/8-11 227.00 681.00 671.00 1,020.00 437.00 1,000.00 860.00 630.00
W11/16-11 1,035.00

Wa3/4-10 314.00 942.00 968.00 640.00 1,544.00 640.00 1,524.00 1,150.00 950.00
W13/16-10 1,353.00

W7/8-9 440.00 1,320.00 1,320.00 2,390.00 2,350.00

W15/16-9 2,493.00

Wi1-8 600.00 1,800.00 1,760.00 3,426.00 1,470.00 3,386.00

W11/8-7 1,400.00 2,799.00 4,693.00 4,640.00

W11/4-7 1,742.00 3,483.00 5,773.00 5,710.00

W13/8-6 2,139.00 4,278.00 7,791.00 7,700.00

W11/2-6 2,721.00 5,442.00 9,357.00 9,250.00

W15/8-5 4,125.00 8,250.00

W13/4-5 4,950.00 9,900.00 14,080.00

W17/8-41/2 6,105.00 12,210.00 21,720.00

W2-41/2 7,755.0015,510.00

174



2] SE R

1/16-28
1/8-28
1/4-19
3/8-19
1/2-14
5/8-14
3/4-14

SKS(32)
150.00
134.00
196.00
320.00
463.00
650.00
671.00

1,097.00

1,764.00

2,498.00

5,465.00

SKH(3z)

341.00
486.00
780.00
1,207.00

1,713.00
2,662.00
3,900.00
5,390.00
10,200.00

SKS(32)
170.00
155.00
231.00
370.00
546.00
760.00
778.00

1,247.00

1,812.00

2,792.00

6,432.00

2] SE R

=

1/16-27

1/8-27
1/4-18
3/8-18
1/2-14
3/4-14
1-111/2
11/4-111/2
11/2-111/2
2-111/2

1,
1,
2,
6,

NPSEH
SKS(3Z) SKH(3%)

154.00
154.00
233.00
377.00
546.00
742.00
217.00
951.00
790.00
467.00

402.00
563.00
903.00
1,302.00
1,800.00
2,840.00
4,.100.00
5,660.00
10,980.00

PT#IZF
SKH(37) 3853SKH(32)

390.00
557.00
910.00
1,390.00
2,014.00
2,014.00
3,058.00
4,420.00
6,240.00
11,568.00

BEHFSKH(32)

390.00 768.00
557.00 1,103.00
910.00 1,729.00
1,390.00 2,702.00
2,214.00 4,533.00
3,358.00 8,484.00

NPT &12F

SKS(32)
181.00

181.00
270.00
435.00
644.00
861.00
1,405.00
2,137.00
3,292.00
7,904.00

175

SKH(32)

463.00
662.00
1,102.00
1,644.00
2,120.00
3,210.00
4,640.00
6,545.00
13,250.00

1

SKS(32) SKH(32)

147.00
220.00
344.00
497.00
700.00
703.00
1,170.00

1,794.00

377.00
527.00
845.00
1,326.00

1,888.00
2,980.00

NPTFFISF
SKS(32)

200.00
297.00
479.00
709.00
947.00

,546.00

SKH(32)

510.00
729.00
1,213.00
1,809.00
2,515.00
3,749.00



SR
H.T.D

NO.0-80
NO.1-72
NO.2-64
NO.3-56
NO.4-48
NO.5-44
NO.6-40
NO.8-36
NO.10-32
NO.12-28
1/8-44
5/32-36
3/16-32
7/32-32
1/4-28
5/16-24
3/8-18
3/8-24
7/16-20
1/2-20
9/16-18
9/16-20
5/8-18
5/8-20
3/4-16
7/8-14
1-12
1-14
11/8-12
11/4-12
11/2-12
17/8-12
2-12

UNF G
Ll
UNF

UNF
UNF
UNF
UNF
UNF
UNF
UNF
UNF
UNF
UNF
UNF
UNF
UNF
UNF
UNF
NS

UNF
UNF
UNF
UNF
UNS
UNF
UNS
UNF
UNF
UNF
UNS
UNF
UNF
UNF
UNF
UNF

IRARIN T 28

FHRFRIN

SKS(32)

88.00

50
50.00
52.00
60.00
65.00
65.00
60.00

110.00
71.00
83.00

106.00
146.00
167.00

240.00
359.00
478.00
610.00
1,548.00
1,964.00

3,074.00

8,925.00

SKS(#8)
363.00
306.00
285.00
264.00
249.00
171.00
150.00
150.00
156.00
180.00
195.00
195.00
180.00
330.00
213.00
249.00
318.00
318.00
438.00
501.00
684.00
861.00
720.00
912.00
1,077.00
1,434.00
1,830.00
2,070.00
3,096.00
3,927.00
6,147.00

14,040.00

17,850.00

176

BRI
SFT

230.00

340.00

520.00

795.00

225.00
216.00
214.00
214.00
220.00
225.00

225.00

230.00
303.00

370.00
475.00
570.00
840.00

886.00
1,375.00
2,100.00

3,010.00

4,498.00
5,286.00

I I

PO T.
SKH(3)

216.00
208.00
205.00
205.00
210.00
216.00

216.00

218.00
279.00

337.00
465.00
557.00
800.00

872.00
1,312.00
2,034.00

2,920.00

4,498.00
5,286.00



A IR IN 28

FHARIN IRIEAAIN  SElmfRIN Q?'IF'?"E'IQ
N H.T SFET PO.T.
EHHEF SKS(%)  SKS(#) SKH(3%) SKH(3%) SKS i)
NO.1-64 UNC 10200  306.00
NO.256 UNC 9200  276.00
NO.3-48 UNC 86.00  258.00
NO.4-40 UNC 8300  249.00 225,00 216.00
NO.5-40 UNC 171.00 216.00 208.00
NO.6-32 UNC 50.00  150.00 214.00 205.00
NO.8:32 UNC 50.00  150.00 214.00 205.00
NO.10-24 UNC 5200  156.00 220.00 210.00
NO.12-24 UNC 60.00  180.00 225,00 216.00
NO.1/8-40 UNC 195.0
3/16-24  UNC 180.00
1/4-20  UNC 71.00  213.00 230.00 218.00 120.00
5/16-18  UNC 8300  249.00 303.00 279.00 150.00
3/8-16  UNC 106.00  318.00 370.00 337.00 180.00
7M6-14  UNC 146.00  438.00 475.00 465.00
1/2-13  UNC 167.00  501.00 570.00 557.00
9/16-12  UNC 684.00 840.00 810.00
5/8-11  UNC 24000  720.00 886.00 872.00
3/410  UNC 350.00  1,077.00 1,357.00 1,312.00
7/89  UNC 47800  1,434.00 2,100 2,034.00
1-8 UNC 62000  1,830.00 3,010.00 2,920.00
11/87  UNC 3,096.00
1147 UNC 3,927.00
13/86  UNC 5,055.00
11/26  UNC 6,147.00
18/4-5  UNC 11,400.00
2.41/2  NUC 17,850.00

177



H.T.D

R
M2x0.4
M2.3x0.4
M2.5x0.45
M2.6x0.45
M3x0.35
M3x0.5
M3x0.6
M3.5x0.35
M3.5x0.6
M4x0.5
M4x0.7
M4x0.75
M4.5x0.5
M4.5x0.75
M5x0.5
M5x0.8
M5x0.9
M5.5x0.5
M5.5x0.9
M6x0.5
M6x0.75
M6x1.0
M7x0.5
M7x0.75
M7x1.0
M8x0.5
M8x0.75
M8x1.0
M8x1.25
M9x0.5
M9x0.75
M9x1.0
M9x1.25
M10x0.5
M10x0.75
M10x1.0
M10x1.25
M10x1.5

201E(5)

330.00

330.00

330.00

400.00
330.00

330.00
330.00
400.00
330.00
400.00

330.00

258 (R

400.00
400.00
400.00
400.00
460.00
370.00
370.00
460.00
370.00
460.00
370.00
370.00
460.00
370.00
460.00
370.00
370.00
460.00
370.00
460.00
460.00
370.00
460.00
460.00
370.00
460.00
460.00
370.00
370.00
460.00
460.00
460.00
370.00
460.00
460.00
460.00
370.00
370.00

I HH =T IR

//;,@ SN
r .
0.0

£

381E(R)

550.00

550.00
550.00

S0#E(R)

720.00

720.00
720.00
950.00
950.00
850.00
720.00
950.00
950.00
850.00
720.00
720.00

178

SKS

g
M11x0.5
M11x0.75
M11x1.0
M11x1.25
M11x1.5
M12x0.5
M12x0.75
M12x1.0
M12x1.25
M12x1.5
M12x1.75
M13x1.0
M13x1.25
M13x1.5
M13x1.75
M14x1.0
M14x1.25
M14x1.5
M14x2.0
M15x1.0
M15x1.5
M15x2.0
M16x1.0
M16x1.5
M16x2.0
M17x1.0
M17x1.5
M17x2.0
M18x1.0
M18x1.5
M18x2.0
M18x2.5
M19x1.0
M20x0.5
M20x1.0
M20x1.5
M20x2.0
M20x2.5

251%E(R)

460.00
460.00
460.00
370.00
370.00
460.00
460.00
460.00
370.00
370.00
370.00

381E(R)

550.00

550.00

550.00

550.00
550.00

S0E(R)

950.00
950.00
850.00
720.00
720.00
950.00
950.00
850.00
720.00
720.00
720.00
850.00
720.00
720.00
720.00
850.00
720.00
720.00
720.00
850.00
720.00
720.00
850.00
720.00
720.00
850.00
720.00
720.00
850.00
720.00
720.00
720.00
950.00
950.00
950.00
720.00
720.00
720.00



ERMFIRMTIR
4

H.T.D
#RAE

M22x1.0 950.00 M26x2.0
M22x1.5 720.00 M27x1.0
M22x2.0 720.00 M27x1.5
M22x2.5 720.00 M27x2.0
M24x1.0 950.00 M27x3.0
M24x1.5 720.00 M28x1.0
M24x2.0 720.00 M28x1.5
M24x3.0 720.00 M28x2.0
M25x1.0 950.00 M30x1.0
M25x1.5 850.00 M30x1.5
M25x2.0 850.00 M30x2.0
M26x1.0 950.00 M30x3.0
M26x1.5 850.00 M30x3.5

UNC #7%% SKS 201E(5) SKS25fE(5) SKS 50F(S)
NO4-40UNC 370.00

NO5-40UNC 370.00

NO6-32UNC 370.00

NO8-32UNC 330.00 370.00

NO10-24UNC 370.00

NO12-24UNC 370.00
NO1/4-20UNC 370.00 760.00
NO5/16-18UNC 370.00 760.00

L e

50iE(X2
850.00
950.00
850.00
850.00
850.00
950.00
850.00
850.00
1,050.00
850.00
1,050.00
1,050.00
850.00

UNC#5t&
3/8-16UNC
7/16-14UNC
1/2-13UNC
9/16-12UNC
5/8-11UNC
3/4-10UNC
7/8-9UNC
1-8UNC

UNF 4% SKS 258F(R)  SKS 50{&(R) UNF3848
NO3-56UNF 480.00 7/16-20UNF
NO4-48UNF 370.00 1/2-20UNF
NO5-44UNF 370.00 9/16-18UNF
NOB-40UNF 370.00 9/16-20UNF
NO8-36UNF 370.00 5/8-18UNF
NO10-32UNF 370.00 5/8-20UNF
NO12-28UNF 370.00 3/4-16UNF
NO1/8-44UNF 370.00 7/8-14UNF
NO5/32-36UNF 370.00 1-12UNF
NO3/16-32UNF 370.00 1-14UNF
NO7/32-32UNF 480.00 11/8-12UNS
NO1/4-28UNF 370.00 760.00 1 1/8-12UNF
NO5/16-24UNF 370.00 760.00 1 1/2-12UNF
NO3/8-24UNF 370.00 760.00

179

HHAF IR F IR

637E (R
2,350.00

2,350.00
2,920.00
2,350.00
2,350.00
2,920.00
2,350.00
2,420.00

2,350.00

SKS 25 R) SKS50{E(R)

370.00

SKS 508 R

760.00
760.00
760.00
950.00
760.00
950.00
760.00
760.00
760.00
950.00

760.00
760.00
760.00
760.00
760.00
760.00
760.00
760.00

SKS631E(R)

2,760.00
2,760.00
2,760.00






/74 PNEUMATIC TOOLS-FROFESSIONAL
DESIGN & PRODUCTION

'rw o e - A o 7—.!’1'

==

’ i W
Al A1102  A1103 AIO7—E AIW-L

7 4 f:%x.\ Q&&

AI07-5  A107-

A107.3 A107-4

% »
el 370 VR
’ / .
A1077  AI078  ATO7-9

A107-10  A107-11

==
B101-4 —
;',‘,.-_-
» 81013 -
o~ -
B101:1 i 4 p—V. <
- 8101-2
" BI101-6 T ——
- — il
» B105 TR =
1. -
; - - - \
FoB1051 e P

Sl
e _—
ﬁ\ 8106 "o |
Blo22 £ | R
| "‘;):‘ " os0sl "
=
-'\.»\; uosv‘)h’\\l

Tﬂ' q 5107~L£ / _\A



N RERcRBERAT
H EEBSZERAT
40148 R REZ{EH312255%
40148 NO. 225, CHIEN-TE ST, E. DIST., TAICHUNG, TAIWAN.
TEL:886-4-22805685 FAX:886-4-22811973
E-mail:h805@ms14.hinet.net  http://www.king-diamond.com.tw




	益菖1-24
	益菖P1-P61
	益菖P62-P177


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


